DON-JO

Templates

Master Index

DON-JO "



v - "]
ZONE | REV | FINISHES: 605) 613) 619) 620) 626 DATE APPROVED !
/00 —= == = ]1.585 = :
! © | |

3.875  2.285 3.430
L % X
i © ! | :
= == 3/3 =ll=— (g5
DON-JO MFG. INC. |
mmmmm W v [T #I B

SCALE | RELEASE DATE

| WEIGHT | SHEET




|WE NO

REVISIONS

ZONE

REV | FINISHES:

ﬂJ 16.625

605,613,619,620,626

DATE

APPROVED

170 = =
[.290 —= =" = = 1,375
; i I i
z‘x © | .865
375 B
4,480
B 225
200y \ 7SI FOR
i gj%/ #8 SCREW
¢ 1

DON-JO MFG. INC.

PART NO.

EEEEE

/10,04

H

#106

|E.EASE DATE |WEIEHT

|




¢ = e

—

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

B605,609,613,618,620,625

120 3

| |

0 2.440

DON-IO MFG, INC. | _ ]
s Al 21004 |7 #125
APPROVED CALE @ |w:n=|1' |n-:I:T




v - T
1 FIEB%?ESU:Q,BB,619,620,625,626 - —
=— 3,375 —= = 2.040 =
i 555 |
f I
N '
813 I |
L .
i I
Q) 625 |
® 260 J
C'SINK FIR _ .
#8 SCREW L4es |
DON-JO MFG. INC. | _ |
mmmmm Ao [T -
- S N s l




—

v = T
ZONE | REV FINISHEE[:]S’611619}620’626 DATE APPROVED
<— 3 J/0 ——=
T s ‘17 <— /040 *T
. 55 m
' A
L 1 |
/@ Q) %
0 280 j
o o LA =
18 SCREN
DON-JO MFG. INC. _ _
= AT o | S "




v Bl .
ST 608,625,626
i
|
zp - = = g8
o) —= =

DON-JO MFG. INC.

EEEEE

DATE

305/

o &

| RELEASE DATE

1




v ~ T
REVISIONS |
ZONE | REV H 605} 606} 625} 626 DATE APPROVED
4150 o = 2,200 = |
! —) (© I :
! = i © !
2,500 <2.000 |o )) 930 2.000 2.500 &
| . @. 160 47
. @.170 oo 500
! Y C'SINK FOR ig%EEE@”RxT@ : ! :
46 SCREW el
890 = ~- - 875

DON-JO MFG. INC.

DESIGNER

H

" 305/04

APPROVED

PART

C 60

—

| RELEASE DATE

|WEIEHT |SI'ET




v = T
REVISIONS |
ZONE | REV | FINISHES: 605} 606} 625} 626 DATE APPROVED
- 503 —= |
! i
1,283 == A — .
2565 {0 D)@, 1,735
! D . 175 i <
C'SINK FOR
@ . 250 #8 SCREW 267
C' SINK FOR :
#8 SCREW
— 1,000
i |
515 T 0F :
DON-JOMFG.INC. | |
EEEEE ATy [T HM "
~ T I |




—

v il T
ZONE | REV | FINISHES: 605} 626 DATE APPROVED
-———3.375 — 2080
Yj] 055 THICK '1¢88 W T T
© ©A
1.375 675 C | V80 ‘q QHI‘@‘
I © Q } L
¢ \—@.159 200
0 g
CHAIN LENGTH 8 1/4"

B g -
1.375 51&36[? 1,155 j2.080
— L e

304 4_
388 — =
DON-JOMFG, INC., | _ _
e ATy [ AT
APPROVED YALE w WETGHT SEET




|WE NO

REVISIONS

REV

FINISHES:

605

DATE

APPROVED

® 280
#8-32 TAP 2x

~—— 3,000 —=

DON-JO MFG. INC.

EEEEE

" 300

H

PART NO.

#1611

i

| RELEASE DATE

|SI'ET




|me SH REV

—

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

003,013,619,620,625

3,000

T

DON-JO MI'GL INC.,

1>

Saome T B0 B

|VEII:HT | SHER




v ~ T
ZONE | REV FINISHESB:[:]S}613}619}620}625 DATE APPROVED
» . 160 = = 780
C/SINK FOR
45 SCREW
! ("
T dL N
- 2,705 =
DON-IO MFG. INC. | _ _
- Alvem [ B0

I




REVISIONS
ZONE | REV FINISHES: 630 GALUGE:
‘T 1,240 = o
i
| | z{x
T 1,720
}
= 2 011 =
DON-JO MFG. INC.
=05 AT 517713 #304

WWWWWW

ﬁ




REVISIONS

ZONE | REV | FINISHES: GALGE:

605,613,619 & B0

596 —
710
\ X o \
2. 580 [.936 2.580 1.
/
/ /
@190 @ 170
(' SINK FIOR C'SINK FOR
#5 SCREY #b SCREW

DON-JO MFG. INC.

" DR, A DDDDD 5/3/10 | #350

ﬁ




|WE NO

H |REV

REVISIONS

ZONE | REV

FINISHES:

GALIGE:

b05, 606,670 [Bqa.

050

7. 185

EEEEE

L' SINK FOR
#o SCREW
5304 | AP-34 K

H

| RELEASE DATE

1




i - T

ZONE | REV | FINISHES: 505 GAUGE3:/1[5” THICK
)
Z@ A
4 000 3. 100
—= ~— .440
S |

V

C
1.000%]

1

DON-JO MFG. INC.

DA

“suma [0 BN )

EEEEE

£ §

|RE.EASE TATE |WEIEHT | HEE




. - -

ZONE | REV | FINISHES: Z I NE !
WITH VINYL CHAIN COVER |
CHAIN LENGTH: 21.75" .
= 1.440 = |
i | 4, 125 ——= :

@ @j L )
©] i _\W
4§ 190 jp .
E%I'NK FIR J - 250 170 |
#6 SCREW

DON-JOMFG.INC. | e
EEEEE Al 5404 | CC-100 R
~ SR ik |




v - T
ZONE | REV | FINISHES: GALUGE:
BP & (P
- 1.330 —=
187 355
4& T
#12 HEAD /
PACKED 2 PER BAG
DON-IO MFG.INC. | ]
“““““ A | 5/4/04 ~ CHP-100
APPROVED SCALE RELEASE DATE | IIIIII |SHEr




v - -
505,600,612 & 630 | 22ga. 032
~—— 3,500 —=
D1 .500
DON-JOMFG.INC.|___ )
il AT5/12/04 | DSP-135
APPROVED SCALE @ |w:n=rr |n-:|:1'




v - -
ZONE | REV | FINISHES: 605 & 626 GAUGE:
o4 jy
1 U=
DON-JO MFG. INC. _ )

EEEEE

E:[>'f|
un
AN
N
N
O
=

“ DV-180

|SI'EI'




|WE NO

|REV

REVISIONS

ZONE | REV

470

. o00

FINISHES:

b0o & b6

GALIGE:

000

DON-JO MFG. INC.

EEEEE

H > &

1




¢ DWG NO |su IITEV
REVISIONS
ZONE | REV | FINISHES: GALIGE:
b0o, Bl3, b2 020
i
D712
!
@ 870
@.548
DON-JO MFG. INC.
= o AT 12910 DVC "
SCALE RELEASE OATE WEIGHT SHEET




! - =
REVISIONS |
ZONE | REV | FINISHES: GALIGE: |
605 & 630 22qa. 032
250 = = =— 4,000 —= \17
J 2,290 t
500 :
= 2. 375 j
g.000
?2.125 ! <«
4,500
o o .
I ¥ |
DON-JO MFG. INC. '
EEEEE A | 5/17/04 EM-2 ’7

|E.EASE DATE

|WEIEHT

|SI'ET




! - =
REVISIONS |
ZONE | REV | FINISHES: GALIGE: |
605 & 630 22qa. .032
200 = = 4,188 i
I I - :
- 2 500 =
500 |
—— 2. 750 49‘ |
g.000
?2.125 . <
4,300
o o .
i \ J i |
DON-JO MFG. INC. '
e A | 5/17/04 EM-4 ’7
. S i l




v = il

—

REVISIONS

ZONE | REV [ FINISHES:

B05,608,613,619,620,622,625, 626, 609X625

—1.3/5 = = 2500 |=
% = = 313 f
2. 230 /@L}J 2. /30
$ 1,375
— —
B
030 == = 1.875 .
Possage

DON-JO MFG. INC.

PART N0

s AT B/3/04

RELEASE DATE

~ PDL-100




—

v - T
REVISIONS
ZONE | REV | FINISHES:
605,609,613,618,620,622,625,626,605x625
= L.370 = = 2.500 =
| | |
|
2.250 n ® ©| 2.750
— w:
050 THICK 030 == = 1.875 L
1,000 = = 313 Privac
i Y
RE ¢
2,250 | [] ,880'550
$ i
}
B0 - 30 DON-JO MFG. INC. | _
. AT 63,04 PDL-101 "
APPROVED SCALE RELEASE DATE WEIGHT FT




v - T
ZONE | REV | FINISHES: BP & EP GALGE:
= 1.357 =
162 = = 350
4& 2 L e
# 10 HEAD —/
PACKED 2 PER BAG
DON-JO MFG. INC. _ _
***** Al B/3/04 RHP-100
APPROVED SCALE @ VVVVVV |SHEEI'




! = -
REVISIONS |
ZONE | REV | FINISHES: GALIGE: |
605,609,612,630 22qa. 032
3.500 :
I
4 o o\ :
1.7950 =
4,500
o o |
i \_ _J i
DON-JO MEG. INC. | '
***** ATB304 [T7ORPAI3509 T
- S v G |




. - -
REVISIONS |
ZONE | REV | FINISHES: GALUGE : |

605,608,612,630 22gq0. 032
3,500 |

)
f ° o\ |
1,750 |~
P | — @.500 :
.984
9,000 i : . 125 A <
I GVC{)
} ’ :
\& 4,500
@.313 :
(o) (o) :
i \_ J i

DON-JOMFG.INC. | |

***** ATB300 [T RP-135092 T
~ S i |




|WE NO

REVISIONS

ZONE

REV

FINISHES:

605,608,612,630 2290,

.000

3.500

@2.125

1.750

7.500

EEEEE

DATI

PART

" 8/3/04

B A

RP-13515

-

|E.EASE DATE

|WEIE-IT |SI'EET




|WE NO

REVISIONS

ZONE | REV | FINISHES:

605,608,612,630 2290,

.000

3.500

{ar

1.375

W

7.500

|_— ¢8.500

EEEEE

DATI

" 8/3/04

H A

PART NO.

-

|E.EASE DATE

RP-13515-2

|WE |SI'EET




v - -
REVISIONS
ZONE | REV | FINISHES: GALGE:
505,609,612,630 | 22ga. 032
~—— 3,500 ——=
= 1,750 =~
)
4 o o\
2.250
(o) (o)
i \_ J j
DON-JO MFG. INC. | _
***** ATBa0a [T RP-13545 T
- - I




. - -
REVISIONS |
ZONE | REV | FINISHES: GALUGE : |
605,608,612,630 22g0. 032
<~ 3,500 —=

=~ 1,750 |~ |
) |
_— &.500 |
<

4,500 i
1,375 .
2.250 .

)

1@.313

DON-JO MFG. INC.

EEEEE

PART NO.

"'6/3/04 RP-13545-2

=7

i

|E.EASE DATE |WEIEHT |SI'ET




v

e

[T

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED
/0 o\
<~— 5.000 ——=

14.000
3.500
o o
/ . <
DON-JO MFG. INC,
SIZE OATE! FART NO.
e A T5/18/10 RP-142 [
APPROVED SCALE RELEASE DATE SHEET

= F




v = "

REVISIONS
ZONE | REV | FINISHES: GALGE:
(O O\
5.000 ——=
= 2,500 —@ 1.125
@, 250 —\
o—j
@1.500 —\Q | .844
. |
I
‘ 14.000
3.563
®2.125
4,250
[ o
\ Z
DON-JOMFG. INC,
=== A | 5718710 ~ RPI5




v = i

REVISIONS
ZONE | REV | FINISHES: GALGE:
- )
5,000
- 2500 ~
= = .875
260 /—¢.750
] AT
i I
430 T 14.000
1,006
| ! K Lo 3.900
1,397 .30 J, l
— @3.125 ‘
4,250
\° °) J
DON-JO MFG, INC,
== A| 5718710 - RPI8




OWG NO

SH

REVISIONS
ZONE | REV FINISHES GAUGE
005, B30, DURL CLAT 22q0. .03
5.000
g Y
- 2 500 —=
- 1,140
L .65
o ¢
1,250
] o O
C\
@1005é
> @2.250 16,380
o
\_/ 2?}00
B.625 — ‘
° o
2406t 6,500
\° °)
DON-JO MEFG. INC.
A B/21713 1 RP-26AD

0.R.

SCALE

RELEASE DATE

WEIGHT

SHEET

?




REVISIONS
ZONE | REV | FINISHES: GALUGE:
605, 630 , DURO COAT 22ga. 032
5,000
fo o\ )
1,359
CHE N 2.281 |= 4
1.188 L— .500
S &
J
594
141
5.281 6.250
@1.000 14.000
3.859
\° °)
DON-JO MFG. INC 2011 PER SCHLAGE REV. 6/11-A
Y WNEZERE RP-26C0O ’a
SCALE |E.EA.SEDATE WEIGHT SHEET




REVISIONS

ZONE | REV | FINISHES: GALGE:

(0 o\
5,000
1.625
@.500«\213
= 2,500 |~

@1.875 —/C/ 5406 14.000
n
2.812 éﬁé

DON-JOMFG.INC. |

e A 2/17/12 RP 27

WEIGHT SHEET

APPROVED SCALE RELEASE OATE




|su Iﬁv

2.438

2,125

REVISIONS
ZONE | REV | FINISHES: GALIGE :
605, 630 22q0.  .032
f}a c;\
4,500
Q.SOO\% 2.250£
2.250 =
Qé.SOO-iél)
5.125
14,000
QX 4,250
@.500
C °)
DON-JOMFG.INC. | _
s Al B8/8/07 - RP-E2000-14
APPROVED SCALE IME SHEET




REVISIONS |
ZONE | REV | FINISHES: GALIGE: |
605,630
] B =250 = = 3,000 —= :
] i
(o o) i ; o o)

|
1375 |

1& o

9.000

2,250 @ 8.000 <

I |3
4,500 4,000 |

\_ V. i
DON-JOMFG.INC. | .
— A " 6/3/04 - RPK-109 ’7
APPROVED SCALE |E.EASE DATE WEIGHT SHEET




DON-JO MFG. INC.

v - T
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
605,609,612,630 2290- 032
- #3500 — =
S <

EEEEE

PART NO.

"6/3,/04

| RELEASE DATE | WEII

S35 [




|WE NO

H |REV

/00

REVISIONS

ZONE

REV

040

1. 045

FINISHES:

005,620

GALIGE:

1. 030

DON-JO MFG. INC.

EEEEE

H > &

"6/4,04

~" ULDV-180

| RELEASE DATE

| WEIGHT | SHEET

1




T

REVISIONS

ZONE | REV | FINISHES: GALIGE:

005,620

470

00 | ] o

= | 000 =

DON-JO MFG. INC.

***** Al"Bs4s04 |7 ULDV-90

APPROVED SCALE | RELEASE DA | HHHHHH |SI'EI'

T




|WE NO

REVISIONS

ZONE

REV

FINISHES:

/INC PLATED

GALIGE :

DON-JO MFG. INC.

EEEEE

H

i

64,04 | WB-112

| RELEASE DATE | WEIGH

I




v - T
505,626, CLEAR|
| 000 —= .

1. 000

DON-JO MFG. INC.

EEEEE

H > &

“B/4s04 | ~WP-34

| RELEASE DATE | WEIGH |SI'EI'




e

!
i | 1,380
I
S A s
500 —=
, 165
¥ ’e.t i
1,380 F_Of% ‘
—

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
SL& Ol
S T R ' s
1.462 1.462
1 ||
16.000
— B =~ o3
125 ——
5,250 ﬂ 4,214
430 L1 — =
DON-JO MEG. INC.
= Nz 41550 (




DWG NO

REVISIONS

ZONE | REV | FINISHES: SL & |:]|_| DATE APPROVED
|
I B el S B s !
1,462 1,462
}7 - h a :
1,500
512 7 ™ |
I | .
| 1.380
) 2L
o L g '
S0 == ” 165 16.000 €«
i — i - .938 - !
1,380 r '
.085
; L |
|
-l 165
5,250
|
|
|
|
430 1,105 — -

DON-JO MFG. INC.

DESIGNER

SIZE

YA

APPROVED

SCALE

PART NO.

#1531

|E.EASE DATE

WEIGHT SHEET




v ~ -
505,612,613, 675, 628
= 4,750 = :
d, j 0P OF DOIR
. I
980 = ﬁ l\ﬂ_}r} 750 !
| ) | -
! ! I .
120 !
~ 12,000 =
<
1250 250 —= = |
i i |
© ©) 4 !
~ 6.750 = |
FIR ANSI A115.4-1981 DON-JOMFG.INC. | e
***** N #1553 R
~ = I I T .




v ~ ]
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
605,612,613,625,626
—1.000
200 -~ 250 |
{ R
‘ —1O O| 750 |
2,500 2.500 _ Q‘EQ |
Tl ° # o3 EQSI'NZ?%DR
1,202 & é LN d= 5 i i D #8  SCREW |
b o | 725 405
} i !
120 <
313 —.043 =
.2‘1750 250 —— = | :
i o) ‘”
© © 750 563 —>O<_ 2,250 .
! | j
B } B 240 ) |
C'SINK FOR
#B8 SCREW
DON-JOMFG.INC.| '
EEEEE N 41557 i
- - i e :




DWG NO

15.

000

730 —=

100 —=

6.750

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
605,613,620
91.250’6
1,800
1,015 = = i 5*88 i 045 r
i o 20 B0 o L_'J
P s llL B
157
230 219 —= (IZZj' SII§K7IE]EIR
! #8 SCREW
1,090~
975~ 313 .
778 - - $.265<‘ ’6 i 250
C'SINK FOR &0_ ?
402 #8 SCREW i 7 -
700 2,250 L
:::":" 250 oll! .D.j
1.175
; w:*; 700 = = .550»1 L» 535
.050 THICK == 080
|
.875
Il
565
DON-JO MFG. INC.
e Al VM | #1560




1,000 = (=
i
1.250 1"
; I
400

75 ’|°

1.805

P
0 .240lcjglL

8.500

R .125

¢ DVG NO |SH ’EEI—
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
b05,613,62b

= 1.260

i i

‘ 1.063
@ .270

C'SINK FIR

1.790 160 45" scRew
PR el I
—_5

¢ .270
C’' SINK FIR
#8 SCREW

705

050 THICK

DON-JO MFG. INC. | _
A

DATI

1L B

" 30504

APPROVED SCALE

WEIGHT SHEET

|E.EASE DATE




—

v r"“’ P T
ZONE | REV | FINISHES: 605) 6]3) 626 DATE APPROVED
1,360 —= -
|
A O 4& 1&
2.725 - 120 o
2 875 o) 4 |
_— 0 . 195 - J]
[ @f/ C'SINK FOR
V #8 SCREW
[F =~ = g5
313
DON-JOMFG, INC. | _ ]
- Nl ST




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

005,613,020

— 1. 250

= 470

DON-JO MFG. INC.

EEEEE

H

VY #IS]ZT

| RELEASE DATE | WEIGHT | HEE




v ~ .
B8
= 2260 = l
T 8. 000 = i |
i OJo] | 9%
D | 032 4X |
43 813 = =
<
i
- 3,385 —=
910 |
W = m
w5 o o ¢ |
¢ =l = 438
| 235 = - |
DON-JOMFG.INC. | o
***** S 77 I R
~ S i |




OWG NO SH

REVISTIONS
ZONE | REV | FINTSHES: 626 CALGE
— 1,505 =
i
1.018
- 8000 - b
|.000 =
! 1.625 ﬁ
| ! I N
o () | 525 o 1.018 901
¢ = P 4x 4x
| . = 1,000
467
|75 / \ ! - = 1.000
e b | | i 500
¢ 1 W Z
B 7.000 - 235
750 = = o b 0
1359
| i o= e
_— 750 ] :
] - J —~ 500
730 P.160 @.212 [’%IN%?DR
#12 SCREW
DON-JO MFG. INC.
DESIGNER D‘R‘ A ‘ 11/22/10 | #1579

?




v = T
ZONE | REV | FINISHES: 626 DATE APPROVED
3.000 —
50 = T /U
i © [F
750 2.Up3
| © Jy
= 2.050 = = 2.8
i i i
790 J 790 O O | 750
} L }
DON-JO MFG. INC. |_ H
EEEEE AT e [T A5 I
e S N i

I




v - T
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
626,630
- 8.000 - :
750 =
© (O] ! i |
1.500 2.000 . 790 ,
® .375 o [@ ¥ ¢ |
{ _% 790 250
i - 250 455 |
L3751 ono ) — l;&i
I | 1 o om - ! N : <
375 925 .
~— 20— e 4 TR a0
o e N I
S 000 I:l - _51375 (.00 _I: 2,500 I:l 2.500 | 875 |
| o/ el [ T '
E?’ﬂﬁEOF; ® 200 e 3 ;75 .
#10 SCREW ALL STRIKES 18" THICK
DON-IOMFG.INC. | N
= N R

APPROVED

|E.EASE DATE

|WEIEHT |SI'E




v - "]
ZONE | REV FINIBSOHETBIB}619}620}625}626 DATE APPROVED
A8 —=— = .
W .
B fa\ |
4 950 o —]; [.440 .o
.b00 I
5 5 05—l
Looo= =~ e
® ® |
= 2. 060 = |
ﬁ? :
O/ N\O /80
! |
DON-JO MFG.INC. | _ |
mmmmm YT 51 e
- S i N .




¢ |um5 NO |SH ’REV—
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED

bl5,613,618,620,623,620

- 3.000 ~
s
] 510
R A 4&
- «
. — 2.060 =
E@J z‘x LT [5 1 i
s 10
2145 ) |1.270 1870 1,205 o] oo | 785
o7 | A g\.— }
1310/~
=940
B.205
I L DON-JOMFG.INC. | _ )
- 940 - Alag [ #61




|WE NO

REVISIONS

REV

FINISHES:

b05,613,619,620,625,676

DATE

APPROVED

= ]
j [ 610

I © A )

1 .550 =
= 2,060 =

o ! i
—@) i [eo] 785
© — .24&10 1300 = b
800 =

NN i

- i A




v ~ .
605,613,519, 520,625, 626
18000 -~
l A i |
1226 Y j |: 510 |
' !
i v :
—1.550 =
; — 2.060 <
2145 D) 1270 1870 1205 82 @) i lomo| 785 |
|©_ V |
J? il ) 47 I O — 24‘10 J L }
940 | gopl~ L. 310 |
- 940 ’
[ |
DON-JOMFG.INC. | |
EEEEE N 5 i
- S i i l




v - M
505,613,619, 620, 625,625
24000 - |
r ® 1,250
! (B B _ l
226 ﬂ O. C—7 .5¢1o
SR\ ' '
— & &
=1,550 =
<
f o I - = W W
2. 145 D 1.270  1.870 1.245 54?3__@D ! oNo| .78 I
. dy o ;
I ! : - % *J 1.310 L'* '
4}1 \67 940 210 : |
e‘ = 940 l
DON-JOMFG.INC. | |
***** AT T #I6 "
- S i l




v - "]
REVISIONS |
605,513,619,620,625,626
' 2. 060 <«
‘? o] i -
2. 145 623 210 i
| D 1.270° 1,870 1,245 — > i o0NG| 785 I
J? A é? | — A J a0 L )
—=- .940 = 00 :
— 940 |
—

DON-JO MFG. INC.

EEEEE

H >

309/

PART

L "

|E.EASE DATE

|WEIEHT |SI'E




| RELEASE DATE | WEIGHT

v ~ -
505,609,613, 619,620, 625
= o, 000 =
660 B 5005 -
a U 1050
— 415
A }
805
o ( [— ) 750
= 313
=830
375 g
DON-JOMFG.INC. | ]
~— @205 [ N I




v - T
ZONE | REV FINISSOHETEOQJ 613} 619} 620} 626 DATE APPROVED
= 0. 000 = |
= 5, 000 =] ! |
085 i | :
I 66U ——.}15 e
] J } J ?
375 .
AIEE 805 <
¢ o ( [ ) 750 :
= = 3|3
—.890 = |
| o) |
T 1,375 B '
975 - @ . 805
Jy A o ! DON-JOMFG.INC. | |
~—@.205 [ A '3/2|9;9E4M | #I?@R R




v - W
ZONE | REV FIg][:ngE}S:B 1 3 | 6 1 9) 620 | 626 DATE APPROVED
150
i _ oy T o |
4x Jgoo g | '
y ¢ O [ 813 |
()
=2, 150 - B |
85 . 3,365
i | 0 225~ <«
% ! ) ' SINK FOR \xgg
0231 or e %%_ #8 SCREW i :
47 Pocket in door needed |
15/16" Wide x 2 1/4" Long x 1 1/2" Deep |
= 1.68]
® 200 .
C'SINK FOR - STRIKE THICKNESS: | 164 |
#8 SCREW
DON-JOMFG.INC. | N
EEEEE AT8g0s |77 #1700 [
= SR i e |




v - i
| 150 ZONE | REV 63%&5"56313) 619) 620) 626 DATE APPROVED
W [ F————— Y :
] ]
.1¢15 1.?00 '3¢13 = 1. 670 = :
' =2.170 f z{x O |
S 0.775 |
{ I | |
S )
4x -l I 625 e
<0 B S ® 270 |
. C'SING FIR = . .
D225 #8 SCREW L1
C' SINK FOR () :
#8 SCREW \© i W W
0930 = = [F | :
057 180
MORTISE 930" X 22" X 1.6" ONIOMEG NG :
FOR MECHANISM ) ) — - -
PRI e AT 8/17/08 #1700 [ ||
- S i .




v - T
150 605,:613,619,620,626
Ly '
J 375 o _
1600 $ 2O |
!
d oo = ! ! O |
1,030 = = (— ! ;
i j 48755 500 D !
9] .83 <
(e ! :
250 B
@ 3,365 088 ” W |
B 225 P L0 750
C’ SINK FOR ) ! |
#8 SCREW |
o 4 305 11,250}
C'SINK FIOR |
MORTISE .930" X 2.2" X 1.6" #10 SCREW  STRIKE THICKNESS: .090 .
FOR MECHANISM
DON-JOMFG.INC. | |
***** Al 30004 HLTOA " |
~ S i A |




! - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
505,613,619,620, 626
245 = 1,660 = :
1385 412 :
! 082
b i f @ 0 | |
;b 2250 ‘
[ 282 58 | |
i | j |
. L&-.BBB ge)
E’%IﬁKlOFEIR =— 415 <
- 2.070 —= 43" SCREW
i 040

i

900 fe ﬂ::n (? ~—

¢ i
025 7 | gas

C' SINK FOR
#3 SCREW

DON-JO MFG. INC.

EEEEE A2s15004 |7 #1171 B
- - i A




|WE NO

REVISIONS

|SH REV
|

ZONE

REV

FINISHES: DATE

APPROVED

605,613,619,620,626

281 = = 1.000
R 280
W #
b 0 L1
0,125 1,300 qeq
| i
B 225 - — 8L
02997 STRIKE THICKNESS: .050
#8 SCREW . 563 —= = 875
o o
¢ | j oIl
1,562 @ 2,125 1.562 @ 2125
i = Jz i © Jz
@ . 195 e — 1,075 =1, 375 =
L' SINK FIOR
4 x 1/2" DON-JOMFG.INC. | i
Wooo SCREW e A3 00,00 T #1712 "
- S i e

I




vy 7T

2,250 AB0 —— =

ZONE | REV | FINISHES: 605) 609 DATE APPROVED
.990‘_E> — |344
y
O
© ! = = 040

_— ). 225
Ol sk e i

_
#38 SCREW © |
687 [:} 2,250
=

| E;R 280Y ¢

! 360.062 [ 180
}
8ol —= —~-
DON-JOMFG.INC. | .
== ATos [ #1714 T
o - i i i

)




|WE NO

|SH REV
|

REVISIONS

ZONE

REV

FINISHES:

605,609,613,619,620,626

DATE

APPROVED

STRIKE THICKNESS: .050

DON-JO MFG. INC.

R 250 = 1410 =
= 078~ |
060 N
| = L LN
2,250 <20 @ f
090 A | 1N |
J 2
875 = =
® . 165 = = 50
C'SINK FOR
#o SCREW

EEEEE

ATy T

#1716

i

SCALE | RELEASE DATE | WEIGHT

| SHEET

I




¢ —

SH REV

—

) (

REVISTIONS

ZONE | REV | FINISHES: OATE

APPROVEO

605,609,613,619,620, 625, 626

160

o

1.1
—
—- 380

790 1. 160
_<)
|

DATE: PART NO.

DON-JO MFG. INC.

M as1,04 £1718 "
SCALE @ |VE:|:I-|T |S|-I!I:T




v = T T
ZONE | REV | FINISHES: 605}626 DATE APPROVED
[ 200 T |<> 500
=
] 665 = =
+J 2125 L+
585 i
1,073 = @E 0
=\ |
% \ 0 .210—j
125  1.675 [
47 4( )/ X
150
DON-JO MFG. INC. | _
***** A3 [T # "
il = N i




v - M
ZONE | REV | FINISHES: 605} 626 DATE APPROVED I
= 1.000 ;
250 —=
W 690 = = 560 = = :
|
1060 8| 1.000 ﬂ‘” o ol 1.0 |
' Y5180 I e
562 = 3.154 —= | B0 == = '
- B 240 i
== ol CSIK R TO- |
h ' #8 SCREW Z‘X
580 | |
DON-JOMFG.INC. | |
EEEEE AT 7T HD -
- = l




v ~ A
ZONE | REV | FINISHES: 605} 626 DATE APPROVED
1000 |
050 —ef =
375 !
g . e — —= — !
I ;50 i {890 ; |250.825 W
1.063 g 11.000 g C'SINK FOR |
[(X 4& #8 SCREW O 1,145
1 256k
3. 160 413 —= = W N
~—3.156 —=
o " i E@Siﬁfgu?ﬁ :
, i
= | == Ik g e T
@ — — A !
9] 250 573 '
1,000 .
DON-JO MFG. INC. | |
sssss AT v 7T Y "
- S i il |




v - T
150 605,:613,619,620,626
Ly '
J 375 o _
1600 $ 2O |
!
d oo = ! ! O |
1,030 = = (— ! ;
i j 48755 500 D !
9] .83 <
(e ! :
250 B
@ 3,365 088 ” W |
B 225 P L0 750
C’ SINK FOR ) ! |
#8 SCREW |
o 4 305 11,250}
C'SINK FIOR |
MORTISE .930" X 2.2" X 1.6" #10 SCREW  STRIKE THICKNESS: .090 .
FOR MECHANISM
DON-JOMFG.INC. | |
***** Al 30004 HLTOA " |
~ S i A |




; - =
— FIE?CI);Egi}BOQ,BZO,525,626 |
= 12,000 =
= ~— 500
<
W 280
660 X W , :
: ]
DON-JO MFG.INC. | ) :
***** Al B/3/04 SB-12 ( |

| RELEASE DATE | WEIGHT | SHEE




T

REVISIONS

ZONE | REV | FINISHES: GALIGE :

605,613,609,625,626

2. 000 =

gelel0

—— . OUU

280

DON-JO MFG. INC.

EEEEE

Ej>E

“e/304 | SB-2

i

APPROVED N | RELEASE DATE | WEIGH | HEE

I




|WE NO

REVISIONS

ZONE

REV

3.000

FINISHES:

605,613,609,625,626

GALIGE :

Nelel0

-, 000

280

DON-JO MFG. INC.

EEEEE

H

6304 | SB-3

| RELEASE DATE | WEIGH

I




|WE NO

.b0b0

280

DON-JO MFG. INC.

REVISIONS
ZONE | REV | FINISHES: 505 513,500,619, |GAUGE:
620,625,626
= 4 000 ——=
—=- 2000

EEEEE

H >

S

i

RELEASE DATE

|WEII5 | HEE

I




; ——
REVISIONS ,
ZoNE [ Rev | FINISHES: 505 613,600,610, |GAUGE: l
620,625,626
= b, 000 =
—= _— .500
280

Nelel0

DON-JO MFG. INC.

EEEEE

T304 | SB-6

i

H >

| RELEASE DATE | WEII | HEE

I




DVG NO

REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
b28
813 20.000 875 —= = .
- = 1.000 L_‘ 7 SO .400 |
1, 4, ; 750 —T ’e {  .688
N AN
2,500 y;—«\ T.605 | °-ﬁ% <
) ) ) ) _
1,188 ? .20 s 4,000
32,000 |
| 280 3.000
© 0T
S B |
) L. $
313 ~ 375
DON-JO MFG. INC. '
AT a0 A0l )




v

DVWG NO

813

REVISIONS

ZONE | REV | FINISHES:

DATE

APPROVED

b8

875 —= |~
~ 1.000 | g, ,, o
* w P
AN i
2,500 b—«»‘;m o0 1.625 Y;.l/%p:
o 4 J 4000 |-
438 |
1189 32,000 -
3,000
1,280 9‘ F
i 375
L
} }
313 -
DON-JO MFG. INC.
Al v o )

APPROVED

SCALE

|E.EASE DATE WEIGHT SHEET




DVG NO

REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
628
20,000 =
813 875 —= |= |
= = 1,000 L_, o 3 230 750 —= 1.400 688 I
w 4 = P
ya i (o i
2500 et 1.625 I o <+
1 T 7 ] n
| 188 438 4,000
~ 52.000 - |
3.000
1.280 9‘ r
i .375 |
—— '
4 313 |<- 4
DON-JO MFG. INC. :
AT s T -




DVWG NO

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
b/g
~— 32.000 =
813 875 —=
~ 1,000 toF 1y 750 —= 1,400
FAN i /k é'
2500 L FBo—m 1,625 L e ot
} ' )
1.?88 438 *>I 4,000 =
92.000
3.000
1.280 9‘ F
i 375
S
} }
313 I<-
DON-JO MFG. INC.
DESTGNER A 4/5/04 . #2022 ’7




v f P
ZIENE EEINISHES : e DATE ABPPROVED :
628
44,000
813 875 —=~ = |
~ 1,000 L_. . 750 —= 1,400 |
¢ .230 j .688
| FAN 4 i I;k *
2.500 L_“ﬁ\ @ 250 1.625 i | ° } <_i
} ‘f I T L !
438 *>I 4,000
1.188 '
52,000 |
3.000
1 .iBO 9‘ r 7 |
o |
) !

313 L
DON-JO MFG. INC. '
4/5/04 #1023 ,
APPROVED SEA RELEA: DATE WEIGHT Q%T |




|D|IE NO

DON-JO MFG. INC.

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

MATTE BLACK
20,125
.b88 —=
i
O—
313

" 450

PART NO.

-

|E.EASE DATE

0

|WEIE-IT |SI-E




v ~ A
ZONE | REV | FINISHES: ALUMINUM DATE APPROVED !
=— 2,975 —= 360 1 000 = —- b2l |

I
1930 <
¢ | i - 0.00) ——
DON-JOMFG.INC. | |
EEEEE A 4s04 T I

- R v ~ l




—

v - T
ZONE | REV | FINISHES: DATE APPROVED
ALLMINLM
— = .880 375 - 1,074 =
TA5 =~ = ! g
1 55 = ] 43 ® 063
! 3 3 :
935 L L0 1*
Sl e 3,050 —
- 4.938 ~
DON-JO MFG. INC. | _
e ATas0a T 05T [




v ~ M-
ZONE | REV | FINISHES: PRIME [:DAT DATE APPROVED !
= 2,500 = = 1.BI6 = |
i 900 —=~ =t 200 :
O Lo .
[‘X ® ¢ I 1,450
4 250 2000 ® <
J; | }
| . I
j ) :
DON-JO MFG.INC. | _ |
mmmmm AT s T H00 R
= - T |




v ~ A
ZONE | REV | FINISHES: 626 DATE APPROVED !
‘< 5.500 >‘
0 l_u ’
:|] 2.620
—11.300 |
5.520 _
300 = = 5 z‘x <«
—1.500 = _I |_ ;
g ol
1,700 '
o
i :
!
DON-JO MFG.INC. | |
EEEEE AT A0 T 0 R
= = - |




DWG NO

|

2.g75 |

|

@ .215
C' SINK FOI
#10° SCREW

2N

1,375 't

REVISIONS

ZONE

REV

FINISHES:

il

DATE

APPROVED

15.250

} }

DON-JO MFG. INC.

SIZE

DESIGNER

401/

APPROVED

SCALE

PART NO.

#3023

-

|E.EASE DATE

SHEET




DWG NO

3 215
C’ SINK FDR\
#10 SCREW
2.g75 |
L35
oo
375

REVISIONS |
ZONE | REV | FINISHES: 630 DATE APPROVED !
|
:
- 16.750 -
~— 3,063 —=
- 595
~— 2,813 —= - |
! ~ = 313 ' 313 *>| ~-
750 Q LY e P — ©
TN - 1,563 = '
<
|
|
:
- 750
|
DON-JO MFG. INC. |
Al 420 13024

SCALE | RELEASE DATE




DWG NO

2.875 i

¢ .215
C' SINK FDR\
#10 SCREW

REVISIONS

ZONE | REV

FINISHES:

030

DATE

APPROVED

230

17.250

1.375

}

!

375 .

DON-JO MFG. INC.

SIZE

DESIGNER

DA’

" 401

T8I

APPROVED

SCALE

|E.EASE DATE WEIGHT SHEET




DWG NO

REVISIONS
ZONE | REV | FINISHES: 63 O DATE APPROVED
19,000
~— 3.232 —=
= .993
~— 2,938 —= ’6 220
! |
730 o [ — | -

? 215 @
T s N[
2.875 ) I
- el 1 187
iJo| .5 |
} } }
375
= 750

911.563

=

DON-JO MFG. INC.

DESIGNER

1

SIZE

PART NO.

w14

" An1L

APPROVED

SCALE

-

|E.EASE DATE WEIGHT SHEET




v = "

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

030

~ 22.875
375 879
375
4, 900 T !
! - ! | T
3.000 \ (o 750
7 | 3.475
¢ To€ 7 X
® 280 615 ' %
' .280
4" S J L ’ 350
1.360
DON-JO MFG. INC.
EEEEE AT w77 BN -
APPROVED SCALE |E.EASE DATE |WEIE‘|T |SI‘EET




v - T
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
iRl
- 23,125 -
~— 5.000 —= |
¢ - ’e 688 |
1.000 o O |
[P |
p 295 <«
C’'SINK FOR
174" SCREW yb
i |
o | 2.375
1.750 ﬁ;@ 000 |
: t{& : : |

= ~=—1.000

DON-JO MFG. INC.

" 4/27/04

7

|E.EASE DATE




REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
030
= 24230 =
~— 5,000 —=
¢ - ~=— BHEY
1,000 o o
? -~ 2.688 ~
~— 4,375 —=
p 295
% C' SINK FIR &
3500 1 4 Scred
| o { 2.375
$ 1,750 ; IS
} ! } }
.375
= ~=—1.000

DON-JO MFG. INC.

SIZE DATI

DESIGNER

4T/

APPROVED SCALE

PART NO.

#1334

[

|E.EASE DATE

WEIGHT SHEET




DWG NO

T

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
6206
-~ 2.703 —=
4 N
| epe = 2,480 —= DOOR PREP
i ' 1,750 —
1,016 4.428 §Z§.313—\ 875 =
o : o) O} 2
1,706 813
— 1,688
L ) &
4.008 3 3 3.375 1
250 p=—— 4. 160
% ] 'S D| 4.900 5 (53]
; 70,125
@313
2I963 / \ ]
313 1,857 313 = 1.125 =
i g =l 1490 = f
! & 250 I o
B = |O] 2
= 2.2ld 7 SINK FIIIR\\@
SN R, pa—
J n 563
DON-JO MFG. INC.
S—_— A | 3/11/04 ' #4500




|SH

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
6206
-~ 2.703 —=
( N |
i 1T ~— 2,465 —=
— 1,750
1.016 4,428 DO0OR_PREP
} f P.313 1,750
875 -
1,706 l o) i 1
| L ) 813 L
4,008 *
| 337 B 3.375
250 =—— 4. 160 al
; i 's | 4.900
\ ¥
) o—!
2. 125
@.313
2.963 —
313 1.857
i Q | 313 = 1.125 =~
i
' -~ &.250 = 1,490 =
L T2
= 2.214 een -
5" BACKSET 5| D
C’' SINK FOR
44 R )
AL g3
DON-JO MFG. INC.
DESIGNER A 3/1 1/04 ' #4550




: - -
REVISIONS |
ZONE | REV | FINISHES: GALIGE : I
626
WITH VINYL CHAIN COVER
CHAIN LENGTH: 20.5" |
= 1,440 = .
- 4,125 —= .
i i §
Q9 Oy ' <«
[.920 [ ] o5 1.200 L\J , |
2 j
4& <>I 170 |
C' SINK FOR !
#10 SCREW !
DON-JOMFG.INC. | '
mmmmm A" s/2004 HDCC-2012 [
- = I S :




. - -
REVISIONS |
ZONE | REV | FINISHES: 626 GALUGE : |
WITH VINYL CHAIN COVER
CHAIN LENGTH: 25.5" |
=1 1,440 =
W W - 4,125 ——= |
@ @j L )
Tl 7]
j - 250 :
@. 180 170
C'SINK FOR
#10 SCREW :
DON-JOMFG.INC. | '
***** A | 5/20/04 - HDCC-2512 ( |

|E.EASE DATE

|WEIE

|SI'ET




v - -
REVISIONS |
ZONE | REV | FINISHES: GALGE : |
6 b
WITH VINYL CHAIN COVER
CHAIN LENGTH: 30.5" I
= 1,440 = |
<~ 4 125 ——= '
l { :
@ @j ) 4_:
@ I f A A
| j@ i | 1 ’
170
. 190 =230
C'SINK FOR |
#10 SCREW !
DON-JO MFG. INC. | '
***** A | 5/20/04 HDCC-3012 ]7 |

|E.EASE DATE

|WEIEHT |SI'ET




v - T
REVISIONS
ZONE | REV | FINISHES: GAUGE:
GALVANEALED [Bga. 030
= 2.927 —= ¢.5OD
i i
856 |, °‘ @ : °
] =
7.000
2 T15 %
- @. 375 1.695
l °c .o |
5.000 ———=
i i
fe'shh ° \J C |: l °l .8
' &.375 !
~— 2,977 —=
DON-JO MEG, INC,
) AT 4808 [T S34MWA "
SCALE RELEASE DATE VEIGHT Iﬁ'r




—

v = T
ZONE | REV | FINISHES: GALUGE!
GALVANEALED 180, 050
2pc SET
5,625
500 - 2.188 —=
) _¢_ AN
750 ‘é
@ - {I
5,000
_ 00000010 20
| | 750 l
!
| 068 — -
DON-JO MFG. INC.,
=R, Al 127710 | 834 AD] r"ﬁ




375

—=

[.B40

4,875

V

@ . 370

C"SINK FOR
#12 SCREW

—=

ZONE | REV | FINISHES: GALGE:
DU & SL 13ga. 095
510 =
| | 095 —ej=
| :
| -
| 3,375 | 640 90
| S
! = 1,510 L%

DDDDDDDDDDD

PPPPPPPP

ﬁ.




REVISIONS

ZONE | REV | FINISHES: GALUGE:
DU & SL [3ga. 095
3{5 — 1 B40 = — 1 510
I
! O L ]
| \ b 095 —ej=
x x o
4,875 1‘250182 | | 3,375 1 640 80
L | | T
f | | _
‘ = 1 510
1.913 IJJ | i1
750
Py Ee) 4& | 750
@ . 370 L
(" SINK FOR
#17 SCREW = | 250
DON-JO MFG. INC.
A | B/26/14 AF-261

ﬁ




1,390

DON-JO MFG. INC.

¢ |WEND ’REV—
REVISIONS
ZONE | REV | FINISHES: GALIGE :
DU & SL 13ga. .095
1.700 = - 1 500 =
]
| 085 ﬂ>H<k
3.750 | 1.500 90°
' 1700
\
]
2.625
C’'SINK FOR
712 SCREW. I\ j

EEEEE

B H

i

“4/30/04 | AF-29

|E.EASE DATE |WEIEHT |SI'E




v ~ "

REVISIONS
ZONE | REV | FINISHES: GALGE:
DU & SL 13go. 095
;- 1.700 = - 1500 =
. [o
313
11
R i 095 ==
7 b -
1,250 355 o |- { 3.750 | 1.?00
‘ ¢ ' ' = 1,700 -
oy
\
@.370 2 625
C’'SINK FOR
712 SCREW. N\ j
< 1,300 =~
DON-JOMFG.INC. |
***** A "430/04 AF-29 I
— - R




v - T
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
DU & SL [3ga. 095
= 1,700 = :
i = 1.995 =
A ﬁ—Q
313 |
1! —  1.995 |
.688 &= ! | | !
3,000 ¢ 4 000
Cosg 3 | {30750 . 1 1.700 90 - "
\ |
‘ ) . . . }

b g |

3.875 s
@.370 2,625 :

C'SINK FOR

#12 SCREW. N\ j
[ | !
= 1,350 = |
DON-JOMFG.INC. | '
‘‘‘‘‘ A | 4/30/04 AFIL [ ]|

|E.EASE DATE

|SI'ET




¢ DWG NO SH ’REV—
REVISIONS ,
ZONE | REV | FINISHES: GALIGE : :
DU & SL 13ga. .095
— 1.700 = |
i = 1,895 (=
) _@
313
- = 1,995 |
g, 000 200
1 | | I QOO
3.750 ! iOO <_:
. . }
‘ |
)
@.370 2.625 |
C’' SINK FOR
712 SCREW. N j
y :
= 1,390 .
DON-JO MEG. INC. '
DESTGNER A 4/30/04 AF-29L ’7 :

|E.EASE DATE




|WE NO |SH |REV

ZONE | REV FINISHE%:OS) 613 & 630 1:/8” THIEK
— 3,500 — ’
. v |
v /6\ |
@ @ [ 375 '
984
4x 72,125 4x ol
7. 500 :
%313
STOCK: 1/8" THICK |
DON-IO MFG.INC. | _ |
- Alsog | ARSS [




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: GALIGE :

605,613 & 630 [/8" THICK

= = 33/

DON-JO MFG. INC.

***** Al"5304 [ AROK T

APPROVED SCALE | RELEASE DATE | | HEE




p 250

100" INDENTS

: - =
ZONE | REV FINISHES:PB) P[: & SL GAUG]-E:BQOI IOBO

- T |

—— () 3,625 —= v B 10— 1 l

<

EEEEE

> PLACES
DON-JOMFG.INC. | H
AMTsa04 |77 BE-13S [

| RELEASE DATE

|WEIE |SI'E




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: GALGE:

BP,PC & SL [Bga. 060

|750j

- BPE5 = 10-32 TAP
m
P 250
100" INDENTS 2 PLCS,
DON-OMFG.INC. | - i}
EEEEE AMT5304 77 BE-161 [
" = I R




v = T
ZONE | REV | FINISHES: BP) PE & SL GAIJGE]-:BQOI IOBO |
/o0 = ﬁ |
| PLeTs = V= 10-32 TP
<

20—

. 100

DON-JO MFG. INC.

INDENTS Zplcs.

EEEEE

H

“s/304 |7 BE-1T8 "

|RE.EASE TATE |wE1 | TEE




¢ . -
REVISIONS |
ZONE | REV | FINISHES: PE GAIJGE]-:390 | | 095 |
313 e :
: I
4x oL .
2,750 .
B |
i O .5¢25 |
@.270
L' SINK FOR e - !
#3 SCREW Loleo |
DON-JOMFG.INC. | '
***** AT 54,04 BTS-160 [ ||
- S i O .




! -

10,

REVISIONS

ZONE | REV | FINISHES:

BLUE

GALIGE :

230 5.000
1
| Braille Translation Here ]
[
11.750 =
DON-JO MEG. INC.
***** Al 5/4/04 CHS-4
- - i e




|WE NO

&

REVISIONS

ZONE

REV

FINISHES:

SLUE

GALIGE :

5.000

= \WOMEN

Braille Translation Here

@12.000

DON-JO MFG. INC.

EEEEE

'5,/4.,/04

.

PART NO.

CHS-2

|E.EASE DATE

|WEIEHT |SI'EET

1




v =

REVISIONS

ZONE | REV | FINISHES: GALIGE :

SLUE

RESTROOM

| Braille Translation Here |

@12.000

DON-JO MFG. INC.

***** A 5/4,04

|E.EASE DATE |WEIE |SI-E




v il ™
BP,PC & SL | 16aa. .00
= 2625 = |
o <

D1, 250

DON-JO MFG. INC.

100 INDENTS 2PLCS,

EEEEE

H

“5,3/04 |1 CP-258

| RELEASE DATE




v -

REVISIONS
ZONE | REV | FINISHES: GALIGE :
RAW STEEL 16ga. 06O
12.000 =
750
DON-JO MFG. INC. _ _
***** ATsem 77 CRO60 T
APPROVED SCALE |H5.EASE|:|ATE |SI-ET




! -

REVISIONS

ZONE | REV | FINISHES:

RAW STEEL

GALGE:

[0ga.

12.000

DON-JO MFG. INC.

EEEEE

"'5,/6,04

H

PART NO.

CR-125

| RELEASE DATE

|




. - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
RAW STEEL 12ga. . 104
= 1,950 = |
975 }=- } |
R .OBBQ 1,750
i | ! |
710 \R e
}
- 14,000 — "
3.031
| |
DON-JO MFG. INC. | |
i Al 5/6/04 " (R-Y7 f
e - i :




. - -
REVISIONS |
ZONE | REV | FINISHES: GALGE : |
RAW STEEL 12qa. . 104
= 1,940 ~
1,730 = ! |
W 063 T 1570 |
780 I \
} 125 |
14,000 - <
3,770 ] ] S :
DON-JOMFG.INC. | |
== Al 5/6/04 CR-300 R

|E.EASE DATE




; - =
REVISIONS |
ZONE | REV | FINISHES: GALIGE : p I
N 1/4
-~ 4,050 ——=
— 2250 = :
500 —= Iej - 1 - .
! | | ! |
1250 ? c(Oi|of— |
o _
@.0s0 P10 8-32 Tap 2x <«
C' SINK FOR
#10 SCREW |
W 104
c—— i — ;
‘F I
250 .
4.250 |
DON-JOMFG.INC. | |
***** ATs700 77 CV414 T
- SIS vl S S o |




—

v - -
REVISIONS
ZONE | REV | FINISHES: GALGE:
PC
= 8.000 =
375 —= = = 3.6
8-32 Tap 2Zx
i P —\ @ 1.000 !
1.250 p \T D) o _.%25
4& Z§Z.345 L | 625 H
C'SINK FOR
#12 SCREW = 2 250 =
290
. Z ,
L 104 J
= 8.000 -
DON-JO MFG, INC,
= Al Ts704 | CV-86 "
PRV SCALE RELEASE DATE VEIGHT F‘r




v " T
ZONE | REV | FINISHES: BI:) & SL 1/4 I/
_ 3.000 —
— 2.250 = |
— = 375  F11.65 = 525 |
i j |
. 250 @\ Q 7 O
<
] i
%35 @ 1000 [ oy Top :
C'SINK FOR
#12 SCREW
250 104 :
W | 1 4] f | :
} }
DON-JO MFG.INC. | |




v - T
ZONE | REV | FINISHES: P[: GALUGE : 1 /4 " |
- 3,000 - :
- 4,000 —= |
875 = =
i i |
1,250 p °<’_’>° (D 5 .64X25
<
4x D345 J = | .b20 = L 8-32 Tap 2x
C'SINK FOR @1.000 |
#12 SCREW
2,220 104 |
i j ﬁ i
| A J | ] |
: T |
250
DON-JO MEG. INC. _ _ _ '
- Ao T CveeM [ 1




v - -
ZONE | REV | FINISHES: SILVER COAT !
200 = 1,000 = j — 250
I
4x o) i
o 1
875
8-32 Tap Z2x — [F P |
- ~~o | 1.588 104
%.300 — VL
S Fe T I-_ i
10" SCREW
= 500
DON-JOMFG.INC. | )
EEEEE Al 1272005 | CVRL f
" - i N




v " T
REVISIONS |
ZONE | REV | FINISHES : P E GALIGE: 1 / 4 I I
= 8. 000 = |
~— 3.620 —=
375 = |
i — w w .
625
1,250 @\ .6A25 Ot ¢
} \ |
%.370 _ .
C/SINK_FIR L.2a0 .
#12" SCREW
DON-JOMFG.INC. | e
***** A™s/704 77 DBS-386 [
s - i i :




’ e -
ZONE | REV | FINISHES: PAW STEEL 2590 020
6.375 - :
i
730 I
3
<+
1,995 :
| C )
DON-JOMFG.INC. | = |
mmmmm A"510004 77 DCB270 [ ]

| RELEASE DATE

|SI'ET




|RE.EASE TATE |WEIGHT

| SHEET

v [~ N
DE L S o STEEL | 25g0. 020
i ot
SIS [ L ]
4x }
313
1. B25 @
= 5, 000 J
DON-JO MFG. INC. | _ .
mmmmm Al 51004 |77 DCB-280




v ~ -
REVISIONS |
ZONE | REV | FINISHES GALIGE: !

RAW STEEL [B6ga. 060
= 5.438 = |

I — = .B88
| | —a3.175 |
1,375 ‘ o OA“/ [2-24 TAP 2X
} 3,400 ——= |
- 4175 ———=
<
060 060

b JA |
1165 |
! - 3.610 '
4 685 — |
DON-JO MFG. INC. |

mmmmm A " 4s19/04 DCB 340 )
— - i N :




v ~ -
REVISIONS |
ZONE | REV | FINISHES GALIGE: !

RAW STEEL [B6ga. 060
= 5.438 = |

I — = .B88
| | —a3.175 |
1,375 ‘ o OA“/ [2-24 TAP 2X
} 3,400 ——= |
- 4175 ———=
<
060 060

b JA |
1165 |
! - 3.610 '
4 685 — |
DON-JO MFG. INC. |

mmmmm A " 4s19/04 DCB 340 )
— - i N :




|WE NO

ZONE | REV | FINISHES: BP & PE GAlJlGEngI 119
= Z2.200 =
0U0
1, 000 O p ¢
¢ o Lo 280
313 L' SINK FOR

#3 SLREW

DON-JOMFG.INC. | _ _
- alonzoe ] EFI6I

I




|WE NO

REVISIONS
ZONE | REV | FINISHES: GALIGE:
BP & PC Ilga. 119
2. 200 =
003

|

O

Pl

- Ly o

L' SINK FOR
#8 SLREW

DON-JO MFG. INC.

DATE PART NO.

EEEEE

H >

5/12/04 ] EF's1,61

| RELEASE DATE | WEIGH | HEE

I




|WE NO

|

Pl

Ly o

L' SINK FOR
#8 SLREW

DON-JO MFG. INC.

REVISIONS
ZONE | REV | FINISHES: GALIGE :
BP & PC Ilga. 119
~— 2,750 —=
003

DATE PART NO.

EEEEE

H >

5/12/04 MEF-161-S

| RELEASE DATE | WEIGH | SHEET

I




|WE NO

H |REV

REVISIONS
ZONE | REV | FINISHES: GALIGE :
BP & PC 16ga. .060
2. 200 =
003

|

O

P

ZF

- Ly o

L' SINK FOR
#8 SLREW

DON-JO MFG. INC.

DATE

EEEEE

ss12004 | EF-161-TG

H >

| RELEASE DATE | WEIGHT | SHEET

I




v ~ -
REVISIONS |
FINISHES: GALGE: |
pC 11ga. .119
1,000 —= -
i .
A @ .
250 :
5.750 «
. & . 260 :
== T CSING FIR
v #8° SCREM |
DON-JO MFG. INC. | _ '
***** Al 51304 | EF-63 I
— - i A :




: -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
Pl 7qa. . 180

= 1,250 =~ '

i
A % :
625 = 379 :
3.000 ¢
?.370 .
C'SINK FOR !

/#8 SCREW

w o .
DON-JO MFG. INC. |
A 513,04 EF-86 I |
s = it i |




! - -
ZONE | REV | FINISHES: P E !
P ~— 1,250 P
i i |
4x Q.
1375 S %.370 |
C'SINK FIOR '
#12 SCREW
3,000 «
| —— 832 Top 2 ples, i
s T :
L — (¢ 1,000
2. 250 @j 2,250 = 100 |
J? o 2,000 ﬁ
w O J, 875 [ ;
DON-JO MFG. INC. _ ) |
= A | 5/14/04 EL-86 " |

| RELEASE DATE | WEIGHT | SHEE




¢ e il
REVISIONS |
ZONE | REV | FINISHES: GALIGE: , |
PRIME COAT 1/4
1,250 —= -
i I
I o
344 !
3,063 <
=, 250 |
® .280
' SINK FOR .
I #10 SCREW .
DON-JO MFG. INC. '
e AT 1171504 © EPTHI ’7




v "

REVISIONS

ZONE | REV | FINISHES: GALIGE :

PC 11ga. .

= 2.200 =
404

v

A

&, 280

L' SINK FOR
#8 SCREW

DON-JO MIGL INC.

OATE: PART NO.

i AT 218710 FB-225
APPROVED SCALL @ |v:n=|1' |n-II:T




DDDDD

REVISIONS
ZONE | REV | FINISHES: GAUGE:
PC
943 —= =
313
| Ki]
R
& 290—]
C'SINK FOR
3 880 #8 SCREW ,ji C
]
1.138 -
j 4X o
5o = =
16ga. .060
DON-JO MFG. INC.
EEEEEEEE A 5/17/04 FBR-A




v - T
REVISIONS
ZONE | REV | FINISHES: GALUGE:
PC
= —= 1,249
943 — -
313 i
W 1.335 J
¢©~ﬂ - 625 ~ 1,692
B 280 — ] o i %
C’'SINK FOR
#8 SCREW 875
Y g . ¢ 5885
{ /51 !
1,138 6 ! 625 4 875
! /O_J !
5Bh =~
top 8-32 2x — 1,300
16ga. .060 ]
12ga. 104
DON-JO MFG, INC,
= Al 5/17/04 FBRK-2 ’m—
AFPRIVED SCALE RELEASE DATE WEIGHT Iﬁ-r




v - T
REVISIONS :
ZONE | REV | FINISHES: GALUGE :
[lga. 120 |
—— 875~ :
——= 125
156 4—‘ .500 |
¥ i |
‘ 8-32 Top
] /
2,500 j 7
Q, <
L 1,000 \_ %250
! .
=120 |
DON-JOMFG. INC, | |
i) Al 7716710 | FB'I-1 |




! - -

ZONE | REV | FINISHES: |:) E GAIJGI?- OQO | | 1 34 |

= 4500 -~ |

1. 000
[ b9 Q @ <
Z‘X ——— 3,484 ———=

C'SINK FOR = = 508 :
#1272 SCREW

DON-JOMFG.INC. | - ) :

. A 1"5/19/04 FF-45 |

. S i el |




|WE NO

/L
L' SINK FOR

#12 SCREW

REV | FINISHES: P[ GAUGTOQOI REY
< 2. 000 =
| J
[ .000
1.B25 @ @
3.960 —=

DON-JO MFG. INC. | _ _

Al 519004 |7 FE-50

= i Fm




: - -
REVISIONS |
FINISHES: GALIGE: |
= PC 13qa. 030
— 1620 = |
375 |
: {
j 9 :
4,875 <«
‘i] I
w 750 :
?.370 4&
CSING PR T 120 = .
#12 SCREW !
DON-JO MFG. INC. | |
***** AlT5/19/04 FS-26 R
- S i U O .




|WE NO

REVISIONS

ZONE | REV | FINISHES:

DATE

APPROVED

WHITE ON BLLUE

4,625 =
I
| D
3.875 5 0B
: J
I
DON-JOMFG.INC. | _
e A | 5/20/04 - HD-1 (

| RELEASE DATE | WEIGHT HEE




I - -

REVISIONS

ZONE | REV | FINISHES: GALIGE :

PL 10go. 134

= 4500 =

—=—— 3,484 —=

C"SINK FOR = ~=— 508
#1.2 SCREW

DON-JO MEG. INC. |

e A "5/1904 |77 HF-4S )
APPROVED ALE W | EEEEEE |SHEr




v - -
REVISIONS |
ZONE | REV | FINISHES: GAUGE |
RAW STEEL 10ga. .134
- 3500 _ :
500 —
368 {1125 =
W 10-24 Top E5><| | \o 327 ¢ | 1 @ " :
| | y | | /_
L3 ? Ho 3 FOHQOO/ |
9 ? |
4& L b > 855 — =
| 395 <
500 —= -
3.933 |
.%?5 . |
I — _ |
¢ |
DON JO MFG. INC. | e
””””” Al 5/20/04 HR-100 [ |
S i N |




v ~ P
REVISIONS |
: GALGE: |
ZONE | REV | FINISHES IQAW STEEL 790I | 179
- 10,000 - |
—1.03 = 1313 = |
10-24 Tap 4x - |~ .68
4 : NS |
500 O? o . 0 o O\
47 O O :
- - =
[.000 —= [ 125 = -=1,125 <
5,250 :
P ‘r T, .w '
! = = 4
025 094 .

DON-JO MFG. INC.

EEEEE

H >

T501,/04

" HR-130 B

|E.EASE DATE |WEIE

|




! - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
RAW STEEL 7qa. . 178
10000 — ;
i 12-24 Tap 4x '2¢5O T 9‘6 - 625 l
o 1] % ojA T ¢ CL
1.250 oQ o B2a ! C%\ I
4& °c 11 9 1 1] ©
41.125<~ 91.125L \@.320 <
. — 1.000

.0W25 _ Sp— _ |

4x ~— ~ J *
125 :
DON-JOMFG.INC. | |
***** ALTS21/04 HR-14 R
~ S i i |




! - -
REVISIONS |
ZONE | REV | FINISHES: IQAW STEEL :790I | 179
10.000 - |
438 _ |
= 1.234 = 6o L.313
12-24 Tap 4x Jﬂ - -~ 698
4 : Ry Sy '
.SOO O? | | ? ﬁ | | %
47 O O :
A - o
1,000 —= [ 125 -=1,125 <
5,250 :
A ‘r T, L '
! = = i
025 125 |
DON-JOMFG.INC. | |
***** Al 5/21/04 HR-150 [ |
— - i A |




v -

REVISIONS

ZONE | REV | FINISHES: GALGE:

RAW STEEL 7q0.

= 10,000 e~

- 1,484 = 568 -
12-24 Top 4x '2¢5O B2) T = = .B25

[.250

o
O
o
od
O_

.0W25 _ = oo —
4§ 1 : : | W
094
DON-JOMFG.INC. |
***** Al 52104 | HR-160
— - i A




: - =
REVISIONS |
: GALGE: |
R AW STEEL 700, 178
10.000 - |
s o AT [ 313 = |
10-24 Tap 4x ‘T Jy 625 ~ |- 688
4 : E S S— gy
500 O? Lo ? ¢ﬁl | %
47 O O :
R e
1,000 —= 1,250 =  —=11.250 <
5,250 :
w ) | W .

——
——

025

‘F
094
DON-IO MFG.INC. | .@
***** Als/21/04 HR-170 [
- i i e




. - -
REVISIONS |
ZONE | REV | FINISHES: GALIGE: I
RAW STEEL 7ga. . 178
10.000 - :
= 1.484 = 688 -
i 12-24 Top 4x '2¢5O B2) T = = .B25 l
O | \) ()j‘%t ‘ | (5
1,250 oQ | n C%\o |
4& ° 119 i
41.2506; =~ 1 250L \@.320 <+
= - 1.000
.0W25 _ - o _ .
4& ~ — ) W '
125 :
DON-JO MFG. INC. | '
***** Al 521,04 HR-180 [ ]|
- S i N .




v ~ P

REVISIONS

GALGE:

RAW STEEL 7ga. 179

ZONE | REV | FINISHES:

10.000 =

12-24 Tap 4x ‘T s '4;8. 625 T 1%‘313 N 688
.ioo 00 E 7 ¢V..$i
S ERGEIE o1 | N
1,000 —= R ~>|1.25O<~ »1.250\@ P
5,250
| r T i

——
——

025

‘F
125
DON-IO MFG.INC. | m
***** Als/21/04 HR-190 [
- i i e




v ~ ]
REVISIONS |
" RAW STEEL 790, 179
= 10.000 —
W |
| ’ ‘ |
1,250 o - C%\ :
| |
4& \@.320 <«
= 1000
U - 5,250 - |
W - | W [
¢ 1 —~ - ] %
004 :
DON-JOMFG.INC. | N
***** A 752104 |7THR-200-4 172" [
- S i i l




; - —
ZONE | REV | FINISHES: RAW STEEL 7:90I | 179
< 10.000 =
W |
| ’ ‘ |
1.250 o | I O\ :
| |
! \@320 <
= —- 1,000

025 _ 5 o5 _ |
W - | W I

I S — ) %
094 :
DON-JOMFG.INC. | ]
***** AlTs2100 [T HR2105 [ ]

|E.EASE DATE |WEIE

|SI'ET




v - T
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
RAW STEEL 7ga. . 178
10.000 — :
— 1.0 =
W 12-24 Tap 4x 'i?o |
%) c)ﬁ‘%t
1,250 e 0 ﬁ*%€5 (%\ ;
¢ +J1.125-<— =11 125l<b \L—Q&320 <
— 1.000

DON-JO MFG. INC.

EEEEE

"5/01,04

H > H

“"HR-215-412" [

| RELEASE DATE

|WEIEHT |SI'ET




v - T
REVISIONS
ZONE | REV | FINISHES: GALGE:
RAW STEEL 7ga. . 178
= 12,000 —
— 1.53] = 688 —= =
000|188 .563
#10-24 Tap 5Hx . ' —= = 1,063
i ‘P‘ ~ 1,531 Loy 47 ‘ ’
O o I O
1,250 ?O - T o— 7L C&
© | | ? @ | | O
4X L o 00p = g5 = \®312
625 |
= 7.250 —
! R — 4x
025 109
DON-JO MFG. INC. |
***** Al 572104 HR-217 [
- - i A




v - T
REVISIONS
ZONE | REV | FINISHES: GALGE:
RAW STEEL 7ga. . 178
= 12,000 —
— 1.53] = 688 —= =
000|188 .563
#10-24 Tap 5Hx . ' —= = 1,063
i ‘P‘ ~ 1,531 Loy 47 ‘ ’
O o I O
1,250 ?o - T o— 7L C&
© | | ? @ | | O
4X L o 00p = g5 = \®312
625 |
= 7.250 —
! R — 4x
025 141
DON-JO MFG. INC. |
***** Al5/21/04 HR-218 [
- - i A




DDDDD

REVISTIONS
ZONE | REV | FINISHES: GAUGE:
PRIME COAT 16ga. .0B0 C.R.S
= 4 000 ———=
570 000 5 = 000
| i
1 L
 mle Il
625 =220
720
DON-JO MFG. INC.
EEEEEEEE 0P A | B/18/15 HS-050

?




v = all
ZONE | REV | FINISHES: PE GAUTEB:QOI IOBO |
- 4500 - |
@, 280 |
| 065 = = / |
375 = '
] i
8125 [~ f/ . ‘V |
| 6§25 ¢
4x J ﬂ ﬂ a0 1.220 "
} } J
1 250l< |
. 3500 —= '
DON-JOMFG.INC. |
= A '5/2FLE/MOD§E | HS-|Q§O




DDDDD

REVISTIONS
ZONE | REV | FINISHES: GAUGE:
PRIME COAT [3ga. .00 C.R.S
= 4 000 ———=
570 000 5 = 000
| i
1 L
 mle Il
625 =220
720
DON-JO MFG. INC.
EEEEEEEE 0P A | B/18/15 HS-080

?




v = all
ZONE | REV | FINISHES: PE GAU[;E3:90I IOQO |
- 4500 -~
@, 280 |
| 065 = = |
375 = '
] i
8125 [~ f/ . ‘V |
| 6§25 ¢
4x J ﬂ ﬂ a0 1.220 "
} } J
1 250l< |
. 3500 —= '
DON-JOMFG.INC. |
= A '5/2FLE/MOD§E | HS-|§(1T90




v - i
REVISIONS :
ZONE | REV FINISHES: GALGE !
ORIWN :
I
6.000
|
4 ) |
@ |
I
4,500
9.000 ‘ “ﬂ

\

@ MEN

i

. 375 MAX

| Brail & Translalion Hars

J

DON-JO MFG. INC,

]

N 5404

" T1S-9060-01

[

ELEASE DATE




v

|DVH N |§|

REVISIONS

ZONE | REV [ FINISHES:

GALIGE ¢

BRUWN

5.000
5,000
T o —

65 MEN i

[ 1375 MAX

| Brail & Translalion Hare | 4

DON-JO MFG. INC, -
== A Ts/4004 [T HS9060-02 [




¢ |ums NO |SH ’REV—
REVISIONS
ZONE | REV | FINISHES: B IQ I:I W N GALIGE:
< 6.000

7]

-~

[.750

EXIT|

\ )

| BRAILLE TRANSLATION HERE |

J

DON-JO MFG. INC.

EEEEE

“8/03/04 |7 HS-9060-35 |

H A

| RELEASE DATE | WEIGHT | SHEET




v

|DVH N |§|

REVISIONS

ZONE | REV | FINISHES:

GALIGE ¢

BLUE

5.000
5. 000
S

% MEN w

P 375 MAX

| Brail & Translalion Hare | ¢

DON-JO MFG. INC. -

== A Ts/4004 [TTHS9070-02 [




¢ |ums NO |SH ’REV—
REVISIONS
ZONE | REV | FINISHES: BLUE GALIGE:
< 6.000

7]

-~

[.750

EXIT|

\ )

| BRAILLE TRANSLATION HERE |

J

DON-JO MFG. INC.

EEEEE

“8/03/04 |77 HS-9070-35 |

H A

| RELEASE DATE | WEIGHT | SHEET




: =
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
PL 1/4"

= 1,250 = '

i
A % :
625 = 379 :
5.000 ¢
@.370 .
C'SINK FOR !

/#8 SCREW

V o .
DON-JO MFG. INC. |
A 51304 LW-86 ) |
APPROVED SCALE |E.EASE DATE WEIGHT SHEET |




DDDDD

%75 = 1540 =
I
- O
\
750
|
4.875  3.500 |
|
BEcEE | = i
|
P ] 1
750
o |o
$ 7. 370 $
' SINK FOR
512 SCREW = | .250 ~

REVISIONS

REV

FINISHES:

DON-JO MEFG. INC,

EEEEEEEE

U & SL 13ga. 085
b 095 —e—=
ﬁ\ (@)
3,375 1 640 30
= | 510 Lﬁ
v
A T6/26/14 MAF-261

PPPPPPPP

EEEEE

EEEEEE

EEEEEEEEE

HHHHHHH




i il -
ZONE | REV | FINISHES: PE GAU?%QO. 060
/20 *>W ra‘
r::j\ 10-32 TAP
— 187 =
72 . 625
B1.975 —_ |

065 Recess

DON-JO MFG. INC.

100 Indents 2x

EEEEE

~5/3/04 | PDF-161

[

|RE.EASE TATE |

| SHEET




v = "]
ZONE | REV | FINISHES: |:) E GAIJGI?- OQO | | 1 34 |
= 4 500 = |
j i :
| 500 0 L.000 <
P — .
¢ - 3484 ——— |
C’'SINK FOR = = 508 :
#12 SCREW

DON-JO MFG. INC. |

fl > "
U
~
=
N
-
N

“"  SHF-45




DDDDD

REVISIONS

ZONE | REV | FINISHES: P[ GAuGiOQO 134
o, 00U —
| OO0
.50 o]
4X 3,095 — =
' SINK FIOR o
#1.2 SLREW
DON-JOMFG. INC.
EEEEEEEE A | 5/19/04 SHE-50

PPPPPPPP

EEEEE

EEEEEEEEEEE

WWWWWW

EEEEE




DDDDD

REVISIONS

ZONE | REV

FINISHES:

U & SL 13ga. 085
3(5 = 1.040 = = .50 =
]
j @)
| | ) 005 —e—f =
! j57740 1 |
381+ | | i
e i % L
4.875 | | 3375 1,640 30
booob g | Lt
1,457 ‘ i 3
260 = = | | %>
v % | \ | 1,510
790 750
j | /%Q:) :
. 370
C'SINK FOR
#l2 SCREW = [, /50 =

DON-JO MEFG. INC,

EEEEEEEE

DATE:

SMAF-261

PPPPPPPP

EEEEE

EEEEEEEEEEE

WWWWWW

EEEEE




v = ]
ZONE | REV | FINISHES: PE GALIGE : 2K
- 8.000 =
<— 4 125 —=
= 1,568 =
345
3/5 = = /E%NK FOR
i w #12 SCREW
1.250 O of \ g
z@ | |
<— 3,430 —=
= 1,875 = & B2
12-24 Top 2x
DON-JOMFG.INC. | .
mmmmm Al B304 |7 ST-386 i
— i i N




v ~ -
== ZINC PLATED | 13qa. .00
1,485 = |
P | 485 |
W 2l / 090 - |
195 ‘l] ‘L
1 015 . | : —_ "
I ! 58— =
® 190 :
#12-24 Tap = =— 313
625 = = |
DON-JOMFG.INC. | |
EEEEE ATema0a [T TB2S [

| RELEASE DATE | WEIGHT

|




DVG NO

|SH

REVISIONS
ZONE | REV | FINISHES: GALGE :
PRIME COAT
375 1,400 =
i 9‘ ~ 1.838 ~
R.063 ~ 500 i
i i 900 = |<-JI [e) ;
4.875 ) i 1.250 3.375 1 250 a4 ’ 5 50
‘ O
} AP
.250
i R N P R
=
l < 1.063
@.370 | - 170
C'SINK FIR 1230 i
#12 SCREW
= 1,650 k-
2.338 —=
13ga. 090
1bga. .062
DON-JO MFG. INC.
e A 3/3/05 | TL-1




|WE NO

REVISIONS
ZONE | REV | FINISHES: GALIGE :
PRIME COAT
~=— 2,338 —=
= 1,838 ~= 375
i
375 9‘ 1.400 = !
: @ ~ ~ 1,063
500
R.063 _ ' )
.500
i (
; i /
4875 ] : 1.250 3.375 2.375 .875 '| 8.000
|
4 I
250 \ .
{
750
) 2.813
@.370 @.370 ~ 531
, {1,250 k= 370 ~|
C"SINK FIR :
#12° SCREW R %
-~ 1,650 =
16ga. .062
13ga. 090 570 1.063
|
2.338J
DON-JO MFG. INC.
e A | 3/21/05 TL-2




v - T
REVISIONS
ZONE | REV | FINISHES: GALIGE:
PRIME COAT
31.836 .375
~— 2.500 i
1.250 = 25D =] (= O1—
1.160
L Y i R0 250
F 2.25 .70 4.875 13ea 090
121 1.123 L 4 ¥ @
* \q_'SOD |370
A /E%IN( FIR
1.313 R1.0DO Q/ #12° SCREV
1,508
! 4= B25
-~ -— 115
- 1.000
170 4.3% 313
I . i
R.250 O
NP Qlfl__ a3 | ' B
{ 1.0, 750 ’ g 2250 g 0G0
! ! @/ C'SINK FIR
,250 #9 SCREW
RL.0D0 - J
1,432 . .
T I ITZE DATE! FART NO. -
=% Al 4719710 TL-3 FN
SCALE RELEASE OATE VEIGHT E‘r




! - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |

6a2 10ga. 135
~— 4 000 ————= |

= 1.656 = j ~ 1.000
i :
A ! @
;
' 508 '
4.500 % I <«
. .
1,125 !
i /@ } :
@ . 340 J |

C'SINK FOR . |
#12" SCREW 803 |
DON-JOMFG.INC. | '

***** AT20s 77 BB4S40 [
— - I A :




|WE NO

REVISIONS
ZONE | REV | FINISHES: 600,632,633,639, GALGE:
640,651,652 [0ga.
~— 4 500 =
= 1.806 = j = 1,000
I
o |
' 508
% —— 375
|
1,125
w 2 ;
340 J |
C'SINK FOR .
#12° SCREW 603
DON-JOMFG.INC. |
EEEEE A | 1/12/05 - BB-74545
— - i




|WE NO

REVISIONS
ZONE | REV | FINISHES: GALGE:
626 10ga.
- 4,460 -
= 1,806 = j = 1,000
I
S |
' 508
% =— ,37/5
.
1,125
W /@ © 4&
340 |
C'SINK FIOR -
#12° SCREW 003
DON-JOMFG.INC. |
EEEEE A | 1/12/05 - BB-84545
i - i e




|WE NO

REVISIONS
ZONE | REV | FINISHES: GALGE:
630 10ga.
- 4,460 -
= 1,806 = j = 1,000
I
o |
' 508
% =— ,37/5
.
1,125
W /@ © 4&
340 |
C'SINK FIOR -
#12° SCREW 003
DON-JOMFG.INC. |
EEEEE A | 1/12/05 - BB-94545
i - i e




—

v = T
REVISIONS
ZONE | REV | FINISHES: GAUGE!
R. 188
-~ 625 L i
t /@J ] 938
o A
1,688 @.312 s
L -~ 3,525 —=
950 ——=1 | ‘ = 1.230 R. 125
.500 = ~ -4;11 :
B %JR\ © O 1.071 !
1,685 174=20 SCREW o ' | 688
i B 1,685 @@F"'l
4%z 1.664 ~ 441
= 125 -
35 [T 20621 ogg
L G om0 4 :
878 ] O e 1,075
P32~ " gpa = bl [}
196
| DON-JO MFG., INC., -
== D.R. Al 4/7/10 | [IRP-1 ’“‘77




v - i

v

REVISIONS

ZONE | REV | FINISHES: GALIGE!

%.312 | e }
<~ 3,605 —=
=1 1.230 R, 125
.500 = 441
& S
270 1,071
C’%INK Fm\\é r© o 1,688
174220 SCREW _ — b $
#'
Jo e
T 1.665
L# @i@ 4
4| = -
325 ——2.616
i L 298
629 e
| ¥
= |,664 k= 196

DON-JO MFG. INC, -
= D.R. Al 477710 | [IRP-2

SCALE RELEASE DATE WETGHT FET




v ~ "

REVISIONS

ZONE | REV | FINISHES: GALGE:

632 7ga. 180

4,500 =
= 1.813 = ~— 1.000
_ |
1 © :
. 508

1125
O © ¢
ﬂJ - 132
DON-JO MFG. INC. | H
mmmmm A11a05 |77 HWBB-74545 [
i i N i




v - T
REVISIONS |
ZONE | REV | FINISHES: 652 GALGE: 1 QO |
- 4,500 -
- 1,000 :
I ' I
©) 4X |
508 |
'
5000 . .
ol
{250 '
€
: 2 = © 4& |
@340 ‘J
C'SINK FOR —— /57 |
#12 SCREW

DON-JO MFG. INC.

EEEEE

H > H

DATE:

1714705

~" HWBB-75045

i

| RELEASE DATE

|WEIEHT |SI'ET




v ~ "

REVISIONS

ZONE | REV | FINISHES: GALGE:

626 7ga. 180

4,500 =
= 1.813 = ~— 1.000
_ |
1 © :
. 508

1125
O © ¢
ﬂJ - 132
DON-JO MFG. INC. | H
mmmmm A11a05 |77 HWBB-84545 [
i i N i




! F

REVISIONS
ZONE | REV | FINISHES: GALIGE:
652 [0ga.
=— 4,000 ——=
= |.B656 rF = —— 1.000
| l
) . N
5 ¢
' 508
4,500 | - 375
1 o]
1,125
! P11 ° :
?. 340 |
C'SINK_FIR J —— 585
#127SCREN
DON-JOMFG.INC. |
mmmmm AT a0s 770 PB4SA0 [
— - i A




: - =
REVISIONS |
ZONE | REV | FINISHES: GALGE: |

600,632,633,639,640,652 | 10ga. 135

~—— 4 500 ———=
= 1,900 FF —= —— |, 000
I | W :
1 o ¢
. 508 l
4 500 ! - 375 <
o ,
1,125 :
@ ©
y b :
B 340 |
C'SINK FOR ﬂJ <— 585 |
#12 SCREW

DON-JOMFG.INC. | '

mmmmm AT a0s 770 PBASAS [
— - i :




! F

REVISIONS
ZONE | REV | FINISHES: GALIGE:
630 [0ga.
=— 4 . 000 ———=
= 1.806 FF = —— 1.000
] | !
' A\
o ¢
' 508
4,500 | - 375
1 of ¢
1,125
O
v L 4*
@340 |
C'SINK FIR J —— 585
512" SCREW

DON-JOMFG.INC. |

EEEEE AT a0s 77 PBsAs [
— i i S




v = T
REVISIONS
ZONE | REV | FINISHES: 632) 633) 638) 639) GALIGE:
640 646 651 652 085
- 3500 — =
- = 420
687 = F+ +T - 637
I} 4 @ @ \/_R.25O
i = R.B25 !
1.;95 [ | IR 1.;95
R |
1.;95 1395
i ' i i
| — © |l 2 %
355 . 295 355
C' SINK FOR
59~ SCREW
DON-JOMFG.INC. | ]
°°°°°° : A|™1/1305 [T RPB73535-14 [
- - i A




! F ;
REVISIONS | |
ZONE | REV | FINISHES: GALIGE: |
632,633,640,652 | 10ga. 135
-~ 4,485 ———=
= 1.584 ’4 «T = 1,000
W |
| , @
UL |
? 508 |
4.500 ' - 375 <+
1 o ! ,
1,125 |
{ /Z |_ g G ¢ |
B340 |
C'SINK FOR = —=— /10 :
#12 SCREW :
DON-JO MFG. INC. | '
***** AM11205 770 SH74S4 T
- S i O |




v -

REVISIONS

ZONE | REV | FINISHES: GALGE:

630 10ga.

1 |
Uil o |
o
508
4,500 : - 375
| % W
1,125
| D le] © :
1340 |
E’%INK FOR = —— /10
#12 SCREW
DON-JO MFG. INC. | _
***** Al 112,05 | SH-94545
- - I A




¢ VG NI Bl IEV
REVISIONS
ZONE | REV | FINISHES: DATE APPROVEO
605, 506,609,612, 613,620, 620,630
Q\
I 80.000°
| .
* Customer To Specify Size and Finish and Fax To Factory For Quote **
DON-JO MEG. INC,
== AT iom #9 I




’ - =

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

605,b06,609,612,613,620,624,630

050 — ot
ﬁ\
VI B

x
1L

# Customer To Specify Size and Finish and Fax To Factory For Quote *#

DON-JO MEG. INC. |




¢ -

B Fv

REVISIONS

ZONE | REV | FINISHES: DATE

APPROVED

605,606,609, 612, 613,620,624,630

** Customer To Specify Size and Finish and Fax To Factory For Quote **
** Maximum Legs For 175" Door Up To 48" Is 3" Over 48" Is 2.5" **

DON-JO MEG. INC. |

- N R i
[APPROVED TAE |!E.'EKE'I]KTE |EI!E-IT |§ET




v

h\;y\y

REVISIONS

ZONE

REV

FINISHES:

Brass, Bronze

Plain Steel, Stolnless Steel

060
!

438

DON-JO MFG. INC.,

DESIGNER

APPROVED




REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
630
I
~——6.750
I
)
o
~—p 188 |
rf 3.537 —j |
|
10.000 ?
o .050 2.125 <
)
1,000 J
]
1.963 A EES |
5,000
1,000 629 |
|
° s
i | :
|
|
DON-JO MFG. INC. '
s Al 4/29/04 #8
APPROVED SCALE WEIGHT SHEET I

|E.EASE DATE




DON-JO MFG. INC.

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
6530
- 5750
\
o
~— 183
r» 3.537 47
o 10.000 5 (e .
| 1,000 )
< = 539 b J D
525
2000 1,963 b=
o
V 1,000 |

DESIGNER

A DATE: 4/3 0/04 PART NO.

APPROVED

#8 "

|E.EASE DATE

WEIGHT SHEET




v - ]
REVISIONS |
3 1 ]-25 ZONE | REV | FINISHES: DATE APPROVED !
i 530

\ |
® .188 JJ’ |
— 1,018 '

t 050
24,000 . 1 125 -I_\ <

@ J e g !

.550 ~ |
| . DON-JOMFG.INC. | |
= A 7430004 #85 R
"’"“’“" i i N |




DDDDD

REVISIONS
ZONE | REV | FINISHES: 530 GAUGE: 188"
8.750
|
R.094
3.250 - > 00D
1.000 . 188
§ J Z%
1.000 Q -
400 =
T @ .300
C"SINK F[R
é H ‘ H #10 SCREW
200 O | o !
I | I o
)
DON-JO MFG. INC.
=05 A 478710 #87

EEEEE

ﬁ




¢ e

REVISIONS

ZONE | REV | FINISHES Gouge:: APPROVED

605,606,609,612,613,619,626,628,
629,630, 8T, DB, ENDLRANCE, PLASTIC

000

Lo ° QMO\ o o

—

050/ FILL IN DIMENSIONS

DON-JO MFG. INC.
e AT 2008 [T #90) ’r

APPROVED SCALE RELEASE DATE WEIGHT SHEET




¢ e

REVISIONS

ZONE | REV | FINISHES Gouge:: APPROVED

605,606,609,612,613,619,626,628,
629,630, 8T, DB, ENDLRANCE, PLASTIC

000

Lo ° QMO\ o o

—

038 / FILL IN DIMENSIONS

DON-JO MFG. INC.
e AT 2008 [T #91 ’r

APPROVED SCALE RELEASE DATE WEIGHT SHEET




DWG NO

REVISIONS

ZONE

REV

FINISHES:

605,606,609,612,613,619,626,628,
629,630, 8T, DB, ENDLRANCE, PLASTIC

Gauge:

APPROVED

000

@.240\ .

—

125" PLASTIC / FILL IN DIMENSIONS

DON-JO MFG. INC.

DATE: PART NO.

DDDDD ER

2710704

.

APPROVED

#92

RELEASE DATE |WEIE-IT

=




DWG NO

e FINBICE_,'EZ[;,BOQ,BIZ,513,519,525,528, — e
629,630,8T, DB, ENDURANCE, PLASTIC
<
1500 I
P P20~
) |
125" CLEAR PLASTIC / FILL IN DIMENSIONS

DON-JO MFG. INC. _ '

nnnnn = AT 200a |7 #93 ’7
ArreNER sE FELERSE AT |"E“’*T l““ :




v = T
REVISIONS |
ZONE | REV | FINISHES: GALGE: |

526,BP, 0L & SL 12qa. . 104
= 11.000 - |
4 N |
250" DOFFSET / \ |
I - - 625  3.000 .
1,188 I.‘_I\ 4 Dﬁj I j
\Lv_-l / 7\ J, |
[“ _ I .
438 —— Rl/.813 e

1,125 = - :
DON-JO MFG. INC. | '
‘‘‘‘‘ A | 5/28/04 Lp211 [ |
— - i |




v = T
REVISIONS |
ZONE | REV | FINISHES: GALGE: |

526,BP, 0L & SL 12qa. . 104
= 11.000 - |
4 N |
250" DOFFSET / \ |
I - - 625  3.000 .
1,188 I.‘_I\ 4 Dﬁj I j
\Lv_-l / 7\ J, |
[“ _ I .
438 —— Rl/.813 e

1,125 = - :
DON-JO MFG. INC. | '
‘‘‘‘‘ A | 5/28/04 Lp211 [ |
— - i |




v ~ A

ZONE | REV | FINISHES: & S| GAUGE1:390| 0=
[2.000 =
20 OFFSET———

~

F ‘1

|
1430 <:::::>W E]—_——W
i [.000 1 000

T
6. 000 = 500 —=~ =
DON-JOMFG.INC. | i}
***** AMTss04 [0 AL2ID T
" = I S




: - =

BC,0U & SL 10ga. 134
= 6. 000 = l
i ~ 5 ! |
— . 280 1.438 '

w Lo Csiwrr 00 [ © i
] 4x #8 SCREW ] |
—— 359
0 e——s000—= | [ .
134 —= = |
938 |
[ —

1438k '
DON-JOMFG.INC. | e

***** Al 5304 | ALP-206 -
" ~ [l i :




v ~ P
BC,DU & SL 10ga. 134
10.000 —
! 7 O] LB
— & 280 |
863 - C' SINK FOR 908 @) {7
[(X [P #38 SCREW
350
369 _ g _
~ = 550

DA

EEEEE

H >

5,304

© ALP-210

i

| RELEASE DATE

|WEIE |SI’ET




v il T |
EELEL TR 530 1200, 104 |
—~ 2,000 = |
‘b 174" OFFSET |
750 [ N
¢ <) |
/ I
/ |
%
- 1,875 ? |
R 1,907 | 7.000
= <
Z
Z '
750 Z |
W f’\'\ Z !
- ] '
: \_ U
3050 —= |
DON-JOMFG, INC.| |
et A 5/4/04 - BLP-107 |




v = T
REVISIONS
ZONE | REV | FINISHES: GALUGE!
630 12ga. . 104
PO D e oeesEn
750 L . e )
@ = [ ]
=
=
Z
=
z
]
]
Z
7
R 130 Z 10,000
]
=
Z
Z
Z
A
Z
7
750 Z
\i’ (") ?
' %
\_ .
' < 3,050 —=
DON-JO MFG. INC. -
= Al 5/4/04 BLP-I0 [
APPROVED SCALE RELEASE DATE VEIGHT Iﬁ'




v il T |
ZONE | REV | FINISHES: GALIGE :
B3P, 0l & SL 200, 104 |
= 2,000 = |
‘b 174" OFFSET .
750 [ N
[P N :
/ I
/ |
%
= 1.875 ? :
R 1.902 | 7.000
= <
/
Z '
Z
750 Z ’
7
‘l] ) % '
7 / |
: \ A
- 3050 — |
DON-JOMFG.INC.| |
et A 5/4/04 - BLP-207 |




v - T
REVISIONS
ZONE | REV | FINISHES: GALIGE !
BP,OU & SL | 12ga. .104
P D s
4 )
750 ]
ﬁ—o ~
Z
Z
=z
=
=
2
7
Z
7
R 1.902 2 10,000
=
Z
Z
Z
Z
Z
L
7150 ?
\i’ (") ?
‘ %
. A
' <— 3. 250 —=
DON-JO MFG, INC. -
= Al 5/4/04 BLP-210 "
APPROVED SCALE RELEASE DATE VEIGHT Iﬁ'




¢ - . ’H_
ZONE | REV | FINISHES: 530 GAUGféQQ. 104 :
- 6. 000 =
500 — = U
i Weld Studs 1/4-20 Tap i
Vo (255 ) o
125
¢ T
\_ J
11/32 Clearance J
DON-IO MFG. INC. | _ -
EEEEE AT6304 [T CLP-106 "

| RELEASE DATE

|WEIEHT |SI'ET

1




B

REVISIONS

= 630 GAUGTEQO. 104
10,000 —
—=— . 000 200
Weld Studs 1/4-20 Tap i
e .375 \DW
AN
J
\* 11732 Clearance 20" Uffset
DON-JO MFG. INC.
- Alsmon [ cpllo [

4t




! F

REVISIONS
ZONE | REV | FINISHES: GALGE :
O & SL 12q0.
= 1. 8/5 =
125" OFFSET
i
) 4 N 500 1
D1
\ 4,000
: ﬂ <— 1,000
i

POCKET CLEARANCE .B75"
5.000 \ :@
S~ ¢ 1.4375

46—1.000

V \. J

~—— 3.688 —=

DON-JO MFG.INC. | _
— AL s/1704 |7 ELP-208

APPROVED SCALE | RELEASE DATE |WEIEHT | SHEET




! F

REVISIONS
ZONE | REV | FINISHES: GALGE :
O & SL 12q0.
= 1. 8/5 =
125" OFFSET
i
) 4 N 500 1
D1
\ 4,000
: ﬂ <— 1,000
i

POCKET CLEARANCE .B75"
5.000 \ :@
S~ ¢ 1.4375

46—1.000

V \. J

~—— 3.688 —=

DON-JO MFG.INC. | _
— AL s/1704 |7 ELP-208

APPROVED SCALE | RELEASE DATE |WEIEHT | SHEET




f’:;”’<+——1.ooo

O
\. Y,

~—— 3.688 —=

DON-JO MFG. INC.

; - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
DU & SL [2gqa. .104
= 1.875 =
125" OFFSET
i |
} 4 N 500
D1
POCKET CLEARANCE .B75" . | <

- A Tss1704 7T ELP-208P ]r
- - i A




f’:;”’<+——1.ooo

O
\. Y,

~—— 3.688 —=

DON-JO MFG. INC.

; - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
DU & SL [2gqa. .104
= 1.875 =
125" OFFSET
i |
} 4 N 500
D1
POCKET CLEARANCE .B75" . | <

- A Tss1704 7T ELP-208P ]r
- - i A




v - W
REVISIONS |
ZONE | REV | FINISHES: GALGE : |

530 [2ga. . 104
~ 11.250 = .
/50 = '
375" X 1/4-20 500
W WELDED STUDS ‘17 |
(W ) |
1,688 |p=xt—- - - - - - - - 2 ) "
.1875" |
4& \— ) J OFFSET
<—— 3,600 —= —=— 3,690 —= |
—=— 3,000 —= !
440 = = = = 440

DON-JO MFG. INC. | '

EEEEE Al ssg04 | FLP-111 "
- N i |




v - W
REVISIONS |
ZONE | REV | FINISHES: GALGE : |

BP & DU [2qa. . 104
~ 11.250 = .
/50 = '
375" X 1/4-20 500
W WELDED STUDS ‘17 |
(W ) |
1,688 |p=xt—- - - - - - - - 2 ) "
. 1875" .
4& \— ) J OFFSET
= 3,600 —= —— 3,690 —= |
—=— 3,000 —= !
440 =~ = = 440

DONJOMFG.INC. | |

EEEEE Al ssg04 | FLP-21I "
- N i |




—

v = P T
ZONE | REV | FINISHES: GAUGE:
630,00l & SL [2ga. . 104
- 2,625 ——
L 1,875 =
O )
¢ D Il
2 625 —=
= 1.875 = "
T 85— = |
13 51 438 7.000
RECEIN
375 1” O i
2,500
J D Il
| y
800 = =
DON-JO MFG. INC. | _
~ AS1004 77 GLP30TLER [
APPRINVED SCALE RELEASE DATE WEIGHT F‘r




v - T

—

REVISIONS
ZONE | REV | FINISHES: GALIGE:
630,00 & SL [2ga. . 104
~— 2,625 —
= 1875 =
(| - N 800
2 625 — 4§
I
= 1.875 |=
L 7 .000 = —- .875
1\ | — B1.438
375 X
I r
2,500
I D
=~ 800
375" [FFSET
DON-JO MFG. INC.
~ AS1904 [T GLP30T-RHR [
APPROVED SCALE RELEASE DATE WELIGHT ET




v - "

ZONE | REV | FINISHES: BP ) DU & SL GAIJG]-E4:-9Cl | | 075 I

=63 = 6. 000 = 375 .

yjy C'SINK FOR #8 SCREW T |

0 0 ()

¢ - 3875 —=1 875 [F ;
375

<

W 4 ™\ W | 250 :

L2l o o o |68 1 |
4& 3,000 ¢ |

| 625 = = ;

DON-JOMFG.INC. | ] |

***** Al 52804 | ILP-206 " |

= = T |




v - T
REVISIONS |
ZONE | REV | FINISHES: GALUGE : |

BP,DU & SL l4ga. 075
= 12,000 — |
L‘ ‘ = = 375
63 ..o 0 0 0 | L I
g5l ls- 2,125 —
| . N 250 <
0
1jSO o, Q Q .5¢88 =@5 |
@. 250 . ‘J B

- 5,000 - |
DON-JOMFG.INC. | '

***** MM sema 77 ILP212
- = P~ T T l




v T
ZONE | REV | FINISHES: 630 GAUGEl=290I o4
= 10,000 =
—=- 500 500

WELDED STUDS 1/4-20 Tap ‘t
z‘x o @ No- )
(=0 370 vy

- . W

LAY

[UARRVARRRARRRRRRRRANS

\.

J

6—3.063—4

DON-JO MFG. INC.

"6/10,04

| RELEASE DATE

"KLP-110-630-LHR |

| | T

r




_E

v LT
ZIE | R N 6530 GAUGlEégo. 104
— 10.000 =
S00 —=— = oo
WELDED STUDS 1/4-20 Tap i;
N G \\ﬂ
1?)0 //////////////////////// ///////////////////// .
_J
- 3,063 —=
DON-JO MFG. INC.
roe A 5/1|9£1 |KLP 11(|)E§3O RHR |

r




! - -
REVISIONS
ZONE | REV | FINISHES: GALGE :
BP DU & SL [2ga. 104
<=—— 3,688 ——=
A - ~ -
500
D3
= 1.8/5 =
R 1.902
8. 000
875" packeT —
CLEARANCE
*j —- 1,000
O
i \_ Y,
= |,8/5 ~=

DON-JO MFG. INC.

EEEEE

B

DATE:

6/13/04

PART NO.

LELP-208

—

|E.EASE DATE

|WEIEHT |SI'ET




v - o
ZONE | REV | FINISHES: BP ) DU & SL GAIJ1[3E2:90 | | 1 04 |
- 7.000 — |
- N
250" OFFSET / ﬂ‘” :
i * , L ogrs <
T s AN y, l
\_ y, |
| BZPBB = = o0
| R1 . 125 |
DON-JOMFG.INC. | ) :
‘‘‘‘‘ AT5o804 77 LP20T [
= = = T T .




v = T
REVISIONS |
ZONE | REV | FINISHES: GALGE: |

526,BP, 0L & SL 12qa. . 104
= 11.000 - |
4 N |
250" DOFFSET / \ |
I - - 625  3.000 .
1,188 I.‘_I\ 4 Dﬁj I j
\Lv_-l / 7\ J, |
[“ _ I .
438 —— Rl/.813 e

1,125 = - :
DON-JO MFG. INC. | '
‘‘‘‘‘ A | 5/28/04 Lp211 [ |
— - i |




v = T
REVISIONS |
ZONE | REV | FINISHES: GALGE: |

526,BP, 0L & SL 12qa. . 104
= 11.000 - |
4 N |
250" DOFFSET / \ |
I - - 625  3.000 .
1,188 I.‘_I\ 4 Dﬁj I j
\Lv_-l / 7\ J, |
[“ _ I .
438 —— Rl/.813 e

1,125 = - :
DON-JO MFG. INC. | '
‘‘‘‘‘ A | 5/28/04 Lp211 [ |
— - i |




v =

—

ZONE | REV FINISHE&DU)P[: 2 S| ’|3]25u
B. 875
I
P 0 0
4 1,500
525 ® O
i P
. 375 WELDED STUOS
B [ B 438
H 150
i A

.3413 ‘J 1500 L |

DON-JO MFG. INC,

PART NO

= Al"s/28/00 | LP-2878

APPROVED SCALE RELEASE DATE




: - =
ZONE | REV | FINISHES: DU ) SL & 630 [3A|J[3E1:290 | | 104 |
W - 7.000 = |
T 7o ) |
5 Boc {X ] _ _4 — 350" souaRe |
1,875 #1.438 [ 1 Dé I .
L C | 875 750 |

i . ) .
] } <

/50 —= -

. 3500 —= R . 37/5 |
T | 875 = 375 .
| J |
DON-JO MFG.INC. | |
***** A58 [T L3070 [
- S il il |




v - ]
ZONE | REV | FINISHES: DU & SL 1290 | 1 04
T 12,000 _
T o i
2.625 l{x ¢ J — 350" SOUARE :
1,875 0 1,438 <9J Efi W
‘L $ | ‘b 875 ) 750
} ) <
750 —= -
- 5.000 -~ R 375 |
T 1,875 = j75 |
I ¢ '
DON-JO MEG. INC. _ ) '
i AT 6/3/04 LP-312 "
S v A l




v - ]
ZONE | REV | FINISHES: DU & SL 1290 | 1 04
T 12,000 _
T o i
2.625 l{x ¢ J — 350" SOUARE :
1,875 0 1,438 <9J Efi W
‘L $ | ‘b 875 ) 750
} ) <
750 —= -
- 5.000 -~ R 375 |
T 1,875 = j75 |
I ¢ '
DON-JO MEG. INC. _ ) '
i AT 6/3/04 LP-312 "
S v A l




v - ]
ZONE | REV | FINISHES: DU & SL 1290 | 1 04
T 12,000 _
T o i
2.625 l{x ¢ J — 350" SOUARE :
1,875 0 1,438 <9J Efi W
‘L $ | ‘b 875 ) 750
} ) <
750 —= -
- 5.000 -~ R 375 |
T 1,875 = j75 |
I ¢ '
DON-JO MEG. INC. _ ) '
i AT 6/3/04 LP-312 "
S v A l




v - ]
ZONE | REV | FINISHES: DU & SL 1290 | 1 04
T 12,000 _
T o i
2.625 l{x ¢ J — 350" SOUARE :
1,875 0 1,438 <9J Efi W
‘L $ | ‘b 875 ) 750
} ) <
750 —= -
- 5.000 -~ R 375 |
T 1,875 = j75 |
I ¢ '
DON-JO MEG. INC. _ ) '
i AT 6/3/04 LP-312 "
S v A l




. - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
DU & SL [2ga. . 104
~— 2,655 —=
~— 438 .
. 1\ ] |
POCKET
ELEAR{}NEE
1,763 875 :
875+ |-
10,000 <
1500
| I |
\_ DJ [ I
}
DON-JO MFG. INC. '
EEEEE Aoz [77OMELP210 [
- SN s e |




. - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
DU & SL [2ga. . 104
~— 2,655 —=
~— 438 .
. 1\ ] |
POCKET
ELEAR{}NEE
1,763 875 :
875+ |-
10,000 <
1500
| I |
\_ DJ [ I
}
DON-JO MFG. INC. '
EEEEE Aoz [77OMELP210 [
- SN s e |




v - T
REVISIONS |
ZONE | REV | FINISHES: GALIGE : |

630 [20a. .104

= 11,000 - :
4 N |
200" OFFSET W '
q L 3.000 |
1,188 J . j |
4x \L!_'I D) 4X |
43— e |
DON-JOMFG.INC. | |
‘‘‘‘‘ A 5/28/04 MLP-111 [ | |

|E.EASE DATE

|WEIE |SI'ET




v ~ A
ZONE | REV | FINISHES: BP) DU & SL 1290 | | 104
= 11.000 —
4 )
200" OFFSET *
! S 3,000
1,188 S I j
4x \L!_'I D) 4x
438 —= LF 438
DON-JOMFG.INC. | )
***** A | 5/28/04 MLP211 [

|E.EASE DATE |WEIE |SI'ET




REVISIONS
ZONE | REV FINISHES: GALUGE:
OU & SL [2ga. 104
- 3,575 —=
2,063 |
=935~
] ‘ ‘ FD ™\ 6@?8 5@;2 — 1 605 =
| 210 i
=
| | 1.080}= e
| | L~ P1.375 - 3575 o
I |
| | = 5.500 -
| | 512 658
| | @1.605 | 3 550 W xt
330 ﬁ
| | I:IE } l ;
7 ‘ ‘ — 7 R.168
1330
DON-JO MEG. INC.
"0 R Al 4/1/11 NELP-207
EEEEE ‘EELEASE DATE WEIGHT ‘SHEET

ﬁ




| RELEASE DATE

|WEIEHT |SI'ET

¢ - . ’H_
ZONE | REV | FINISHES: 530 GAUGféQQ. 104 :
- 6. 000 =
500 — = oW
i Weld Studs 1/4-20 Tap i
oo (T — 3375 ) o
500
| i T
\_ J
11/32 Clearance J
DON-IO MFG. INC. | _ -
EEEEE ATB3/04 [T NLP-106 "

i




B

REVISIONS
REV | FINISHES: GALIGE :

630 12q0. 104

10.000 —

~— 000 000
Weld Studs 1/4-20 Tap W

e 375 ) i

T

J
\L—— [

/32 Clearance 200" Uffset

DON-JOMFG.INC. | )
‘‘‘‘‘ Al 5/6/04 | NLP-110 (

APPROVED SCALE | RELEASE DATE | | SHEET

s




| RELEASE DATE

|WEIEHT |SI'ET

__¢ - . r;_
ZONE | REV | FINISHES: DU)PE ¢ < GAUGféQO. o4 I
- 6. 000 =
500 = = 00
i Weld Studs 1/4-20 Tap i
— (T —— 3375 ) o
500 1 R ,,
250" Offset
: . y
11/32 Clearance J
DON-JO MFG. INC. | -
EEEEE ATB/3/04 [T NLP-206 "

i




B

REVISIONS
REV | FINISHES: GALIGE :

OU,PC & SL| 12ga. .104

10,000 —
—— 000 o0
Weld Studs 1/4-20 Tap VV

e 375 \DW .

LA

J
\* 11/32 Clearance 200" Offset
DON-JO MFG. INC.
- Al 5/6/04 W'FWNLPI&ZE}O i

4t




. - -
ZONE | REV | FINISHES: DU & SL GAIJ[3E1:290 | | 104 |
ﬂz -~ 3,625 —=
I 605 ( ! |
4@ _D Il |
3,500 i — 1,750
1 1.875 = r W
i /) | . 9‘ .1,125 <
B 1.438 —T\_ ) ¢ |
875 —
.750_B '6_ |
D Il |
. I i '
DON-JOMFG.INC. | ) :
***** A"es04 7 OLP2650 [ |

| RELEASE DATE | WEIGHT | SHEET




—

v = P T
SEEL T 0 & SL o0, 104
¢ - 3,625 —=
ﬂ‘ 625 [ I
4 [ |
- — 1,750 |<»
— 1.875 =
j I | ¢
| 7000 1.375
O 1.439 /"’\ ) 4
875 —
750 = =
0
\_
DON-JO MFG. INC. |
= A" 32008 0 OLP-2651 [ |




v =

REVISIONS

ZONE | REV | FINISHES: GALIGE ¢

BP,CP,DU,SL & 630 [2q0. .

/7.000 —

Rl 78 L—— 350" SHUARE

H h3ls 4}50

—

b
\R 375

1. B75 750
T 1

}
DON-JO MFG, INC, o
i A| 5/28/04 | OSLP-207




—

¢ i T
ZONE | REV FINISEEE):) [:P | Dl—' ) SL & 630 GAIJGE1 290 | ] 04
10,000 =
v ~
T 750 . —
— 350" SHUARE
L % i R1.781
| .B75 ——t
J] 1,313 750
Yll _/
b
750 =
R 375
«T | .B75 jfo
' !
DON-JOMFG.INC.| _
e Al 5728704 | OSLP-210 Fﬁ




v =

REVISIONS

ZONE | REV | FINISHES: GALIGE ¢

BP,CP,DU,SL & 630 [2q0. .

/7.000 —

Rl 78 L—— 350" SHUARE

H h3ls 4}50

—

b
\R 375

1. B75 750
T 1

}
DON-JO MFG, INC, o
i A| 5/28/04 | OSLP-207




v =

REVISIONS

ZONE | REV | FINISHES: GALIGE ¢

BP,CP,DU,SL & 630 [2q0. .

/7.000 —

Rl 78 L—— 350" SHUARE

H h3ls 4}50

—

b
\R 375

1. B75 750
T 1

}
DON-JO MFG, INC, o
i A| 5/28/04 | OSLP-207




—

¢ i T
ZONE | REV FINISEEE):) [:P | Dl—' ) SL & 630 GAIJGE1 290 | ] 04
10,000 =
v ~
T 750 . —
— 350" SHUARE
L % i R1.781
| .B75 ——t
J] 1,313 750
Yll _/
b
750 =
R 375
«T | .B75 jfo
' !
DON-JOMFG.INC.| _
e Al 5728704 | OSLP-210 Fﬁ




—

¢ i T
ZONE | REV FINISEEE):) [:P | Dl—' ) SL & 630 GAIJGE1 290 | ] 04
10,000 =
v ~
T 750 . —
— 350" SHUARE
L % i R1.781
| .B75 ——t
J] 1,313 750
Yll _/
b
750 =
R 375
«T | .B75 jfo
' !
DON-JOMFG.INC.| _
e Al 5728704 | OSLP-210 Fﬁ




v ~ A
REVISIONS
: GALIGE :
ZONE | REV | FINISHES 630 IZQOI I104
- 11,000 -
o 1,250
| W r 313" x 500" Welded Pin
) 4 J/ )
i i / \_
3,000 W p > P 250 Offset
1,188 \ S B
i 4& U ~ 7\ =)
R1.813 4&
- 438 / 438
DON-JOMFG.INC. | )
***** Al 5/28/04 PLP-111 [

|E.EASE DATE

|WEIEHT |SI'ET




v ~ A
REVISIONS
: GALIGE :
ZONE | REV | FINISHES 630 IZQOI I104
- 11,000 -
o 1,250
| W r 313" x 500" Welded Pin
) 4 J/ )
i i / \_
3,000 W p > P 250 Offset
1,188 \ S B
i 4& U ~ 7\ =)
R1.813 4&
- 438 / 438
DON-JOMFG.INC. | )
***** Al 5/28/04 PLP-111 [

|E.EASE DATE

|WEIEHT |SI'ET




v = T
REVISIONS
ZONE | REV | FINISHES: GALGE :
526,BP, DL & SL 12ga. . 104
- 11,000 —
. 1,250
| ‘17 r 313" x 500" Welded Pin
T 4& f J/ ~N
3,000 W / > l P 250 Offset
1,188 - / i
j” 4& U ~ 7\ Dj
R1 813 4&
- 438 / 438
DON-JO MFG. INC. |
‘‘‘‘‘ A 5/28/04 PLP-211 [ |

|E.EASE DATE

|WEIEHT |SI'ET




v = T
REVISIONS
ZONE | REV | FINISHES: GALGE :
526,BP, DL & SL 12ga. . 104
- 11,000 —
. 1,250
| ‘17 r 313" x 500" Welded Pin
T 4& f J/ ~N
3,000 W / > l P 250 Offset
1,188 - / i
j” 4& U ~ 7\ Dj
R1 813 4&
- 438 / 438
DON-JO MFG. INC. |
‘‘‘‘‘ A 5/28/04 PLP-211 [ |

|E.EASE DATE

|WEIEHT |SI'ET




v = T
REVISIONS
ZONE | REV | FINISHES: GALGE:
630 12g0. 104
- 11.000 —
. 1 250
| W I<> 313" x 500" Welded Pin
A 4 J / ~
4& E / N\
3,000 W p y P 250 Offset
1,188 \\; / B
i U my
b ]
. 438 439
DON-JO MFG. INC. |
‘‘‘‘‘ A 5/28/04 PMLP-111 [ |

|E.EASE DATE |WEIE |SI'ET




v = T
REVISIONS
ZONE | REV | FINISHES: GALGE:
630 12g0. 104
- 11.000 —
. 1 250
| W I<> 313" x 500" Welded Pin
A 4 J / ~
4& E / N\
3,000 W p y P 250 Offset
1,188 \\; / B
i U my
b ]
. 438 439
DON-JO MFG. INC. |
‘‘‘‘‘ A 5/28/04 PMLP-111 [ |

|E.EASE DATE |WEIE |SI'ET




v = T
REVISIONS
ZONE | REV | FINISHES: GALGE :
526,BP, DL & SL 12ga. . 104
- 11,000 —
. 1,250
| ‘17 r 313" x 500" Welded Pin
T 4& f J/ ~N
3,000 W / > l P 250 Offset
1,188 - / i
j” 4& U ~ 7\ Dj
R1 813 4&
- 438 / 438
DON-JO MFG. INC. |
‘‘‘‘‘ A 5/28/04 PLP-211 [ |

|E.EASE DATE

|WEIEHT |SI'ET




v = T
REVISIONS
ZONE | REV | FINISHES: GALGE :
526,BP, DL & SL 12ga. . 104
- 11,000 —
. 1,250
| ‘17 r 313" x 500" Welded Pin
T 4& f J/ ~N
3,000 W / > l P 250 Offset
1,188 - / i
j” 4& U ~ 7\ Dj
R1 813 4&
- 438 / 438
DON-JO MFG. INC. |
‘‘‘‘‘ A 5/28/04 PLP-211 [ |

|E.EASE DATE

|WEIEHT |SI'ET




' v - T
! REVISIONS
ZONE | REV | FINISHES: 530 GAUGE:]-290I I104
I
| ~ 11.750
|
f N
|
| L
250"
‘ f ) " OFESET
| 3.563 _
| J/
i
\ @ i 1.000 ) O i
» ) = :
750 —= R / ]
| = 1,500 |=-
8.750
I
250
' ,_;A f
—
|
)
|
| DON-JO MFG. INC. | _
| = D.R, Al 2/13/09 © ULP-111 rﬁ
| SCALE TELEASE DATE WETGHT FT




—

v = T
REVISIONS
ZONE | REV | FINISHES: GAUGE:
626, BP, DU & SL [2qa. . 104
- 11.750
4 N
| 250"
‘ f ) <" OERSET
3,563 N —
W L/
4 ~N W
\ \@j HO L = ) 625
750 —e] b p !
= 1,500 |~
8.750
1250
,_;A i
—=
]
DON-JO MFG, INC. -
=R Al 2/13/09 ULp21l [r
SCALE RELEASE DATE VEIGHT FT




! - -
ZONE | REV | FINISHES: 630 GAIJGE1:290 | | 1 04 |
T 5.000 - |
T g0 ) |
5 1ot R1.781}— 350" SOUARE |
1,875 D/ |
J; 0 1.313 ——}50 |
N )
4x 4x "
750 — =
R 375
«T 1.875 = 375 |
| : :
DON-JOMFG.INC. | ) :
‘‘‘‘‘ AlTso800a [T SLP-106 [ ]
- S il il |




! - -
ZONE | REV | FINISHES: 630 GAIJGE1:290 | | 1 04 |
T 5.000 - |
T g0 ) |
5 1ot R1.781}— 350" SOUARE |
1,875 D/ |
J; 0 1.313 ——}50 |
N )
4x 4x "
750 — =
R 375
«T 1.875 = 375 |
| : :
DON-JOMFG.INC. | ) :
‘‘‘‘‘ AlTso800a [T SLP-106 [ ]
- S il il |




! - -
ZONE | REV | FINISHES: BP ) DU & SL [3A|J[3E1:290 | | 1 04 |
T 5.000 -~ |
T g0 ) |
5 1ot R1.781}— 350" SOUARE |
1,875 D/ |
J; | 0 1.313 ——}50 |
\.. J
; 4x "
750 — =
R 375
«T 1,875 = 375 |
| : :
DON-JOMFG.INC. | ] :
‘‘‘‘‘ A58 [T SLP206 [ ]
- S il il |




! - -
ZONE | REV | FINISHES: BP ) DU & SL [3A|J[3E1:290 | | 1 04 |
T 5.000 -~ |
T g0 ) |
5 1ot R1.781}— 350" SOUARE |
1,875 D/ |
J; | 0 1.313 ——}50 |
\.. J
; 4x "
750 — =
R 375
«T 1,875 = 375 |
| : :
DON-JOMFG.INC. | ] :
‘‘‘‘‘ A58 [T SLP206 [ ]
- S il il |




' v - T
! REVISIONS
ZONE | REV | FINISHES: 530 GAUGE:]-290I I104
I
| ~ 11.750
|
f N
|
| L
250"
‘ f ) " OFESET
| 3.563 _
| J/
i
\ @ i 1.000 ) O i
» ) = :
750 —= R / ]
| = 1,500 |=-
8.750
I
250
' ,_;A f
—
|
)
|
| DON-JO MFG. INC. | _
| = D.R, Al 2/13/09 © ULP-111 rﬁ
| SCALE TELEASE DATE WETGHT FT




—

v = T
REVISIONS
ZONE | REV | FINISHES: GAUGE:
626, BP, DU & SL [2qa. . 104
- 11.750
4 N
| 250"
‘ f ) <" OERSET
3,563 N —
W L/
4 ~N W
\ \@j HO L = ) 625
750 —e] b p !
= 1,500 |~
8.750
1250
,_;A i
—=
]
DON-JO MFG, INC. -
=R Al 2/13/09 ULp21l [r
SCALE RELEASE DATE VEIGHT FT




ZONE | REV | FINISHES: 630) BP/ Du) SL 1190 | 135
GRAIN WITH THE 5.1875"
0. 168 =
)
3,500

WSLP-104

WWWWWW

EEEEE




ZONE | REV | FINISHES: 630) BP/ Du) SL 1190 | 135
GRAIN WITH THE 5.1875"
0. 168 =
)
3,500

WSLP-104

WWWWWW

EEEEE




DVG NO

REVISIONS
ZONE | REV FINISHES: GALUGE:
0’0
5,500
5.125
3,125
= 1,750 T» 313 —1.125~
375 = 1963 1813
T g . b - T
6 @H 1,125 i = = 313
2.063 ﬁ@
' 1,625
3.000 %
4,750 4.313
(o)

% 375 ﬂ
o %7 | 1.380
I : or |

<H2‘063ﬂ>J
DON-JO MFG. INC.
Y A 8/4/15 BP-1-23-LHR

ﬁ




DVG NO

REVISIONS
ZONE | REV | FINISHES: GAUGE:
620
5.500
5.125
3.125
e 313 1.750 (=
~ 813 563 N
T s P il
‘ Ze
S AN L HO o 6 © T
© } 2.083
e }
i 3.000
4313 4 750
hrrq ° |
1375
1.380 ‘ © | 1.700
i \ ; [ \ |
2,063
DON-JO MFG. INC.
=" D.R. Al 84715 BP-1-23-RHR

ﬁ




DVG NO

REVISIONS
ZONE | REV | FINISHES: GALUGE:
6’6
7.1889
5.750
o 4,050 ——=
~— 2.813
= 1.438 T
I
© 6 % © o Lo 1;10
| f
813 .500
313
i
of -
280
sRirem w7
©)
313 GLL
2.375 —=
DON-JO MFG. INC.
DESIGNER D ‘ R ‘ A ‘ 8/1 2/1 5 BP_2_34

ﬁ




—

v = T
REVISIONS
ZONE | REV | FINISHES: GAUGE!
R. 188
-~ 625 L i
t /@J ] 938
o A
1,688 @.312 s
L -~ 3,525 —=
950 ——=1 | ‘ = 1.230 R. 125
.500 = ~ -4;11 :
B %JR\ © O 1.071 !
1,685 174=20 SCREW o ' | 688
i B 1,685 @@F"'l
4%z 1.664 ~ 441
= 125 -
35 [T 20621 ogg
L G om0 4 :
878 ] O e 1,075
P32~ " gpa = bl [}
196
| DON-JO MFG., INC., -
== D.R. Al 4/7/10 | [IRP-1 ’“‘77




v - i

v

REVISIONS

ZONE | REV | FINISHES: GALIGE!

%.312 | e }
<~ 3,605 —=
=1 1.230 R, 125
.500 = 441
& S
270 1,071
C’%INK Fm\\é r© o 1,688
174220 SCREW _ — b $
#'
Jo e
T 1.665
L# @i@ 4
4| = -
325 ——2.616
i L 298
629 e
| ¥
= |,664 k= 196

DON-JO MFG. INC, -
= D.R. Al 477710 | [IRP-2

SCALE RELEASE DATE WETGHT FET




REVISIONS

ZONE

REV

FINISHES:

JAMB LEAF

4,563

GALGE:

605,613,626

DOOR LEAF

3.875

5/16" THICK

DON-JO MFG. INC.

0
i 313\@260

C'SINK FOR

813 1/4-20 SCREW

“ DR,

DDDDD

PPPPPP

EEEEE

ﬁ




REVISIONS

ZONE

REV

JAMB LEAF

FINISHES:

605,613,626

GALGE:

DOOR LEAF

@260/31}>

C'SINK FOR
1/4-20 SCREW

813

3.875

4,563

5/16" THICK

DON-JO MFG. INC.

“ DR,

DDDDD

PPPPPP

EEEEE

ﬁ




REVISIONS
ZONE | REV | FINISHES: GALUGE:
626 174"
- 4,250
375 2.313
| ‘T
}
375 2313 @
-~ 438
i
o ©° o ©9fim
}
- 450 — =
DON-JO MFG. INC.
© DR AL o615 | TP-34-626

EEEEE

ﬁ




B e

REVISIONS
ZONE | REV | Finishes: DATE APPROVED

§05-612-613-626-60

5500 - \ ¢
1 /74-20 THREAD

DON-JO MFG. INC.

EEEEE

oo |7 0 "

| RELEASE DATE | WEIGHT | SHEET

H

I




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

b03,606.612,613,628,629,630

/ - 5.500
1 /74-20 TAP

DON-JO MFG. INC. |




—

v - T
ZONE | REV | FINISHES: DATE APPROVED
605,606,613,628,628,630
~ N
3.373
2\ N L
= 8,000 =
)™
b
i
1/4-20 TAP
2 PLES,
DON-JOMFG. INC. |
e A  10/0 e FIL30 ’mﬁ
PPROV SCALE RELEASE DATE WEIGHT F‘r




—

v - T
ZONE | REV | FINISHES: DATE APPROVED
405, 606,613,628, 628,60
~ N
3,375
2\ 2 L
- 12,000 -
i
)70
i }
. 1.625
1/74-20 TAP
2 PLLS.
DON-JO MFG. INC.|_
= N HIS) "
APPROVED SCALE RELEASE DATE WEIGHT FT




v =

v

REVISIONS

ZONE | REV | FINISHES: DATE

APPROVED

605,606,613,628, 629,630

)

8.000

\
o,

) 1,000

bl
M R .875 2?00

\* 3/8-24 Tap

2 Plcs,
DON-JO MFG. INC. |
= Al 271004 | ELS "
APPROVED SCALE RELEASE DATE WEIGHT FT




v =

REVISIONS

ZONE | REV | FINISHES: DATE

APPROVED

B05,606,613,628,629,630

o)

10.000

—

!
:m (&R 875 Q'TOO

\— 3/8-24 TAP

2 PLCS,
DON-JO MFG. INC,

e Al 2710004 | HLIST T
APPROVED SCALE RELEASE DATE WEIGHT FT




v ~ ]
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
605,606,613,628,629,630
) / \
4,000
/ I
= 12.000 =
i <
) 1.000
. |
M 5 g5 1.$50
X 3/8-24 TAP |
2 PLCS. .
DON-JOMFG.INC. | '
mmmmm A2/ 10/04 #115 R

SCALE | RELEASE DATE |WEIEHT




v - W
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !

605,606,613, 628,629, 630
4,000
< 18.000 =
{ <
) 1,000

— |
t 3/8-24 TAP |
2 PLCS, !
DON-JOMFG.INC. | |
EEEEE Al 2710004 | #1159 e
— i il A |




—

v F T
ZONE | REV | FINISHES: DATE APPROVED
605, 606,613,628,629,630
4,300 \
/\ @
= 9.000 =]
i
) 1,000
] }
M R 875 2?00
\— 3/8-24 TAP
2 PLLY.
DON-JOMFG. INC. |
e Al Tg2o11 [T KL "
PPROV SCALE RELEASE DATE WEIGHT F‘r




l - -
REVISIONS |
ZONE | REV | FINISHES: GALIGE : |
605,613,619,620,626
= #1410 = |
<
110 |
i ) ) l |
575 35— )
I N 8-32 Tap |
DON-JOMFG.INC. | '
EEEEE A 2508 [T #12 -
i - I R :




: - =
REVISIONS ,
ZONE | REV | FINISHES: GALIGE : |
b05,613,619,620,626
— @1.705 =~ |
\__J )
085
i ) . i '
713 565 —= ! |= )
¢ 8-32 Tap
DON-JOMFG.INC. | '
EEEEE A 2508 [T #12 -
i - i i i :




v = T
— FIBNOIETEBE,612,613,628,629,630 - =
- 5.563 —
[[X / 750
D 250 I
. 2 563 4&
Jz o 1. 0b3
/ . 5,500 —
1 /4-20 TAP
DON-IO MFG.INC. | _
e A0 [T 44 -

| RELEASE DATE

| WEIGHT | SHEET

I




v = T
= FIEBE?EEE,BQ,BB,628,629,630 - —
- 7.000 —
Z‘X / 750 \
o 050 & b
$ | SRR 1] 1.063
K< 5000 _
L /4-20 TAP
DON-JO MFG. INC. |_ m
mmmmm ATy T #
" - i N

I




—

v i T T
=1 FI%IO?E[;OIB,MZ,613,628,629,530 - ——
— 3750 —
1& / 750 \
o 250 - ] . Vo
$ N R 563 | 1,063
K< 3.000 N
1/4-20 TAF
DON-JOMFG.INC.| i}
e N7 #16
APPROVED STALE @ WE IGH SECT




v = T
1 FBIBE%EO%,612,613,628,629,630 — —
= 7.000 —~
ZF / 750 \ :
2250 , | ] <
$ . R 563 B -
[< 10,000 . ¢ |
1/74=-20 TAP
DON-JO MFG.INC. | |
***** ATy T A R
= S i e .




¢ DWG NO |gH ’RE,—
REVISIONS
ZONE | REV | FINISHES: GALIGE:
630 l1ga. 125"
< 5,000 -
0
A > l:) .257 - 5.000 =
i
¢ |
5,000 3.500 965
‘

~— 4. 375 ——=

CUT OUT NEEDED
3.875" X 4.375"
~—— 3.000 ——=
DON-JOMFG.INC. | _
) Al tistzio | #1846 F
SCALE ’m WEIGHT SHEET




v = T ]
ZONE | REV | FINISHES: 630 DATE APPROVED !
CUT OUT NEEDED |
23/4" X 3 3/4" |
- 3,425 ——= |
I K :
(/; |
<

4,790 = = 705

N |
\ ) |

DON-JO MFG. INC.

g

EEEEE

410

H

i

| RELEASE DATE

R

|WEIEHT |SI'E




—

v ~ T
ZONE | REV | FINISHES: 630 DATE APPROVED
CUT OUT NEEDED
R B X 71D € 7L
375
| 375 = =
o o k
—
4.790 B [ — =725
3,426
® 185 \
C'SINK  FIR _ ),
#5 SCREW o o r
DON-JOMFG.INC.| _ ]
i AT v T 3R




v - W
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
630
x d] CUT OUT NEEDED:
Al ¢ 185 00 ’ :
438 N PR - 375 WIDTH: 2.54

#6 SCREW

HEIGHT: 3.53" :
4,000 ——
DEPTH: 800" |
10,000 ) e
| < 800 <
1,800 |+ T :
3,530 : : 3.530
j e e j -
) SR R { .
| o o .
l

DON-IO MFG.INC. | e
EEEEE AT [T S R

|E.EASE DATE

|WEIEHT |SI'ET




v = T
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
b30
i
O_
- L 500 f
500 ~—~ . 120 .
4 000 CUTOUTNEEDED
WID11L: 3.1
HIEIGIIT: 3 850"
® .180 DEPTH: 875"
C’' SINK FOR
16,000 #6 SCREW
@
-=1,710 = —= ~ 1,029
N |
3.438 3,800
l \, J 1
] R 313 f
1.975 1,825
| ° ° b
DON-JO MEG. INC,
= N - H80 i




REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
030
[} © ©
~<— 3,500 —=
@ .200
C’ SINK FIOR _ _
#8 SCREW B 16.250 -
16,250 ©
125 0
z 1.250
© ©
| | £5O
1,000 '
i \ J i
} DON-JO MFG. INC.,

SIZE

DESIGNER

471704

APPROVED

SCALE

PART NO.

#1866

-

|E.EASE DATE

WEIGHT SHEET




v - S
ZONE | REV | FINISHES: 6 3 O DATE APPROVED
= 2,000 =
j
1,063 — ¢ 1,250 = 3. /00 —=
3., /a0
| / 665
} b
v ) 123 D=
DON-I0 MFG. INC. | _ _
. Al 4104 |7 #1374 -

| RELEASE DATE

|WEIEHT |SI'E

I




I T
REVISIONS
: GALIGE :
ZONE | REV | FINISHES 630 1 190 . ]25//
~— 3,000 —=
= 1,500 =
] ! . S
— f 4,500
) - 3,334
4,500 o
#2125 i Vi 06
z‘x }
v - ’ o8 560 —=— =
DON-JO MFG. INC. |
o Al 28/12 #1875
SCALE ’ms VEIGHT SHEET




e

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED

3, 000
J; 8 R . /o0 8

T ///;%{\ 1$oo ‘::\\\

N | 1,063
| ]
= 3.000 —
1 /4-20 TAP

DON-JO MFG. INC. | _

APPROVED SCALE RELEASE DATE WEIGHT SHEET

I




B

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED

b03,606,612,613,628,629,630

i
T ///,, 1000*\\\\
|
3$OO : ﬁg;\_R o h : 1263

Z/< 10.000 - ¢
1/4-20 TAP

DON-JOMFG.INC. | ]
mmmmm AT T i

APPROVED SCALE | RELEASE DATE | WEIGHT | SHEE

I




v = T T
S 605, 56, 612,613,628, 60,60 T
i
T / 1,000 \
3.000 !
s R 750 s
[ 0b3
- 12,000 ~
| /4-20 TAP

DON-JO MFG. INC.

PART NO.

EEEEE

45/

ll

i

H

| RELEASE DATE | WEIGHT

|SI'ET

1




v = T T
S B05.806, 612,613 608,620,630 T
i
[F / 1,000 \
3.000 } i
$ : R 750 | 1053
Z - 18.000 | ¢
/420 TAP
DON-JOMFG.INC. | H
- Aresp I @ F

1




v - T
ZONE | REV | FINISHES: 605 | 6 1 3} 628} 630 DATE APPROVED !
375 |
| W ’
-0 & R 750 | \\ :
. | 840 |
i <+

l74=20 TAP

i |
[ 250 :
b 5.375 — |
DON-JOMFG.INC. | |
EEEEE AT wom T # R
- = .




v = T ]
ZONE | REV | FINISHES: 605} 613} 628} 630 DATE APPROVED !
375 |
% W ’
2,000 K 4& \\ W |

_/ = 3,000 - !
<«
1/4-20 TAP

W I
1,250 :
b 5.375 — l
DON-JOMFG.INC. | |
EEEEE Ay [T B R
= = = = .




v " T
ZONE | REV | FINISHES: 605} 613} 628} 630 DATE APPROVED !
1375 |
% * ’
/ 4& \ I
2.000 /& \J |
37 o R 750 L 840
_/ = 10.000 J
<
1/4-20 TAP
W |
1,250 |
b 5,375 - |
DON-JOMFG.INC. | |
mmmmm ATy 7T 8 R
= S i el |




DON-JO MFG. INC.

v = " T ]
ZONE | REV : 605) 6 1 3 | 625) 626 DATE APPROVED
[, 000
® 2.000 :
[ .000 :

6 195 4&
C'SINK FOR 4—:
# 10 SCREW

5.500 = !

EEEEE

PART NO.

" 4/27/0

135

| RELEASE DATE | WEIGHT

|SI'ET




¢ |um: NO |SH ’REV—
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED

b5, 613,620,628

® 2.000
[C—)

z{x L
5. 000 >l \\ 1/74-20 TopZx

EEEEE

o 0 "

| RELEASE DATE | WEIGHT | SHEET

H




—

v = T
ZONE | REV | FINISHES: DATE APPROVED
005,613,628,630
—— 450
vz N w
2'$OO ( W R.B651 | 045
174-20 Tap
| | 7
—~ 6.000 =
. 188 e
6.45( =
DON-JO MFG. INC. -
= A T HT "




v = P T

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

B05,613,626,630

v

370 —=— =

—= ~— .875

(~- :\
1/4-20 TAP

DON-JO MFG. INC. | _
= N "

APPROVED SCALE RELEASE DATE WELIGHT SHEET




v = "

REVISIONS
ZONE | REV | FINISHES: GALIGE:
605,613,630
P 1/4-20 Tap
[.730
§.273 6.155
=— 2,755 —=
~— 3,313 —=
DON-JO MEG. INC.
=5 % A aosma |77 #44
SCALE RELEASE DATE VEIGHT Iﬁ-r




-

[T

REVISIONS
ZONE | REV | FINISHES: GALIGE:
630 [3ga. 090
5,500 ————
750 —= |4
C'SINK. —F 6 ©
5.000 BACK SIDE EEEEIQIDE 5.000
( N N\
D o 3.000
] i
| .500 1.000 % ?
4 \
&.750 J .
C’ SINK FOR 1.000
#8 SCREW
FRINT SIDE
DON-JO MFG. INC.
SIZE DATE! FART NO. '
=S A 11/15/07 746 ’m
SCALE RELEASE OATE VEIGHT E‘r




DDDDD

|

|

REVISIONS

ZONE | REV

1 o0

FINISHES:

b0>,013,61Y,020,620

DATE

APPROVED

()

—— | 20U

70[%Q g

DON-JO MFG. INC. |

DDDDD

o

EEEEE

T




DDDDD

REVISIONS

ZONE

REV

| . 00U

FINISHES:

c0a,013,619,620,620

DATE

APPROVED

#0

DDDDDDDD

EEEEEEEEEEEEEEEE

T




OWG NO

REV

REV

3-32 lap —

DON-JO MFG. INC. |

DESIGNER

APPROVED

FINISHES: DATE APPROVED
505,620,625, 626
Aa28/04 | 158 N

SCALE |RELEASE DA WEIGHT

1




DDDDD

A0

REVISIONS

ZONE

REV

284 =

FINISHES:

blo, 040,625,620

DATE

APPROVED

20U

DON-JO MFG. INC.

DATE:

)

EEEEE

T




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

b05,b625,620

1




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

009,675,670

N
| .650
_ @
#8-32 Tap

1,250 ﬂ(' e

***** A 4800 | #64

APPROVED SCALE | RELEASE DATE | WEIGHT |SI'EI'

1




v

|me

H BV

REVISIONS

ZONE

REV | FINIS

605 625,626

DATE

APPROVED

[ 350

A 4/28/04

SCALL ELEASE OATE




¢ e

APPROVED

REVISIONS

ZONE | REV | FINISHES: goe ane 609 612,613,610, DATE
620,626, 628,629,630

15.000 =

3.500

—

‘ ° 0 240J¢o i
' 500
g 7.000 T 7.000 j,
e 5o
DON-JOMFG.INC. |
EEEEE A as2804 | #]0)
- - I




v - W
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
605,606,612,613,628,629,630
- 15,000 —
- 4.750 —te 5,500 - l
; I
o |
0 .250/172750_9 5%0
3,500 O % | <
® 375
o o o I
i
= 7.000 - |
500 —= = |
WITH #10 HANDLE
DON-JOMFG.INC. | |
EEEEE A Ta2004 [T #7010 -
— il i i :




v - W
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
605,606,612,613,628,629,630
- 15,000 —
- 4.750 —te 5,500 - l
; I
o |
0 .250/172750_9 5%0
3,500 O % | <
® 375
o o o I
i
= 7.000 - |
500 —= = |
WITH #11 HANDLE
DON-JOMFG.INC. | |
EEEEE ATa0004 77 #7011 "
— il i i :




v - W
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
605,606,612,613,628,629,630
- 15,000 —
- 4.750 —te 5,500 - l
; I
o |
0 .250/172750_9 5%0
3,500 O % | <
® 375
o o o I
i
= 7.000 - |
500 —= = |
WITH #14 HANDLE
DON-JOMFG.INC. | |
EEEEE A Ta2004 70 #7014 "
— il i i :




v - W
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
605,606,612,613,628,629,630
- 15,000 —
- 4,500 —t 5.000 - l
; I
o |
0 .250/173@00_9 5%0
3,500 O % | <
® 375
o o o I
i
= 7.000 - |
500 —= = |
WITH #15 HANDLE
DON-JOMFG.INC. | |
EEEEE A Ta2004 77 #7015 -
— il i i :




v = T
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
605,606,612,613,628,629,630
- 15,000 =
- 3,500 —=t= g.000 - l
; i
o |
0 .250/174@00—9 5$OO
3,500 O % | <
B 375
o (o) o) I
i
- 7.000 — |
500 —= = '
WITH #16 HANDLE
DON-JOMFG.INC. | |
EEEEE A Ta2004 70 #7016 "
— i T i :




v ~ "
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
605,606,612,613,628,629,630
- 15.000 —
=  2.500 10,000 - l
; i
o |
0 .250/175@00 — SAOO
3,500 % | <
® 375
O (o] o I
i
= 7,000 - |
500 —= = |
WITH #17 HANDLE

DON-JO MFG. INC.

DESIGNER

H

" 4/29,04

APPROVED

Y

|E.EASE DATE

|wE |




v - T
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
605,606,612,613,628,6298,630
= 15.000 —
- 4.500 —t= 6.000 —
; I
o 0
0 .250/173@00_9 o0
3.500 O % |
® 375
o o o
i
- 7.000 -
500 —= =
WITH #30 HANDLE
DON-JOMFG.INC. | _
e A Ta2004 70 #7030 T
- - I i




v = T
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
605,606,612,613,628,629,630
- 15,000 —
- 3,500 —=t= g.000 - l
; i
o |
0 .250/174@00—9 5$OO
3,500 O % | <
B 375
o O o) I
i
- 7.000 — |
500 —= = '
WITH #31 HANDLE
DON-JOMFG.INC. | |
EEEEE ATa2004 77 #7031 "
— i T :




‘4' e

REVISIONS

ZONE | REV

FINISHES: 605 606,600,612,613,619,
620,626,628,629, 630

DATE

APPROVED

° 0 240/ |
' 500
g 7.500 T 7500 j,
|
e s
DON-JOMFG.INC. |
EEEEE A 4,28/04 #71
- - I




v ~ A
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
605,606,612,613,628,629,630
- 16.000 -
5. 250 - 5,500 —~
i
o
0 .es0 Ji 2.750
' 500
4,000 O %
® .375
0 0 o
- 7.500 —
< = 500
WITH #10 HANDLE
DON-IO MFG.INC. | H
EEEEE A Ta2004 [T #7110 "

|E.EASE DATE |WE

|




v ~ A
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
605,606,612,613,628,629,630
- 16.000 -
5. 250 - 5,500 —~
i
o
0 .es0 Jiz 750
' 500
4,000 O (&
® .375
0 0 o
- 7.500 —
< = 500
WITH #11 HANDLE
DON-IO MFG.INC. | H
EEEEE ATa004 70 #7111 "

|E.EASE DATE |WE

|




v ~ A
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
605,606,612,613,628,629,630
- 16.000 -
5. 250 - 5,500 —~
i
o
0 .es0 Ji 2.750
' 500
4,000 O (&
® .375
0 0 o
- 7.500 —
< = 500
WITH #14 HANDLE
DON-IO MFG.INC. | H
EEEEE ATa004 7T #7114 "

|E.EASE DATE |WE

|




v ~ A

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED

605,606,612,613,628,629,630

< 16.000 =
5.000 =t 6.000 =

o
) .25[)/%17 %
3.000 —=

500
© 1
® 375
o ? °
B 7.500 =
- 500
WITH #15 HANDLE
DON-JOMFG.INC. | -
mmmmm Al 42004 | #7115 -
- S v N




v ~ "
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
605,606,612,613,628,629,630
< 16,000 =
< 4,000 —t= 3,000 —
i
o) ,LE ro
0 .2s0 4,000
| /500
4 000 O %
® 375
o) o) o)
< 7.500 =
= = 500
WITH #16 HANDLE
DON-JOMFG.INC. | )
e A Ta004 7T #7116 "

|E.EASE DATE |WE

|




v ~ "
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
605,606,612,613,628,629,630
= 16,000 =
~— 3,000 10,000 -
I
o) ,Lt ro
0 .2s0 5,000 =
| - /500
4,000 %
® 375
o) o) o)
- 7.500 -
= = 500
WITH #17 HANDLE
DON-JOMFG.INC. | )
e ATa2g04 0 #1107 T

|E.EASE DATE |WE

|




v ~ "
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
605,606,612,613,628,629,630
= 16,000 =
~— 3,000 10,000 -
I
o) ,Lt ro
0 .2s0 5,000 =
| - /500
4,000 %
® 375
o) o) o)
- 7.500 -
= = 500
WITH #19 HANDLE
DON-JOMFG.INC. | )
e ATa2004 [0 #7119 T

|E.EASE DATE |WE

|




v

v = P T
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
605,606,612,613,628,629,630
- 16.000 -
— 3,000 10,000 ¢
o ,ct ro
p.250 5,000
' 500
-
O O O
- 500
WITH #20 HANDLE
DON-JO MFG. INC. | _
= A "4/28/04 #7120 "
APPROVED SCALE RELEASE DATE FT




v ~ A

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED

605,606,612,613,628,629,630

< 16.000 =
5.000 =t 6.000 =

o
) .25[)/%17 %
3.000 —=

000
O 3
® 375
o 0 °
- 7.500 =
—— 500
WITH #30 HANDLE
DON-JOMFG.INC. | -
sssss ATa200a [ #7130 T
- = P T T




v = T
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
Bl
15,000
~—— 4,000 =t g.000
i
)
‘ g1
: p.375 500
4,000 O j\()
l O O O
7.300
A0 =~ =
~— 450
? = i
2'300 ( R.Bol 1045
L 174-20 Top — ]
188 ﬂJ ——
B.000 =

DON-JO MFG. INC.

SIZE

e Al w77 IR i
APPROVED SCALE RELEASE DATE WETGHT Iﬁ"




DWG NO |SH

ZONE | REV

16.000

REVISIONS
FINISHES: 505 6505 609, 612,613,619, DATE APPROVED
620,626,628,629,630
=

7,500

0 .250J¢O

000

7.500 il)

~— 500

DON-JO MFG. INC.

DESIGNER

—

APPROVED

H

“as08/04 | H#T2

|E.EASE DATE |WEIE |SI'ET




REVISIONS |
ZONE | REV FINISHES:505,505,509,512,513,519, DATE APPROVED !

620,626,628, 629,630
< 16.000 - |
A W |
o P —© |
B .250 |

1500
8.000 <
f 7.500 T 7.500 1 |

]

DON-JO MFG. INC.

SIZE

DESIGNER

PART NO.

" 4,28/04 #7

APPROVED

SCALE

| RELEASE DATE WEIGHT SHEET




v = P T

—

REVISIONS

620,626, 628, 629, 630

15.000
= 2,200 =

W O A1.250 ; .240f —°

000
3.500 |
= 7.000 =1
L.730 ,CL
O Q
}
000 —=— =
- 7.000 -

DON-JO MFG. INC. |_
e Al 4728704 | #70 CFC T
APPRIVED SCALE RELEASE DATE VEIGHT FT




v = P T

—

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED
605,606,612.613,628,629,630

15, D00
~—— 4,500 == 6.000
=-2.250 = b
O !
1 0 .250J’Lg,ooo—> =00
3,500 : O %
1.750 p 375
j o % D1.250 o o
— 7.000 =
500 — =
WITH #15 HANDLE
DON-JO MFG. INC. |
- A Ta2904 77 #I0ISCEC [
APPRONED SCALE RELEASE DATE = ET




e

T

REVISIONS

Z0

NE | REV

4.Q00

FINISHES:

605,606,612,613,628, 628,630

DATE APPROVED

- g*.ﬂﬂ

@1.250

o
¢.240JP

2.000 =

50D

16. 000

—

DON-JO MEG. INC.

OESIGNER

™ 3/22/04

APPROVED

FART NO

e

RELEASE OATE




—

v - T
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
605.606,612,613,628,629,630
= 16.000 -
~——— 5,000 —= 6,000 -~
= 2050 =
i
O @1.250 ’ 25DJ¢L ﬁo
3,000 —= 0
4,000 i O %
> 000 B 375
o | 0 0
< 7.500 -~
= = 500
WITH #15 HANDLE
DON-JO MFG. INC.
= ATa2900 77 #71ISCEC [
APPROVED SCALE RELEASE DATE WEIGHT FT




v = P T

—

REVISIONS

620,626, 628, 629, 630

15.000
= 2,200 =

W O (1.500 ) .240f —°

000
3.500 |
= 7.000 =1
L.730 ,CL
O Q
}
000 —=— =
- 7.000 -

DON-JO MFG. INC. |_
e Al 428704 | #70 CED T
APPRIVED SCALE RELEASE DATE VEIGHT FT




v = P T

—

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED
605,606,612.613,628,629,630

15. 000
~——— 4,500 —= 6.000
= 2,250 = b
O ]
1 0 .250J’Lg,ooo—> =00
3,500 : O %
1,750 b7
j o ?1.500 o o
- 7.000 =
500 — =
WITH #15 HANDLE
DON-JO MFG. INC. |
peces A | 4/23/04 '#7015rCFD "




e

T

REVISIONS

Z0

NE | REV

4.Q00

FINISHES:

605,606,612,613,628, 628,630

DATE APPROVED

@500

- g*.ﬂﬂ

o
¢.240JP

2.000 =

50D

16. 000

—

DON-JO MEG. INC.

OESIGNER

™ 3/22/04

APPROVED

FART NO

I

RELEASE OATE




v = P T

REVISIONS

620,626, 628, 629, 630

15.000

2,230 ’éf W

v

000

7.000

o1

DON-JO MFG. INC. | _
e Al 428/04 | #10 CEK T

APPROVED SCALE RELEASE DATE




v ~ [T

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED
605,606,612.613,628,629,630

N
N
U]
-
.

15,000

5.500 — 5 000

v

0250 —"Ya 4,00 — e

| O 000
> 1.750 @ |375<§
? o
!
000 =
7.000
WITH #15 HANDLE

DON-JO MFG. INC,
- A|T4729/04 |7 ﬁ]OISF(TJFK "




e

T

REVISIONS

ZONE | REV

4.Q00

FINISHES:

605,606,612,613,628,6298,630

DATE APPROVED

2.23D

@15

2,000 =

o
¢.240JP

50D

- g*.ﬂﬂ

16. 000

—

DON-JO MEG. INC.

OESIGNER

™ 3/22/04

APPROVED

FART NO

 #ICFK [

RELEASE OATE




| v = P
| ZONE | REV | FINISHES: DATE APPROVED
605,606,612,613,628,629,630
I 15,000
| 5,500 — 5.000
| = 2.290
500 ¢ 250
| ¢ N w
' 0 S L
| ng O 4.000 500
3,500 \O 72125 OT O C%
. 1,750 @ 375
1 oy :
. - =1 gp4
| < ={ 1,375
= 7.000 —
| WITH #15 HANDLE
500 = =
| DON-JO MFG. INC. |
l == ATas29004 77 HI0I5CFL [

-




| v = P
| ZONE | REV | FINISHES: DATE APPROVED
605,606,612,613,628,629,630
I 15,000
| 5,500 — 5.000
| = 2.290
500 ¢ 250
| ¢ N w
' 0 S L
| ng O 4.000 500
3,500 \O 72125 OT O C%
. 1,750 @ 375
1 oy :
. - =1 gp4
| < ={ 1,375
= 7.000 —
| WITH #15 HANDLE
500 = =
| DON-JO MFG. INC. |
l == ATas29004 77 HI0I5CFL [

-




e

T

DATE

APPROVED

REVISIONS
ZONE | REV | FINISHES:
605,606,612,613,628, 629,630
4.000
o o i
2.29D
1.375
w15 __J____T

®.313 2.00D

50D

- ‘g* .a0d

0
¢&MO—/P

el

@.500 —
—~ONO—

16.00d

—

DON-JO MEG. INC.

FART NO

OESIGNER

AL 3/22/04

APPROVED

- #11CEL

SCALE RELEASE OATE




v = —

v

REVISIONS

ZONE | REV | FINISHES; DATE APPROVED

b05,606,b13,625,6%6

DON-JOMFG. INC,

- A0 T Hd i

[AFFROVED YNE IFE:EB |i'EI:E-IT |




v - T
ZONE | REV FINISHEIIEQSA:Y & WHITE RUBBER DATE APPROVED !
= 1,800 = :
600 Lo\ «
T o0 |
.800 :
DON-JO MFG. INC. | _ |
mmmmm AT [T ] e
= S il il |




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: 626 DATE APPROVED

=

DON-JO MFG. INC.

mmmmm A0 T fl40) -

APPROVED SCALE | RELEASE DATE | WEIGH | HEE

I




|me

—

B 2.489

N\

\

0 1.270

REVISIONS

ZONE

REV

FINISHES:

605, 606,612,613,625,626,640

DATE

APPROVED

DON-JO MI'GL INC.,

OATE: PART NO.

1>

/1904

#1406

ELEASE OATE |VEII:HT




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: 505 606,612,613,619, DATE APPROVED

b20, 625,626, 630

[.2/0 = -

[F \ W ] 425
@Too @)@14000 021, , w\ |

| |

DON-JO MFG. INC.

DATE: PART NO.

EEEEE

Ej>E

2/19/04 ¢4 B

APPROVED N | RELEASE DATE | WEIGHT

I




—

v P T
- $3.0%8
© © |
_ — NI
}
B 200
"IN FIR QJ 2. 125
#6 SCREW
DON-JO MFG, INC,
e AT 2190 51410 B




DDDDD

/UONE | REV FINISHES 626 DATE APPROVED
= ¢ 3 038 —=
j J— !
\ 865
B1.000 — ~—
] zp 4x
< 200
TN FIR
5 SCRE) D 2125
DON-JO MFG. INC.
EEEEEEEE Al 1/18/15 #1411




_ _¢ REVIE::IN:IS |SH |REV
ZONE | REV | FINISHES: 605)613)626 DATE APPROVED
? 2. 500
K 813
3/0
2 j QL 1. 050
\V/ / I
-y - 2.500 =
—= —= () 1 313
DON-JO MFG. INC.
AT |77 4D B
LIIRL I

I




v - T T
ZONE | REV | FINISHES: 605) 6] 3) 626 DATE APPROVED
¢ 2.500
» 1.625
875
1370 j ﬁ ]
i S 1050

(©

= ¢ 1,375

DON-JO MFG. INC.

2. 200

|

EEEEE

DATE:

2/10/04

T

i

| RELEASE DATE

| SHEET

I




|WE NO

|SH REV
|

3. 200

1/74-20 SCREW

5o 48U =
I !
¢ O [p
® 300
C'SINK FOR

Do —=

REVISIONS

ZONE

REV

FINISHES:

005,613,640

DATE

APPROVED

EEEEE

[ 480
188 T i
I
¢
W v [T #14 "
. e

I




v - T T
ZONE | REV | FINISHES: 605) 6] 3) 626 DATE APPROVED
¢ 2.500
» 1.625
875
1370 j ﬁ ]
i S 1050

(©

= ¢ 1,375

DON-JO MFG. INC.

2. 200

|

EEEEE

DATE:

2/10/04

T

i

| RELEASE DATE

| SHEET

I




v - T

ZONE | REV FINISHBEB:S} 613} 619} 620} 626 DATE APPROVED
|, 125 = —- 14 |
" | 650 " N\ |

313 O 0 O

2 S .
Q L_ I D1 . 285 |
1. 285 |
DON-IO MFG. INC. | _ |
mmmmm A v | #143) |
- S i .




|WE NO

= 1,785

@312)8

L SINK FOR
[/74" SCREW

REVISIONS

|sH REV
|

ZONE

REV

FINISHES: §05,606,612,613,
619,620,625,626

DATE APPROVED

EEEEE

I

DATE:

/19/04

oW T

| RELEASE DATE

|WEII5HT | HEE

i




|WE NO

= 1,785

@312)8

L SINK FOR
[/74" SCREW

REVISIONS

|sH REV
|

ZONE

REV

FINISHES: §05,606,612,613,
619,620,625,626

DATE APPROVED

EEEEE

I

DATE:

/19/04

oW T

| RELEASE DATE

|WEII5HT | HEE

i




v - "]
ZONE | REV | FINISHES: 605} 6 1 3} 626 DATE APPROVED !
- 2.715 —= |
W 610 = =
135 |
1,000 1\ K ) "
) i '
L 4.015 — D 285 |
C"SINK FOR
1/4" SCREW :
DON-JO MFG. INC. | _ |
EEEEE AT [T A4 -
~ S i e |




v - T
ZONE | REV | FINISHES: 605) 613) 626 DATE APPROVED
- 2.715 —=
— - 610
! H\ 500
1.365 __ N 1 2000 @|: @
4x | | | | 4x %7 L @
285
4.015 C"SINK FOR
174" SCREW
DON-JO MFG. INC. | _
o AT i 44 "
APPRONED SCALE ’m |WEIG41 |SHET




v - T
ZONE | REV | FINISHES: 605} 613} 625} 626 DATE APPROVED
j ]
400 4 _‘ g
] b
b 730 ¢
a 470
b
= 1760 =
DON-JO MFG. INC.
mmmmm AT v 7T S "

| RELEASE DATE

I




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

b5, 613,620,620

=- ¢ 1.750

= 1./0U0 = 445

. 020

Z‘x 382

DON-JO MFG. INC.

EEEEE

H

VARV #1446

| RELEASE DATE | WEIGHT | SHEE

I




__¢ REVISU:EDN;S - |SH _’E:—
—= @1 /859 z[x
130 | B25

§§312—>§? 4///

L SINK FOR
L74" SCREW

L

[ 20 —=

DON-JO MFG. INC.

EEEEE

DATE:

10/7/03

PART NO.

BT

i

| RELEASE DATE

I




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

603,613,626

P 195

C"SINK FOR
#3 SCREW

I 302

e = = a3l

DON-JO MFG. INC.

EEEEE

H

R 148 "

| RELEASE DATE | WEIGHT | HEE

I




|me SH REV

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

b0>,013,0620

v

B 195
/ C"SINC HIR
-—i——:E, [‘& #8 SCREW 5
B :
2,540
410
| Lol N
¢ e
| g = 230 ==
DON-JO MFG, INC,
Ay [T )
- Alvm Tt




|WE NO

|SH |REV

5/ 1b-18 Top—C
ﬁ] e

REVISIONS

ZONE

REV

FINISHES:

b05,613,618,620,626

DATE

APPROVED

1,125 J

)
|

Q 004

)

¢

3/0 = =

-~ 1.205g

= /.00 —=

DON-JO MFG. INC.

EEEEE

H

3/11/04

T HI40

| RELEASE DATE

|WEII5 | HEE

I




—

v - P T
ZONE | REV FINISHEE[:B} 6 13} 619) 620 | 626 DATE APPROVED
45
- i
750 f
T & 1%45 ( ) 665
20 51618 Top I s L e
L \/ 5 1175
|

DON-JOMFG. INC.

DATE: PART NO.

S

3/15/04

ELEASE DATE




—

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED

605,613,620

2,900

@.283
5/16-18 Tap

I

1,880

U

j
\\\ | | o
L0 3.0
4 | “\”
L*'L515 SN p—
DON-JO MFG. INC, -
= AT VI | Tl "




—

v - P T
ZONE | REV | FINISHES: 626}BP}BZ}[:P}D|_| DATE APPROVED
= |50 =
]
11 158 180
A I |
.18
(' SIK FIR o — 1.070
4000 #8 SCREW
— = %5
i
Q].ooo Q
DON-JO MFG, INC, _ _ _

I/15/04

RELEASE DATE




—

v - T
REVISIONS
ZONE | REV | MATERIAL ; DATE APPROVED
628
== 1.435 = = 1.410 =
C ) ) lﬁ:
=T =
6. 188 Mg H05|'851E5enters
223 : :
. &— 473 N
7. 197 J } 4\ = =— 182
C'SINKC_FOR
#8 SCREW
DON-JO MFG. INC, |
= ATis04 [T KLAST I




—

v - P T
ZONE | REV | FINISHES!: BLA[:K DATE APPROVED
3LACK RUBBER
4 40()
DON-JO MI'G, INC., _ _ _

i

RELEASE OATE WEILHT




—

REVISIONS

ZONE | REV | FINISHES:

BLACK

DATE

APPROVED

= 2,000 =
BLACK RUBBER
1 o
| |
| |
| |
| |
o 3,563
o
| |
| |
| |
| |
= 5/8-11 THREAD
125 =
i —
- 8

DON-JO MFG. INC,

A | 3/15/04

APPROVED

SCALE RELEASE DATE

PART NO.

WEIGHT

it1463




—

v i T
REVISIONS
ZONE | REV | FINISHES: GALUGE!
605, bl3, b2b
= 1,103F= | 085 —= _
238 — .23 o
i T %175 M
C’' SINK FOR W
1 $ @ @ #8 SCREW /JV
2.22b = 2.22b
!

L) [ ;
8- x 3/4" il
SCREW
DON-JO MFG., INC., -
= D.R, Al 2/6/08 | #1464 ’m7
= S S i

3.750




—

v - T
ZONE | REV FINIéHBSé ) 6 1 3) 625 ) 626 DATE APPROVED
—i1,042p= W 900 =
T @ @ 4x -— = 200
5135 t ele '
‘L @ 5 RIVET 2135
E@SIINlKBFSDEf -
#5 SCREW 4,125
5/8-16 THREAD
i ¥\
305 ] \
!
DON-JOMFG, INC. | ]

Ej>m
wJ
AN
(@)
N
(@]
~

B #1465




v

[ F

—

B 175

C'SINK FOR
#3 SCREW

REVISIONS

ZONE

REV

—= 1 .4350

|

2. 135

FINISHES:

SPRAYED HRASS,SPRAYED BRONZE, SPRAYED ALLIMINLIM

APPROVED

j

DON-JO MFG. INC,

a

OATE:

3/16/04

PART NO.

ELEASE DATE




—

v - P T
ZONE | REV | FINISHES!: 605} 613) 626 DATE APPROVED
=130
0
ot ) =
! L= — = 20
: |
S i
).051 ‘
JV - H RIVET G|
/@5‘ ® J
0165 3
CSING PR
16 SCRR 2. U0
l / \
B \
A
DON-JOMFG. INC.|____ ]
e AT [ 4T
APPROVED STALE @ WEILHT SECT




’ -

SH Fv

—

REVISTIONS

ZONE | REV | FINISHES:

GRAY RUBBER

APPROVEO

—~ = 650
KV

KV

74?5 | \ 4475
J L 1. 050

DON-JO MFG. INC.

DESIGNEI

o f

"3/16/04
@




’ -

SH Fv

—

REVISTIONS

ZONE | REV | FINISHES:

GRAY RUBBER

APPROVEO

—~ = 650
KV

KV

74?5 | \ 4475
J L 1. 050

DON-JO MFG. INC.

DESIGNEI

o f

"3/16/04
@




DWG NO

|SH |REV

REVISIONS

ZONE

REV

FINISHES:

DATE

APPROVED

LfZ.ZOOA

DON-JO MFG. INC.

EEEEE

DATE:

2/ 10704

H > &

PART NIO.

| RELEASE DATE

| WEIGHT | HEE

A4 T

I




—

v r"“’ P T
ZONE | REV | FINISHES: 605) 6 T;V)ISI;[;S DATE APPROVED
~— 2.500
—— 0 250 —e N
% /k —
2,240 1,500
i IR
800 / 3.0
}
5/16-18 Tap . .
- 2,750 ]
DON-JOMFG.INC.| i}
peses Al 318/ | H4T3




—

~ #0200 =
B . 240
i
750 /
)
5/16-18 Tap

REVISIONS

ZONE | REV

FINISHES: DATE

APPROVED

b05,613,626

230

= 3.87/0 —=

N

:'< DRILL & COUNTERSINK

FIR A #B SCREW

DON-JO MFG. INC.

oA

S

31904 #1475

RELEASE DATE WEIGHT




v = P T

—

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

b05,613,626

6—@2.250 —=

B, 240 = 3,560 ———=
i : _ T

(¢ 1,500
50 / \_ > %
¢ 0,250 - S
L
V1618 Top 4& :Eﬁﬁ R

Yall

DON-JO MFG. INC,

- NEE "




—

v - T
ZONE | REV | FINISHES: 626 DATE APPROVED
= | 405 =
' SINK FIR
[/4" SCREWS
2625
205 L
X L N !
4;J 1075 La— - | (00 =
~— 2400 —=
DON-JOMFG.INC.| _ i}
il Al 31904 480
" - i N




—

v - T
ZONE | REV | FINISHES! 605} 613} 626 DATE APPROVED
— BLE = 40
p .95

DON-JO MFG. INC.

e ATy Tt )
APPROVED STAE @ WEIEHT et




v = P T

—

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

005,613,620

= D95 =

b.000

)
h

w 1,975
's
1,250 L i

D.225

DON-IOMFG.INC|_ _
- N T -

APPROVED SCALE ELEASE DATE WEIGHT




v ~ "
ZONE | REV | FINISHES: 605 | 6 1 3} 626 DATE APPROVED !
= 1,650 =~ |
1150 :
! o\ - ’
1.500 / 2,220 | }\ |
Fe o ( E
) |
} /8 /| «
@ . 205 2,250
2.750 :
~>I 2 215 L |
DON-JO MFG.INC. | m |
EEEEE AT I/ 11488 R
~ G i ~ |




v ~ -
ZONE | REV | FINISHES: 605} 6 1 3} 626 DATE APPROVED
%200
C' SINK FOR = 3. 700 ——=
43 SCREW A
2,138 S

EEEEE

RRYZRY(!

H

PART NO.

| RELEASE DATE

H

I




- T
ZONE | REV | FINISHES: 626 DATE APPROVED
& . 200
290 (' SINK FOR <— 3,750 —=
#8 SCREW
- - =— [ 40
3. 000
V 5/16-18 Top—B:::DJ
[ 200 —= —- 1&
410
DON-JOMFG.INC. | _ )
s AL T #IA -
”’""“" = i i

I




v ~ T
ZONE | REV | FINISHES :605) 619} 620) 625 DATE APPROVED !
j | 188 = ;
7 . 305 |
L
250 B |
000 -
b | 537 “
! E N
DON-JOMFG.INC. | |
***** ALy T 0 |
i S e S |




v - T
ZONE | REV | FINISHES: 605}609}625 DATE APPROVED !
—=— 3,000 —= |
«

5 e )

— = 500 :
DON-IO MFG. INC. | _ |
***** Ay [T # |
- S A O |




v = T
ZONE | REV FINISHEB:S}613}619}620)626 DATE APPROVED
= / Yb5 =
600 T ( Z‘x
\/ <
( 2360

0 240 :
DON-JOMFG.INC. | _ m |
***** AT YU #1502 |
- S i N .




v = —

v

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

605,609,619,620, 623

e Al 32304 [ #1503 B

[AFFROVED YNE IFE:EB TATE | |




v ~ T
505,613, 619,620,625, 626
— 3 0F3 —=— :
K[] 038 = .
1,000 mt 640 «

DON-JO MFG. INC.

EEEEE

H

30304

- H )

| RELEASE DATE

| WEIGHT | HEE




DwWG NO

|SH REV

REVISIONS
ZONE | REV | FINISHES: 505,609,513,519, GALGE:
620,622,626
@ . 305
DON-JO MFG. INC.
=0 R A | 10/25/05 #1505




v " T
405,613,519, 620, 625, 626
S R | g [— ;
T )
194 ) - <+
L
| = = 500
DON-IOMFG.INC. | |
***** Al Ym0 H |
- S i .




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

b03,609,619,620,625

— ~=— 000 400

DON-JO MFG. INC.

Ty | HIS08 K

EEEEE

o &

| RELEASE DATE | WEIGHT |SI'EI'




v = "
6:05,609,619,620,625

— 3. 125 = |
YV 405 |
Ub0 ez <
= = 500 |
DON-JOMFG.INC. | ]
***** AT 33 11300 |
= = il i .




v = "
505,600,619, 620,625
— 3. /50 =
W b5
Upl) o
= = 5o

DON-JOMFG.INC. | )

EEEEE AL 3/23/04 #1510

- - i A




REVISIONS
ZONE | REV | FINISHES: 613) BP, EP GALUGE:
—— 612
|
\ ] i
[
872 ‘ i
| 1,387
x | i
4,870 |
220 |l
(]
|
| 1.645
z i
= = 312
DON-JO MEG. INC.
DR A | B/26/14 #1512
EEEEE ‘EELEASE DATE ‘WEIGHT ‘SHEET

ﬁ




v = T
ZONE | REV | FINISHES: 626 DATE APPROVED
= 2.250 =
ﬁ 2.03] =
2.475 _— 9‘ ?
) 1.300 2.031
Jz |> A
J | %
% . 200 i 1 GB21=
1 .660 -
[,435 @ . 200
B &
= 2,100 ~
DON-JOMFG.INC. | m
°°°°°° - AT v 7T #5 -
- - I A




v - T
ZONE | REV | FINISHES: 626 DATE APPROVED !
- 3,062 —= ;
- 255
I 7N\ |
~ - %

3.550 4 _0 - 950 |
63 | (] i =1 |
AN — I |

i o (o
<
11,402 =
~ = .60 |
j i .
1,188 // /\ /188
N oo o '
DON-JO MFG.INC. | _ |
i N R
~ = - .




—

v = T
ZONE | REV | FINISHES: 626 DATE APPROVED
- 3.082 —=—
— 2187
T N\l oss
0 A y |
3.550 § 0 ) 033 1960
633 || 1 — |
l 20
O (@)
1,402 =
‘j] —>| |<'—.65O ¢7
1.750 / \\ Kk 1,750
( / )
b 4,075 —~ = 2 275 L 4&
DON-JO MFG. INC.| _
= Al v | B "
i > R =




B

ZONE | REV | FINISHES: 626 DATE APPROVED
~— 3,062 —=
= = 255
A p
of *
3.550 - - 1,960
EN i = |
¢ \ KJ [ |
i o O
=1.402 =~

AN .

- 4.075 —— = ooos
DON-JOMFG.INC. | i}
= N2 "
- - i e




|WE NO |SH REV

REVISIONS

ZONE | REV | FINISHES:

DATE APPROVED

blb

- 3,060 ——
/ \9 ~— . 255
| 0] |
j -
633 [J i
T o
(o) (o)
=l1,400 =
630 = =

2. 730

4,075 ——=

DON-JO MFG. INC.

EEEEE

H

=  2.225 LF
o | #H5) "

| RELEASE DATE |WEIEHT




—

v [ -
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED

GRAY RUBBER

DON-JO MEG. INC,

I 0
w D o
A

Y004

APPROVED

RELEASE DATE




v i T
ZONE | REV | FINISHES: ERAY RUBBER DATE APPROVED
250 =~ = A00 —=— =
I
W /\ 150 )
700 i /3l
| | \_/

mmmmm AT 3200 #1609
APPROVED SCALE W wwwwww |SHEI'

1




130

il C ]

REVISIONS

ZONE

REV

FINISHES: DATE APPROVED

CLEAR & GRAY RUBBER

® 500

A

DON-JO MFG. INC.

DDDDD ER

APPROVED

A

g T #1610 "
i i




v

|DVE||:I

|Sl |H;V

—

REVISIONS

ZONE | REV | FINISHES!

P & SL

APPROVED

= |../50

b 312 =
@280/5

(' SINC FOR 589

#10° SCERN

‘b o
1.250
Q.

| o5 4.875

\gzﬁaﬁo

C'SINK FOR
#12 SCREW

DON-JO MEG. INC.

DATE! PART NO.

AT 11/
YALE W




v - T
ZONE | REV | FINISHES: BP & SL DATE APPROVED !
3.000 - ?
® 375
® 310 (' SINK FOR |
csi e ] LU = #12 SCREW
W #8 SCREW |
3172
.375 O /o0 b «
(é © © ot
} J |
500 = b= = 2. 000 —=
= 1,500 = - 3,105 —= |
DON-JO MFG.INC. | _ |
mmmmm AT v 7T 1988 -
e - i e |




|WE NO

|SH REV
|

REVISIONS

ZONE | REV | FINISHES:
BP & SL

DATE APPROVED

i
I
3310 ©
310 T
L' SINK FDR\EQ ”
#10 SCREW W I
4,875 1.250 187 ;@B]Q |
bl oy "
LEE o © |
| | | 0 750
y !
& 370 11 250~
C'SINK FLOR
Al SEREW T pon 0 MG INC
mmmmm N
™ cer | perar

158 )

| WEIGHT | SHEET

1




v = il

REVISIONS

ZONE | REV | FINISHES: BP & CP EAIJGE]:BQQI 045

aon

T 9ME& 1

715 — eH
2005 1ss g T1
= HLJ
'8;35 =
957l o s

{

agob | .600

diosl !

DON-JOMFG, INC, _
=) R, Al 4s29700 | 9450

RELEASE DATE WEIGHT




—

J i [ T
ZONE | REV | FINISHES: BP & CP GAIJGITBQOI IO45
228
73 SLREN
(o
- 1775 = =4
S T
? 115 —5 ' I
4,845 [.630 158 = =
‘¥ I
! :
[.608
=
—'>|.957I<‘ i } —|>||<—.D45
@gob | .600
= [.208 = 4\
DON-JO MFG. INC. |
Y Al 4728708 | 944 "

TALE ELEASE DATE




g - -
ZONE | REV | FINISHES: BP & SL GAIJGE:l390I IOQS |
—= —— |, /50
C' SINK FOR
#3 SCREW )
T it
0625 1,250 3.438
L |
1103
4
]
B —=— =
DON-I0 MFG. INC. | _ H
EEEEE Aa2004 77 ADSDS T
. - i A

I




v ~ A

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

BF & SL

= 1.840 =
A [F O )

3.344 2.gP5 b6
189

£ SINK FOR

#E SCREW

DON-JO MFG. INC.

***** Aas004 |7 A-2-SS "

APPROVED SCALE | RELEASE DATE | | HEE




! - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: !
BP,SL & WHITE 13ga. .095
- 18.000 -
) e ————————
2,250 ¢
@) i 750 '—q 330|170 g
J Q (0] O 1 875 L Q
~ 500 J | N T 3 ]
- > o Sy 5o :
- 7.500 - F10' SCREN
~ 8.125 -
DON-JO MFG. INC. |
***** ATs304 [T AST21341 [
- S i il |




¢ e il
REVISIONS
ZONE | REV | FINISHES: GALGE:
BP & SL 13ga. .095
— 18.000 -
=— 3,620 —=
T A _ _ _ _ _ _ _ _ _ )
2.250 i ?
(@) ;750 '—q 313 | 750
J Q ®) ] O 875 LQ
= =500 4& ' .375 '
~——3.125 —= 200 c%iNK FIR @.312x
#12 SCREW C’ SINK_FIR
- 5750 — o 1750 =~ #10° SCREW
—~ 6.313
DON-JO MFG. INC.
ATsa0a T7OAST21342 [

|E.EASE DATE




! - =
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
BP,SL & WHITE I3ga. 095
= 18.000 - '
= 5.000 -
T (. ] ) = i j = ] _ ) - ] ) :
2o @) 7¢50 313 | 750 <
J Q | Q "o 875 3 L Q '
~ =500 = 1750 ! Vg5 } x
e e o =
#10 SCREW
- 7.500 - :
DON-JO MFG. INC. | |
***** ATs304 |77 OAST21346 [ ]

|E.EASE DATE |WEIE |SI'ET




v = T
REVISIONS
ZONE | REV | FINISHES: GALIGE:
BP,SL & WHITE [3ga. .085
= 18.000 -
2.250 i ?
@) 750 i '—q 313 1,750
J (0] O 1 O 8 LQ |
- = 500 ] T 375 3 ]
T T —3.50—~ = E%Nili}
— 5 750 — #10 SCREW
- 7.250 =
DON-JO MFG. INC. |
EEEEE A T5304 77 AST2134M [

|E.EASE DATE |WEIEHT |SI'ET




REVISIONS |
ZONE | REV | FINISHES: GALGE: !
BP 13ga. .095
- 18.000 - |
b [ )
S —— ]
1,375 o o '—q 313 LETS g
o Lo o o5 i q
P 500 ¥ e RPN, TN |
D o W S .
- 7.500 - 10 SCREN
- 8.125
DON-JO MFG. INC. |
AT 5304 AST-21381 [ |

|E.EASE DATE




¢ DWG NO ’REV—
REVISIONS |
ZONE | REV | FINISHES: GALIGE: |
BP 13ga. .095
- 18,000 - |
~—— 3.625 —= ,
b [ )

1,375 : : ©= : - io : : : . : 313 e <
| o) o . o 97 o) !
' ~— 500 7 N 7

3,125 —= = L0 = .31&13 Ko on gé.312x |
#le SCREW C'SINK FIR
~ 5.750 = #10 SCREW
- 6.313 - ,
DON-JO MFG. INC. |
AT 53004 AST-21382 [ |

|E.EASE DATE




REVISIONS |
ZONE | REV | FINISHES: GALIGE : !
BP 13ga. .095
- 18.000 - |
6.000 o |
I A _ ) f
_ _ C)): : L : : I - =LQ= RETERN W7
1.375 ' ' <
4 o) o) i o 875 LQ $
-~ 500 ] \ ]
- 375
~—— 3.125 —= 790 ,31&13 = 1730 = E’%INK FOR §Z§.312x '
#12 SCREV C’SINK FIR '
- 5195 — o #10° SCREW
< 7.500 - |
DON-JO MFG. INC. |
A T5304 |77 AST21386 [
APPROVED SCALE |E.EASE DATE WEIGHT SHEET :




! -
REVISIONS
ZONE | REV | FINISHES: GALGE :
BP [3ga. 095
- 18.000 =
N _ N ?
_ _ @) - - - ] - =313==1875
1.375 LQ - '
4 0 0 ; { 875 LQ 47
- ~ 500 ! ] \ 7
1375
- 3125 —= 750 1313 %gxg&gaa @.312x
- 5,750 - 3,500 — 710 SR
< 7.250 -
DON-JO MEG. INC.
A T5304 77 AST2138M [

|E.EASE DATE




v = -
REVISIONS |
ZONE | REV | FINISHES: GALGE : I
BP & SL [3ga. 085
375 = 1,625 = |
A |
4& O '
088 = |
4 875 1,500
Yl7 13— |= <+
| .688 I |
4 Lof :
@370
C'SINK For = 1,290 = 1
#12 SCREW |
DON-IO MFG.INC. | |
°°°°°° - A" ss4/04 BFD- R
" - T i |




. - -
REVISIONS |
ZONE | Rev [FINISHES: GALIGE: I
b0o,617,626,630 [3ga. 095

= 1.844 = |

: i
1 ° :

375
4.875 ”

<+
I |
S V=X ,

@ .370
C'SINK FOR =1 1,250 = :
#12 SCREW !
DON-JOMFG.INC. | _ '
***** ATsa04 77 BS-161 [ ]
~ S i e |




—&

v i T
ZONE | REV | FINISHES: 9P & S| GAUGlE[éQO. 080
= 1,262 =
375 ‘T e
i
1O
L 742
O i ) !
4,885 1,615 1,780
O * )|
Q 1.635
E’%IRK] DFIZIR “J = .3l
#12 SCREW
DON-JO ME(. INC. |
e INNEZZY BX-2-SDS [ |
= i A




ZONE | REV | FINISHES: GALGE:
605,609 & 630 18ga. .050
~— 2,500 —=
313 r» 2.000 -=
N o
b 450 ‘
1.125 U
(I H
54@3 O [,
@. 260
DON-JO MFG. INC.
Al B/11/11 D9102
EEEEEEEEEEEEE ‘EELEASE DATE ‘WEIGHT ‘SHEET

ﬁ




ZONE | REV | FINISHES: GALUGE:
505,603 & 630 18ga. 030
- 3,500 —=
313 - 3,000 —=
Lo 0 h
I 450 |
1.125 U
P i
563 e )
4& @ 260
DON-JO MFG. INC.
Al 8/11/11 D9103

PPPPPPPP

EEEEE

ﬁ




nnnnn

ZONE | REV | FINISHES: GALUGE:
505,609 & 630 18ga. .050
- 4,500 —=
313 - 4,000 —=
Lo 0 o
b 450 !
1.125 U
P i
563 | O i
}
?.260 B Y pp—
DON-JO MFG. INC.
Al 8/11/11 D9104

PPPPPPPP

EEEEE

ﬁ




ZONE | REV | FINISHES: GALUGE:
505,603 & 630 18ga. 030
— 2 000 =
313 T 1,500 =
Lo o
b 450 u
1.125 U
P H
563 e )
4& @ 260
DON-JO MFG. INC.
Al 8/11/11 DI115

PPPPPPPP

EEEEE

ﬁ




ZONE | REV | FINISHES: GALGE:
505,609 & 630 18ga. 030
~— 2,750 —=
313 ~— 2,250 —=
N O i
b 450 ~
1.125 U
i H
563 O [y
4& @ 260
DON-JO MFG. INC.
Al B/11/11 D9125
EEEEEEEEEEEEE ‘EELEASE DATE ‘WEIGHT ‘SHEET

ﬁ




ZONE | REV | FINISHES: GALGE:
505,609 & 630 18ga. 030
~— 2 250 —=
313 T»HBO%
N o )
b 450 ~
1.125 U
i H
563 O v
4& @ 260
DON-JO MFG. INC.
Al B/11/11 DI175
EEEEEEEEEEEEE ‘EELEASE DATE ‘WEIGHT ‘SHEET

ﬁ




. - -
REVISIONS |
ZONE | REV | FINISHES: GALGE : I
605,626 13ga. .095
1.250 =
375 |
A I
O ] :
B87 — ~ i :
4 875
1,250 <«
% J
1.813 %30 |
$ (:)f“' C’ SINK FIOR
i #12" SCREW
B25 —= =
DON-JOMFG.INC. |
‘‘‘‘‘ Al 5/7/04 - DBS-1478
- - I R




. - -
REVISIONS |
ZONE | REV | FINISHES: GALIGE: !
BP, DU & SL 13ga. .095
1.250 =
375 |
A I
O i ;
B87 — ~ i :
4 875
1,250 <«
l[x J
1.813 %370 .
Jy @‘/ C’ SINK FOR
i #12" SCREW
B25 —= -
DON-JOMFG.INC. |
‘‘‘‘‘ Al 5/7/04 - DBS-2478
- - I R




—

v = F T
s 630 GAUGIEB:QQ. .080
5,750
— 2063 =
'3¢13 - 2083 = =33~
T ¢ & e o ;O o
I .688 —= = |
> 750 | W 1 250
lw L9 o "o |
5mﬁ»LZ@EO<—1%—%

" SINK FOR
#3 SCREW

DON-JOMFG. INC.

S

316711 DL-11 i

ELEASE DATE WE.




—

v = P T
=TT B30 GA”Gfégo. 090
5.750
= 2,083 =
'3{713 - 2083 = @ - 1313
T {te L8 o
688_|> 1
2.750 ” 1,250 W
j@ :: QL¢ ©. /U O |,
. 270 4&
500 = = C’ SINK FOR —= — 1,062
#38 SCREW
DON-JOMFG.INC.| _ i
== Al 3716711  DL-12




; - -
ZONE | REV | FINISHES: 605 & 630 GAIJG]I-E:BQCll IOSO |
[ 125 —= -

313 |
‘j7 |
T R.063 ~| O< | |
4x |

0,750 | 500 \@.280
C' SINK FIOR <

‘17 ‘t #8 SCREW
625 o) |

b

= ~=— 088 I
DON-JOMFG.INC. | ] |
‘‘‘‘‘ AS/004 77 DS234 [ ]
- S i i .




v - -
REVISIONS |
ZONE | REV | FINISHES: GALIGE : '

b0o [3ga. .090
0 W |
¢ o :

T
4.875 1.625 445 = ~
1o 4_:
: )
1,625 l |
L of = ,
@.370 - _

C'SINK FOR L.2a90 |
#12 SCREW |
DON-JO MFG. INC. | ) |

***** Al 512200 |70 DST-161 )
- S i - l




ZONE | REV | FINISHES: GALUGE:
605,608 & 630 [Bga. 030
~— 2,563 —=
313 ﬁ 2. 000 =
I W o
| H
} 450 |
2. 750 1125 i
L u v
|81 e
4X @ . 260 4&
= 1’5 =
DON-JO MFG. INC.
Al 8/11/11 DT-102

PPPPPPPP

EEEEE

EEEEE

ﬁ




ZONE | REV | FINISHES: GALUGE:
605,608 & 630 [Bga. 030
- 3,563 ——=
313 ~—— 3 000 —=
I W
le
| 7 H
b 450 H
2. 750 1125 i
L i
|81 o
4X @ . 260 4&
= 1’5 =
DON-JO MFG. INC.
Al 8/11/11 DT-103

PPPPPPPP

EEEEE

EEEEE

ﬁ




ZONE | REV | FINISHES: GALUGE:
605,608 & 630 [Bga. 030
- 4 563 ——=
313 4 000 ———=
I W
le
| 7 u
I 450 |
2. 750 1125 i
(I i
! 813 605
4X @260 4X
= 1’5 =
DON-JO MFG. INC.
Al B/11/11 DT-104
EEEEEEEEEEEEE ‘EELEASE DATE ‘WEIGHT SHEET

ﬁ




ZONE | REV | FINISHES: GALUGE:
605,608 & 630 [Bga. 030
= 2.063 —=
313 j 1 500 =
I W o
| H
I 450 |
2. 750 1125 i
L u v
|81 e
4X @ . 260 4&
= 1’5 =
DON-JO MFG. INC.
Al 8/11/11 DT-115

PPPPPPPP

EEEEE

EEEEE

ﬁ




ZONE | REV | FINISHES: GALUGE:
605,608 & 630 [Bga. 030
~—— 3,063 —=
313 ~— 2 500 —=
I W
le
| 7 u
b 450 !
2. 750 1125 i
(I 0o
! 813 605
4§ @260 4X
=] /5=
DON-JO MFG. INC.
Al B/11/11 DT-125
EEEEEEEEEEEEE ‘EELEASE DATE ‘WEIGHT SHEET

ﬁ




ZONE | REV | FINISHES: GALUGE:
605,608 & 630 [Bga. 030
~— 2,313 —=—
313 Fﬂ /50—
I W o
| H
I 450 H
2. 750 1125 i
L u v
|81 e
4X @ . 260 4&
= 1’5 =
DON-JO MFG. INC.
Al 8/11/11 DT-175

PPPPPPPP

EEEEE

EEEEE

ﬁ




i - o
ZONE | REV | FINISHES: gggjggg)glglj 1:890. 050
= 2,000 =
313 /19 ="
]
O
[F 4x I
1. 000
¢ L
» 270 9‘ 2.000 ~=-
DON-JOMFG.INC. | =
== Al 51304 | mEL-lTOZ i

|H5.EASE TATE |"’EIE

|




v s il
R e o080 PR 18ga. 050
- 3500 —=
313 710 - |
i |
o
B |
5250 1,000 “
Jz | | =
- 3,000 — |
DON-JOMFG.INC. | e
- Al sy | EL-193 ) .

|H5.EASE TATE |WEIE

|




v i [ ]
= 4,500 = |
313 /19 = |
{

Do © © :

2. 250 [ . 000 <
| - 0
5 270 —— /2 8/5 —=

—=— 4 (000 ——==
DON-JOMFG.INC. | - :
- Al 5130 | ] EL-194 i .

|H5.EASE TATE |WEIE

|




: - i
ZONE | REV | FINISHES: gggjggg)glglj 1890. 050
= 2. 000 =
313 /19 =
]
O
o |
1,000 |
¢ 0o |
¢ 270 —" ~=1,500 =
DON-JO MFG. INC. I ___ =
mmmmm Al 51304 | MEL'US i

|H5.EASE TATE |"’EIE

|




v = —
ZONE | REV | FINISHES: gggjggg,glgﬂ 1:890. 030
—=— 3,000 —=
313 /18 —
I
O
o ~
1,000
- |

DON-JO MFG. INC.

EEEEE

£ §

sz | EL-125

|H5.EASE TATE |"’EIIS

|




v ~ T
=1 ooewsol I8ga. 050
= 2,250 = :
313 719 ~ |
i I
I ol |
2,250 1.000 | «
‘L : Q | |
B 270 = 1./00 = |
DON-JOMFG.INC. | i
mmmmm Al s/304 | EL-175 i .
o ~ T |




v - -
REVISIONS |
FINISHES: GALIGE: |
1 8P 13ga. 090
313 = 2983 /= ;
1 :
9‘@ 4§ @ ||\ |
750 1.500 °°%° - .
‘17 245 =~ = |
W I
525 go) y |
¢ |
@ . 260 / 91 2,000 ~

L SINK FOR
#8 SCREW

DON-JO MFG. INC.

EEEEE

H >

i

513004 | EL-20

|E.EASE DATE |WEIE |SI'ET




v ~ P
REVISIONS |
FINISHES: GALGE: |
1 8P 13ga. 090
- 3563 — =
313 :
! ™
‘ ¢ @ I :
5750 1.500 009 B | .
| s .
i |
o2 0 .
} L '
. 960 3.000
C'SINK FOR :
#8 SCREW

DON-JO MFG. INC.

EEEEE

H >

51304 | _BL-20 B

|E.EASE DATE |WEIE |SI'ET




v ~ "
REVISIONS |
FINISHES: GALGE: |
1 8P 13ga. 090
13 - 4.563 |
I W ~
F O :
> 750 1.500 09 B | .
| s .
W I
| '64?5 %@ _J |
@. 260 L’i 4,000
C'SINK FOR |
#38 SCREW
DON-JO MFG. INC. | |
***** AT5/13/04 EL-20 R

| RELEASE DATE

|WEIE |SI'ET




v ~ -
REVISIONS |
FINISHES: GALGE: |
1 8P 13ga. 090
313 - 2903 = |
I ..
A ¢ @ ||\ |
5750 1.500 °°F B " .
| s .
W I
= 5 ) :
C'SINK FOR |
#8 SCREW '
DON-JO MFG. INC. | |
***** AT5/13/04 EL-20 R
- S i A s |




v ~ P
REVISIONS |
FINISHES: GALGE: |
1 8P 13ga. 090
313 - 3.063 — = |
] .
W 4S O A |
5750 1.500 °O° B | .
| s .
W I
625 g .
C'SINK FOR |
#8 SCREW

DON-JO MFG. INC.

EEEEE

H >

51304 | BL-2 B

|E.EASE DATE |WEIE |SI'ET




|H!V

—

REVISIONS
ZONE | REV | FINISHES: GALIGE:
505,612 & 630 13ga. .090
~— 2 625 —=
375 2 000 |=

i ]

¢ O

i 688 - |
a

4879 1.250 182 |~ f

\__J

} f f

1.813 )
$ 750
|
@370 {1,250 =
C"SINK FOR
#12" SCREW
DON-JO MFG, INC, -
= Al 5170 EST-102 i




|H!V

—

REVISIONS
ZONE | REV | FINISHES GALIGE:
505,612 & 630 13ga. .090
<~ 3,625 —=
.1;5 . 3000
7

¢ O

i 689 - |
/ \

4.875 1,250 182 = I
\__

! f i

1.813 i
$ 0O 750
|
@.370 =1 1,250 -
C'SINK FOR
#12 SCREW
DON-JO MFG, INC, -
= Al 5170 EST-103 i




v = T

—

REVISIONS
Z0ONE | REV | FINISHES: GALIGE :
505,612 & 630 13ga. .090
< 4,625 -
.175 . 400 _
7
) O
i 689 - |
/ \
1,250 182 = I
\__
! f i
1.813 f
$ 0O 750
}
@.370 =1 1,250 -
C'SINK FOR
#12" SCREW
DON-JO MFG. INC, |
= Al 517/ BST-104 [




—

v = *
REVISIONS
ZONE | REV FINISHES: GALUGE :
505,612 & 630 13ga. .090
—~ 2,125 R~
375 1 500 |=
w B
4\ O
i 698 -
a
4879 1.250 182 |~ f
\___
¢ ? 1
1.813 I
$ 750
!
@370 {1,250 =
C"SINK FOR
#12"SCREN
DON-JO MFG, INC, -
= Al 517/ BST-1IS [




|H!V

—

REVISIONS
ZONE | REV | FINISHES GALIGE:
505,612 & 630 13ga. .090
< 3,125 —=
.1;5 < 2 500 —=
7
! O
i 689 - |
/ \
4,875 1,250 182 = I
\__
! f i
1.813 )R
$ 0O 750
}
@.370 =1 1,250 -
C'SINK FOR
#12 SCREW
DON-JO MFG, INC, -
= Al 517/ BST-125 [




—

v = *
REVISIONS
ZONE | REV FINISHES: GALUGE :
505,612 & 630 13ga. .090
<— 2 250 —
375 1,625 =
: ]
4\ O
i 688 - |
/ \
4870 1,250 182 |~ f
\___
lp f 1
1.813 ) i
$ 0O 750
}
@.370 =1 1,250 -
C'SINK FOR
#12 SCREW
DON-JO MFG. INC, -
= Al 517/ EST-158 [




—

v = P T
REVISIONS
Z0ONE | REV | FINISHES: GALIGE :
505,612 & 630 13ga. .090
<— 2,375 —=
375 *7 1730 =
I
@ O
i 689 -
/ \
4870 1,250 182 |~ f
\__
lp f 1
1.813 i
$ 0O 750
}
@.370 =1 1,250 -
C'SINK FOR
#12" SCREW
DON-JO MFG, INC, |
== Al 5170 EST-175 I




—

REVISIONS
ZONE | REV FINISHES: GALUGE :
605,600 & 630 18qa.
<~ 2,563 —=
313 —  2.000 |~
{
T T ©
1/
2,750 1,750 07079 |
¢ N ]y
750 } 505
! @, 260 ¢
=I],125 =
DON-JO MFG, INC.mE |
i Al 8/11/11 - ETS-102




—

v = P T
REVISIONS
ZONE | REV | FINISHES: GALGE :
605,609 & 630 1890. 050
<— 3,53 ——=
313 <—— 3,000 —=
i
T i ©
( N
2,750 1.o5p 070 ||
¢ . 1B5 = t“ ) ‘#
. 750 ¢ 625
¢ @, 260 ¢
=] 125 =
DON-JO MFG, INC, - |
= A Tsa7ma [0 ETS103 [




—

v = P T
REVISIONS
ZONE | REV FINISHES: GALUGE :
505,600 & 630 18ga. 050
- 4,563 -
-3¢13 4,000 —=
T g ©
( N
2,750 1.o5p 070 ||
i 165 == |
750 25
¢ @ . 260 ¢
=105 =
DON-JOMFG.INC.|
== Al et | ETS-104 "




—

REVISIONS
ZONE | REV FINISHES: GALUGE :
605,609 & 630 18qa.
— 2.063 |
313 = 1.500 =
i
T T ©
V8
2,750 1,250 0/07 |
i N |
/50 4S 625
4 @, 260 4
=], 125 =
DON-JO MFG, INC.M |
i Al 8/11/11 - ETS-115




—

REVISIONS
ZONE | REV FINISHES: GALUGE :
505,600 & 630 18ga.
~—— 3,063 —=—
313 <— 2,500 —=
i
T T ©
IV
2,750 |.p5g 0/0—
¢ N i
750 } 605
! @, 260 ¢
=I1,125 ~
DON-JO MFG, INC.M |
i Al 8/11/11 - ETS-125




—

REVISIONS
ZONE | REV FINISHES: GALUGE :
605,600 & 630 18qa.
<— 2,313 —
313 = 1.750 =
{
T T ©
1/
2,750 1,750 07079 |
w N |
750 } 505
! @, 260 ¢
=I],125 =
DON-JO MFG, INC.mE |
i Al 8/11/11 - ETS-175




! - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
BP [3ga. .090
= 3,000 = .
s i A '
375 — == R |
C'SINK FOR I
#1257 SCREW \ﬁ 750 O 1.8/
0O | o—-q "o | «
- ! }
500 = - 913 303 :
o e = 1,750
= L = @313
2,629 C'SINK FOR |
3 (oe #10° SCREW
DON-JOMFG.INC. | '
EEEEE A | 5/19/04 - FL-208N f
— - N :




; - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
BP [3ga. .080
- 3.000 — |
2 [ A [F '
s ——— ,
C'SINK FOR I
#13 SCREW 0 750 O e 1.875
% — — J’ “
500 = i N \ :
3900 C'SINK FIR
2 250 —— 10 SCREW :
DON-OMFG.INC. | '
***** AMsn900 77 FL20SNM [ |

| RELEASE DATE

|WEIEHT

|SI'ET




v ~ A
REVISIONS |
ZONE | REV | FINISHES : GALGE : !
BP,SL & WH 13g0. 090
- 8,000 ~ |
e ~N I
?.375 — W b oy |
C'SINK FOR l '
F13 SCREN 0 730 O 1750
Q Q |1 Q Lol | «
} : J
500 = LF 500 913 :
- e 1,750
_ I = @.313
2.629 C'SINK FOR :
. #10" SCREW
DON-JOMFG.INC. | '
***** Al"s/1900 |7 FL-208W "
— - N :




: -
REVISIONS
ZONE | REV | FINISHES: GALGE
BP 13ga. 090
- 12,000 -~
W i 1875
1,375 @) 750 | Q e
o) o !
} L ; f \ )
500 = 313 313 @.37
L' SINK FDR
- 1.625 ~ =~ 1.750 ‘= @.313 #12 SCREW
C'SINK FOR
~— 2,025 —= #10 SCREW
- 5,125 -
DON-JO MEG. INC.
A1 "5/19/04 FL-212N "
APPROVED SCALE |E.EASE DOATE WEIGHT SHEET




¢ OWG NO SH ’Ev—
REVISIONS
ZONE | REV | FINISHES: GALIGE
BP 13ga. .090
= 12,000 =

. i 1.875
1,375 o 750 | Q e
0 ol — 85|
] L ! \ }
500 - 313 @.375
= 1.750 = C' SINK FOR
— 1.625 - ?.313 513 SCREW
C'SINK FOR
— 0 F25 —= 710 SCREW
- 3,313 —~
DON-JO MFG. INC.
A" s/19/04 FL2I0N4 [
APPROVED SCALE |E.EASE DATE WEIGHT SHEET




! _—
REVISIONS
ZONE | REV | FINISHES: GALIGE :
BP 13ga. .090
= 12.000 =
= 6.000 =
-
| o 0000 /o |t 1i75
1.375 ®) 750 dz Q o
Q — O o) O |
"‘ i 4\ ]
500 = =~ 1.750 ? 313 313 ['%IINBZEF)DR
~ 1,625 ~ KR #12" SCREW
—= 2,125 =
~— 4, 3/5 ———=
DON-JO MFG. INC.
Al 5/19/04 FL-212N6 "
APPROVED SCALE |E.EASE DATE WEIGHT SHEET




I _—
REVISIONS |
ZONE | REV | FINISHES: GALGE: |

BP 13ga. .090
— 12.000 - :
1 i i75 |

1,375 ) 70 W Q\ i
¢ © O — 4& Q ol | e
500 = L» 313 313 \ \®.375
C'SINK FOR !
= 1,625 l= ~ _ @.313 712" SCREW |
3.500 C'SINK FOR

— 2 525 —= %10 SCREW |
- 450 —— !
DON-JO MFG. INC. |
Al 519,04 FL-212NM " |

|E.EASE DATE




: .
REVISIONS |
ZONE | REV | FINISHES: GAUGE |
BP,SL & WH 13ga. .090

= 12,000 - |

4 N T
% i |

1.750 @) 750 w Q i 2.250
3, o) o) I 875 Jy e
L ) ] \ ]
S o o E’%INK FOR '
= 1.6 = ~ 1,750 ~ @.313 713 SCREW |
C'SINK FOR
~— 2, b25 —= #10 SCREW |
S 5,125 —

DON-JO MFG. INC. |
Al 519,04 FL-212W " |
APPROVED SCALE |E.EASE DATE WEIGHT SHEET |




v - T
REVISIONS |
ZONE | REV | FINISHES: GALUGE : |
BP,SL & WH 13ga. .090
- 12.000 — |
<~ 3,625 —= |
1.750 @) 750 | Q i 2.250
3, o) o) T o | 75 Jy e
L ) ! \ }
500 = 200 313 @.375
C'SINK FOR I
= 1,625 k= #12 SCREW
< D 525 —= 5,313 |
. - C'SINK FOR
3.313 #10 SCREW
DON-JO MFG. INC. |
‘‘‘‘‘ Al 519,04 FL-212W4 " |
" - I |




i -
REVISIONS
ZONE | REV | FINISHES: GALIGE:
BP 13ga. .090
= 12,000 -
= 6.000 -
4 N T
| ;
1,750 @) 750 w | 2.250
. ke o ol |
L f \ }
000 = = 1.750 |= @.313 200 @.375
' C'SINK FOR !
= 1,625 #10° SCREW ERLS TS
= 2,125
- 4,375 ——=

DON-JO MFG. INC.

NTsng04 [T FL212WE [

| RELEASE DATE




|H!V

—

REVISIONS
ZONE | REV [FINISHES: GAUGE:
030 13ga. 030
~— 2,625 —=
375
i = 2,000 =
4 O
—)
750 -
3.500 i
182 = [~
Il
| f
588 O 750
b 5 ]
370
s FoR T Lol =
#12 SCREW
DON-JO MFG. INC, |
= ATe304 [T MESTH2 T




—

v - T
REVISIONS
ZONE | REV [FINISHES: GALGE:
030 13ga. 030
-~ 3,625 —=
. 31775 e
f
@ O j
750 - ”
4.875 3.500 i
182 = |~ ”
i ) §
688 O 750
A 5 !
370
s FoR T Lol =
#12 SCREW
DON-JO MFG. INC, |
= ATea04 [T MESTI03 T




|H!V

—

4,875

REVISIONS
ZONE | REV [FINISHES: GAUGE:
630, DU 13ga. .090
4,625
. 3{5 o
~
@ O j
750 - ”
3.500 i
182 = [~ !
f i )
689 O 750
! 5 }
370
s FoR T Lol =
#12 SCREW
DON-JO MFG. INC, |
- A8 [T MEST-IM T




|H!V

—

REVISIONS
ZONE | REV [FINISHES: GALGE:
030 13ga. 030
= 2.125 =
373
1,500 =
W 7
: O |
750 B
3.500 i
|]82—> —— I
i )
588 O 750
b 5 }
370
s FoR T Lol =
#12" SCREW
DON-JO MFG. INC, |
- A8 [T MESTIS T




v - T

v

REVISIONS
ZONE | REV [FINISHES: GALGE:
030 13ga. 030
-~ 3,125 —=
. 3{5 PR
—
; 9, 1
750 —H = |
3,500 i
182 = |~ ”
i ) i
588 O 750
b 5 }
370
s FoR T Lol =
#12 SCREW
DON-JO MFG. INC, |
- ATe304 [T MESTAS T




|H!V

—

REVISIONS
ZONE | REV [FINISHES: GAUGE:
030 13ga. 030
- 2,250 —
375 e
¢ ]
4 O
750 -
3,500 i
182 = = !
\b A W
688 O 750
! 5 ]
370
s FoR T Lol =
#12 SCREW
DON-JO MFG. INC, |
- A8 [T MESTIS8 T




|H!V

—

REVISIONS
ZONE | REV [ FINISHES: GALGE:
030 13ga. 030
~— 2,375 —=
375
1,750 =
¢ ]
| O
720 = I
4.875 3.500 i
182 = |= |
| ) i
688 O 750
¢ 5 }
370
s For T Lol =
#12 SCREW
DON-JOMFG.INC. |
- ATesm [T MESTTS T




v - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |

630 [3qa. .090
— 1.875 = |
375 .

1,250 f=
A i 7
i O :
750 | |
4,875 3000 ,,
j 182 = |= <
i i |
938
i O 750 |
J ’ J
370
CSIN FR 2ol = |
#12 SCREW

DON-JO MFG. INC. | e

***** ATez0e 77 MST-I6L T
- S i i l




v ~ -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
8P,0U & S | 13g0. .090
- 1.875 = |
39 1 250 |
; i MR
4s O :
750 S |
4,875  3.000 ..
j 182 = |- <
I i |
938
| o[ = :
J 5 }
1370
csIN For. 0 12al = |
#12 SCREW
DON-JO MFG. INC. | |
mmmmm AT6300 |77 MST-2600 [
- S A s |




DDDDD

REVISTIONS
ZONE | PEV | FINISHES: GAUGE ;
030 | 3ga. 080
- 2,625 —=
3{5 ISR
I ~
$ 4x S M
740 [
1,457
531 ﬁ] e e
4875 U
$ 4X 740
o B0 H
{ ¢ )
| 74X90 O 750
@ . 370
CSING FoR . 120 =
#12 SCREW
DON-JO MFG. INC. |
EEEEEEEE A 2/11/15 SMEST-102

PPPPPPPP

EEEEE

EEEEEEEEEEE

WWWWWW

EEEEE




DDDDD

REVISTIONS
ZONE | PEV | FINISHES: GAUGE ;
030 | 3ga. 080
=  2.125 =
%;5 - e =
I ~
$ ¢ S ™)
740 [
381 1457 H
N I |
4875 i
$ $ 740
1,457 - H
t o4 i
| a?o O 750
@ . 370
CSING FoR . 120 =
#12 SCREW
DON-JO MFG. INC. |
EEEEEEEE A 2/11/15 SMEST-115

PPPPPPPP

EEEEE

EEEEEEEEEEE

WWWWWW

EEEEE




DDDDD

REVISTIONS
ZONE | PEV | FINISHES: GAUGE ;
030 | 3ga. 080
- 3,125 —=
3{5 IR
I ~
$ 4& S i
740 i
1,457
531 ﬁ; e e
4 875 H
$ 4X 740
o B0 H
I i
750
L 780 O
! ’ ]
370
CSING FoR . 120 =
#12 SCREW
DON-JO MFG. INC. |
EEEEEEEE A 2/11/15 SMEST-125




DDDDD

REVISIONS

ZUONE

REV

FINISHES:

GAUGE:

030 | 3ga. 080
=— 2,250 —=
3¢75 = 1,625 =
I 7
4X 4& 2 ™
740 i
381 1.457 H
ﬁz ﬁ; B0 = |
4,875 |
4X 4X 740
1 457 . |
Py il
| 790 /Q 750
4x ) |
370
CSING FoR. 0 LU=
#12 SCREW
DON-JOMFG.INC. |
EEEEEEEE Al 2/11/15 SMEST-158

PPPPPPPP

EEEEE

EEEEEEEEEE

WWWWWW

EEEEE




DDDDD

REVISTIONS
ZONE | PEV | FINISHES: GAUGE ;
030 | 3ga. 080
= 2,375 —=
%;5 S
I ~
$ $ S ™
740 [
381 1.457 i
R I 1 |
4875 |
$ $ 740
o B0 H
{ ¢ o
Lo 790 O 750
! : ]
370
CSING FoR . 120 =
#12 SCREW
DON-JO MFG. INC. |
EEEEEEEE A 2/11/15 SMEST-175

PPPPPPPP

EEEEE

EEEEEEEEEEE

WWWWWW

EEEEE




—

v [ T
ZONE | REV | FINISHES: 630 GAUG]Eégo. 090
= /2. 15 =
313 = 1,563 =
|
O
/ I
3,250 1. 250 088 =
1,000 4x ’ Yb
] }
@ 270
C'SINK FOR  —= < 1,125
#3 SCREW
DON-JOMFG.INC.| _ -
- Al 6304 | SI-134




v =

REVISIONS

ZONE | REV | FINISHES: GALIGE :

630 l4qa. |
500 = 1.813 =
) |
4x @ 1
j] 1
4 250 |688 L
| [ 250 50 e
4x 1 W
[.500 ’
v O 750
! !
. 370 = — 1. 120
C"SINK FOR
#12 SCREW

DON-JO MFG. INC.

‘‘‘‘‘ AlTe304 |7 ST-144

|E.EASE DATE |WEIE |SI-E




. = -
REVISIONS |
ZONE | REV | FINISHES: 605)606)612)613) GALIGE: |
625,626,630 [3ga. 0390
375 = 1,844 = :
] W
j O :
R :
-

4.875 1.250 0 | .
. C .

% ¢ 1
1813 i |

R O /0
] .
@.370

CSINK FOR = 1.200 = .
#12" SCREW |
DON-JOMFG.INC. | '
‘‘‘‘‘ Al 6/3/04 ST-16 ( |

| RELEASE DATE | WEIGHT

|SI'ET




v

REVISIONS
ZONE | REV | MATERIAL: DATE APPROVED
505,619,620, 630, 0L
3173 = 1,750 =
T T o |
2.250  1.000 720 |
q; 13— | |
L 625 0|
}
270
2 ~ = 500
DON-JOMFG.INC. |
A | 3/25/04 - ST-214

PPPPPPPP

EEEEEEEEEEEEEEE

EEEEE




v - -
REVISIONS
ZONE | REV | MATERIAL : DATE APPROVED
605,619, 620,630, 0U
313 Rosg— ] 0
| N
| °
2.250 000 H 720 |- |
l ! 13—~ | |
.64&25 ‘F O |
270
Z ~ = 500
DON-JO MFG. INC,
== A" 3os04 [T ST24RC T
FPROVED SCALE ’muﬂE VEIGHT SHEET




! F -
REVISIONS |
ZONE | REV | FINISHES: GALGE: |
BP,DU & SL 13ga. 090
- = 1.844 = |
I W
4S O :
p B8 = :
-
4.875 1.250 . ! ”
. C ,
f } |
1,813 I :
|| o[ s
4X I
@.370
C'SINK FIR = 1.200 = |
#12° SCREW |
DON-JOMFG.INC. | '
***** A T6304 ST-26 R
- i I R |




DDDDD

REVISIONS
ZONE | REV FINISHES: GALUGE:
= 1.123 = — 1.315 ~
250
B
b |
R
525 1 375 —
% 200/ (o) {7
= = 250
= 875 =
DON-JO MFG. INC.
" 0p A 12/3/15 TS-200
EEEEE ‘EELEASE DATE ‘WEIGHT ‘SHEET

ﬁ




ZONE | REV | FINISHES: 605 & 630 GAUG?BQQ‘ .
313 = 1,890 =
j
| o
b oL
640 — ~
e S LT
W | L J
/40 4X %O B25
4X 4&
@235/
C"SINK FOR
48 SCREW —= —= [ 1.5
DON-JO MEG. INC.
- AlBrans | - 18-234

ﬁ




' - -
REVISIONS
ZONE | REV | FINISHES: GALIGE:
PB,AB,BZ,10B & S | 22ga. .032

~
(o]
1.375 = |=——4.000
e—2.375~>‘
@ N
O +—  9.000
@ Q
4,500
(o]
J i
DON-JO MEG. INC. |
EEEEE AT T 1CW "
- - I




v = T

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

605-609-630

v

375 = < 1.000
o )
7 N\
| 4,500
N/ T
O11,
875 J .
J
DON-JO MFG, INC. | _ EV
o AT 2s10004 [T 10TE i




REVISIONS |
ZONE | REV | FINISHES: PB &S DATE APPROVED ;
|
|
) )
(o]
|
1.750 = pP— 2125 !
~— 2.750 |
-0 313
@ .500 |
© B | |
984
12.000
Ol | b5 .
©
I
984 :
6.000

|
|
(o) |
J y ;
|
DON-JO MFG. INC. |

DESIGNER A I 6/11/13 I 12'2'CW
APPRIVED SCALE WEIGHT SHEET !

|E.EASE DATE




-

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED
PB & S
\
o
1730 = P=—"""5.125
—— 2,750 41
©
Q- - 12,000
o
6.000
o
J
DON-JO MFG. INC.
e AT 2/10/04 12-CW B




v

DWG NO

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB,AB & S
<
1,750 =~ 9.125
~— 2,750 B 312 14,000
() —dv2os |t 2.750
984
)
@ .500
3.500
J
DON-JO MFG. INC.
A 210704 142-CW [

|E.EASE DATE




DWG NO

REVISIONS

ZONE

REV

FINISHES:

P3,AB & §

DATE

APPROVED

1.750 =

3.500

14,

000

DON-JO MFG. INC.

SIZE

DESIGNER

APPROVED

SCALE

" 10/

|E.EASE DATE

PART NO.

14-CW

-

WEIGHT

SHEET




e

ZONE | REV | FINISHES: PB. AB & S 2290 032
n
1.750 = [=——5.125
2,750
5,250 l%w 1125
1
1,644
¢1500Q 15.000
3,563
®
O B 2.125
®
5,250
°)
DON-JOMFG. INC, | =
. ANTsa 15ﬁCW [




—

v - T
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB,AB,BZ,10B & S
= 1.375 ~ |<74.OOO
o\
~— 2,375
®
|OI
©
3.625 9.000
@
.O. @2.125 i
@
2.688
o
J

DON-JO MFG. INC.

= A 3230 151-C "

APPROVED SCALE RELEASE DATE WEIGHT FT




v - P T

—

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

PB,AB,BZ,10B & S

= 1.375 ~ |<74.OOO
o\
~— 2,375
%
(@)
3.625 9.000
O
O @2.125 i
O
2.688
.
DON-JO MFG. INC. |
- Al 32304 | I51-VF "
APPROVED SCALE RELEASE DATE WEIGHT FT




—

v = P
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB, AB,BZ,10B & S
= 1.375 = [=—4.000
o\
~=— 2.37/5
©
|OI
®
@1.500
4,000 9,000
®
| | /
O 72 125 1
®
2.500
O
J
DON-JO MFG. INC.
= Al 32304 Is4cw [ ]
APPROVED SCALE RELEASE DATE WEIGHT FT




e

REVISIONS
ZONE | REV | FINISHES: GALIGE:
PB,AB & S 22qa. 032
o)
1.750 = |=——5.125 ——=
@.410
§ o
4—2.750—-7 4.125 G485 62s
@
O T 2215
) 1.?25
@
5,250 1-375(li
°)
DON-JO MEG, INC,
= AT22s08 77 16-C i
APPROVED SCALE RELEASE OATE VEIGHT E‘r




REVISIONS
ZONE | REV | FINISHES: GALGE:
PB & S 22q0.
\
o
1.750 f= fo———5.125
~— 2,790 —=
= = 875

1.096
‘ 3,969 12,000
3.210

DON-JO MFG. INC.

SIZE FART NO.

e Al 3/29/04 [7-CW
APPROVED SCALE RELEASE DATE WEIGHT ET




|D\IE NO

REVISIONS |
ZONE | REV | FINISHES: GALGE: |
PB,BZ,10B & S 22g9a. 032
o)
1.750 5,125 |
~— 2,750
875 ,
.260 @ .750 |
. 15.000
~ D
‘K\—QS.BOO <_i
1.0951 &\ b 3.900
1,392 — ¢.300 :
. B 2.125
4.188 '
° :
DON-JO MEG. INC. '
= AT 218047 18CW )
S i l




REVISIONS |
ZONE | REV | FINISHES: GALGE: !
7B & 3 22q0. 032
~ |
</
=1 1.730 = ~——5.125
~— 2,750 :
@1.000 I
6.500 :
390 - 15.000
<
©
u 5810 ¢ 2.125 :
©
5,250 |
° |
v,
DON-JO MFG. INC. |
AT a0 77 19eW [

|E.EASE DATE




. - -
REVISIONS ,
ZONE | REV | FINISHES: GALIGE : !
10B,AB,BZ,PB,S 2290. 032
) '
o\
= 1.730 = p=———"4.000 :
©® :
|O 9,000
<
©
4,500
o I
J i
DON-JO MFG. INC. '
EEEEE A a0 T 2-CW I

|E.EASE DATE

|SI'ET




e

REVISIONS
ZONE | REV | FINISHES: GALGE:
PB & S 22qa. .032
1,750 f= 5.125 °
< 2.750
®
O o312 20. 000
@
10.000
OJ
DON-JO MEG, INC.,
= AT 47104 20-CW )




v = T
ZONE | REV | FINISHES: PB)AB & S DATE APPROVED
= 1.750 = — —— 1.000

9)
O

NI

— \J

O

DON-JO MFG. INC.

A\R 438

EEEEE

“ass04 | 20-FE

| RELEASE DATE | WEIGHT | HEE

I




v = P T

—

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB & S
)
2.000 = 4,250
)
©
Ol 9. 000
©
—
4,500
o}
Y,
DON-JO MFG. INC, -
= AMTason [ 20ew [




v = P T

—

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB & S
o )
2.000 = 4,250
)
®
Q' §.000
©
—
4,300
O
J
DON-JO MFG. INC. | _
- A Tason [ 2000CW [




v = "
REVISIONS
ZONE | REV | FINISHES: GALUGE:
PB & S 22qa. .032
o\
= 1,750 J= <—5.125
20,000
cj
DON-JO MFG.INC. | H
e N, 0BCW [

|E.EASE DATE

|WEIE-IT

| SHEET




|D|IE NO

= 1.730 |=

DESIGNER

APPROVED

|E.EASE DATE

REVISIONS
ZONE | REV | FINISHES: GALGE:
PB & S 22g0. 032
o\
~—2.125
20.000
10.000
°J
DON-JOMFG.INC. |
ATas04 [T 20CCW T




v ~ .
REVISIONS
ZONE | REV | FINISHES: 605’630 DATE APPROVED !
1,750 = (= 5,125 - |
~N A |
- 2 375 o |
1/ %.375
4§ |
&, 25%7 1 .688
{ g.000 "
3.375
) :
IOI 2,125 ! .
© 5250
o I
)
DON-JO MFG. INC. | |
EEEEE A | 12/20/05 - 21-C ]7
- = l




=

—

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB & S
N
(@]
<— 2,500 —= < 4,250
®
.O 9.000
®
|
4.500
(@)
J
DON-JO MFG, INC.
e A" 4/5/04 212-CW "
APPROVED SCALE RELEASE DATE WEIGHT FT




=

—

REVISIONS
ZONE | REV | FINISHES: PB & S DATE APPROVED
N
(@]
<— 2,500 —= < 4,250
®
.O 9.000
®
|
4,500
(@)
y
DON-JO MFG. INC.
== Al ass04 | 212C-CW "
APPROVED SCALE RELEASE DATE WEIGHT FT




=

—

~<— 2,200 —=

OESIONER

APPROVED

= I

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB & S
N
o
~— 4,250
3.000
4,500
®)
/
DON-JO MFG. INC,
Al 404 | 214CW "




=

—

F

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB & S
N
(@]
<— 2,250 —= < 4,250
®
.O 9.000
®
|
4,500
(@)
J
DON-JO MFG, INC.
e A Tas04 77 24CCW "




REVISIONS
ZONE | REV | FINISHES: GALGE:
605,630
<
o
1,750 == —5.125
$2I375}*¢.375
}
@-é?jg 1.688
15.000
3.375
©
b P 2.125
©
5.250
o
)
DON-JO MFG. INC.
Y Al 12/20/05 - 22-CW ]7

SCALE

|E.EASE DATE WEIGHT SHEET




v ~ .
REVISIONS |
ZONE | REV | FINISHES: 605,630 DATE APPROVED !
| 750 = = - |
500 g ! :
lx ”*
@375 |
- 0750 ——
{ 1000 5 697 .
C/ LF g.000 e
> 187 .
© 47 '
IOI ?2.125 i .
© 5250
o :
y i
DON-JO MFG. INC. | |
***** A T220/05 B3CW |
- = T .




DWG NO SH

REVISIONS

ZONE | REV | FINISHES:

GALIGE :

605,630

1.750

9.125

QSOO£
@.375

15.000

¢ 2,125

——2.7508 ;gzﬁl.ooo
I

2.187

DON-JO MFG. INC.

DESIGNER

0.R.

SIZE oA

“oo005 | 24-CW

SCALE

|E.EASE DATE WEIGHT SHEET




REVISIONS
ZONE | REV | FINISHES: GALIGE:
PB & S 22ga. 032
)
1.7130 = 5.123
<— 2.730 —= L 1.000
A
15,000
° |
O 2.730
° |
°)
DON-JO MEG, INC,
=05 Al 8/30/09 O 25-CW (




-

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
6035,609,612,613,630
o )
1.750 = p=—4.000
©
©
5 500 12.000
®
©
3.250
°
DON-JO MEG. INC.
e A 408 |77 256-CW B
APPROVED SCALE RELEASE DATE WEIGHT IﬁT




-

REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
6035,609,612,613,630
o )
1.750 = p=—4.230
©
©
5 500 12.000
®
©
3.250
°
DON-JO MEG. INC.
e Al 408 |77 258-CW B
APPROVED SCALE RELEASE DATE WEIGHT IﬁT




=

—

REVISIONS

ZONE

REV

~——4.000

FINISHES:

PB,AB,BZ, 10B & S

DATE

APPROVED

3 65 9,000
©@
\il
DON-JO MFG. INC. |
e Al 4/5/04 261-C
APPROVED SCALE RELEASE DATE WEIGHT FT




—

v - T
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB,AB,BZ,10B & S
= L.730 = ~——4.000
)
%
O
3 65 9.000
CQJ
O
O
)
DON-JO MFG. INC,
= AT45s04 77 261VGFE [
APPROVED SCALE RELEASE DATE WEIGHT FT




|WE NO

—BI

REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED ;
PB,AB,BZ, 10B & 3
1.750 = =——4.000 |
)

o :
~—2.375

5 _ |
Ol |+

® :

@1.500 5 000
4.000 <«
i |
EEEEE NTas04 T 264-C i

|E.EASE DATE

|WEIEHT |SI'ET




|WE NO

REVISIONS

ZONE | REV | FINISHES:

605, 630 & DU

GALIGE :

22qa.

1.730 = 5.125

@ 625
\)CD _\'\ i
S,
20 1,250
M
o ; 10,000

<— 2,730

16.620

eDe

2.000

PER SCHLAGE REV. 06/11-A

DON-JO MFG. INC.

DESIGNER

0.R.

SIZE

DATE:

PART NO.

52/16/13

SCALE

26-AD-CW

RELEASE DATE

WEIGHT

SHEET




DWG NO

REVISIONS
ZONE | REV | FINISHES: GALGE:
605, 630 & OU 22qa.
= 1,750 ~ 5,125
°\
2,281
@.750 @.750 L — 3.625
T
584
1.141 10,000
6.625 ' 6.250
@1.000 6.289
- 270 3.853 16.620
@2.250
6.620
°

DON-JO MFG.INC. |

2011 PER SCHLAGE REV. 06/11-A

TESTGNER D,R, A

DATE:

/16713

PART NO.

26-CO-CW

SCALE

RELEASE DATE

WELGHT | SHEET




v

REVISIONS
ZONE | REV | FINISHES: GALIGE:
PB, AB & S 22qa. 032
0‘
1.750 = —5.125
Py i
~| 2.750 4\/—@.875
5.406
15,000
3.047
©
2.812
p @2.125
© /
~— ,332 5.230
o
Y,
DON-JO MFG. INC.
e A 1212 | 27-CW

RELEASE DOATE

| SHEET




e

1.750

REVISIONS
ZONE | REV | FINISHES: GALUGE :
B05, 609, 630 2290. 032
Oj
5.125
= 2.750
? .5001
LWy
B1.250
b 15.000
f 4,175
@ 2.500
02.125 l
2.803
L'A'BO 5.250
DON-JO MFG. INC.
e ATos0 T 28CW T




‘ - -
REVISIONS |
ZONE | REV | FINISHES: GALIGE: |
PB,AB,BZ,10B & S 22q0. 032
N I
o |
= 1,375 = |=—4.250 |
- D 750 ﬁ
@ I
O‘ T — 1 9.000 <
@ A
4,500
o |
Y, i i
DON-JOMFG.INC. | |
***** A9 [T 3CW f
— - i A :




DWG NO

1.375

DESIGNER

APPROVED

REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED ;

PB,AB,BZ,10B & S

|
O\ !
~—— 4,230

g.000 <
o !
J i |
DON-JO MFG. INC. |
AL 4/19/04 30-CW R

|E.EASE DATE




|E.EASE DATE

|WEIEHT |SI'E

v ~ —
REVISIONS |
ZONE | REV | FINISHES: GALIGE: '
PB,AB,BZ & S 22qa. .032

\ 1

o |
= 1.730 = 5,900
@ |
|©| 9.000 <
©

4,500 |
o |
J { |
DON-JO MFG. INC. | |
***** NEZZ A e




|E.EASE DATE |WEIE |SI'ET

; - -
REVISIONS |
ZONE | REV | FINISHES: GALGE: I
PB,AB,BZ & S 22g0. 032
[}
O\ |
- 1750 |- 5,500
@ |
|©| 9,000 ¢
®
o |
J i |
DON-JOMFG.INC. | '
***** AlTa2700 |77 B3A2CW [ ]




|E.EASE DATE

|WEIE |SI'ET

’ - -
REVISIONS ,
ZONE | REV | FINISHES: GALIGE : !
PB,AB,BZ & S 22q0. .032
1
C;‘\ |
= 1.730 = 6.500
9,000 <
4,500
(o] |
J i |
DON-JOMFG.INC. | |
EEEEE A Ta0700 T 33AC R




v = -
REVISIONS :
ZONE | REV | FINISHES: GALIGE: :

PB,AB & S 22ga. 032
= 1.750 |= |
@ |
O «

EEEEE

H

" 1/1/94

PART NO.

4-2-C

|E.EASE DATE

|WEIEHT |SI'ET




! F -
REVISIONS |
ZONE | REV | FINISHES: GALGE: !
PB,AB,BZ, 10B & S 22GA. 032
) I}
o |
1750 b 4,050 |
<— 2,750 ﬁ
© < '
O T 1 9,000 <
@ N
4 500
o I
J ] |
DON-JO MFG. INC. _ | _ '
mmmmm AT [T ACW T
- S i l




—

1. 730

% 8-32 TAP 2X
2. 230

|

[ 125

J i -
REVISIONS
ZONE | REV | FINISHES: B8PS & 10B GAUGE]:390, 090

5.000
—— /. /o0 —

3P - = = =500
DON-JOMFG.INC.| -
. N2




! - -
REVISIONS |
ZONE | REV FINISHES: GALIGE: I
PB,AB,BZ,10B & S 22qa. 032
~N )
o |
1750 b ——4.250 |
g.000
<
o I
Y i
DON-JOMFG.INC. | e
EEEEE Al [T 40-CW R

|E.EASE DATE |WEIEHT

|SI'ET




|WE NO

REVISIONS
ZONE | REV | FINISHES: GALIGE:
PB,AB & S 22ga. .032
o\
1.750 5,125
~—2.375
) .250Z l 1.000
} \Tf
531
¢ 1.000
5 188 5.125 15.000
®
d 332 p2.125
®
5,250
()
J
DON-JO MFG. INC.
***** Al 5/6/04 4000-2-CW [ |
- - i e




! -

REVISIONS
ZONE | REV | FINISHES: GALIGE :
PB)AB & S 2290| .032
o\
1750 |- 5,125
~— 2.750
1) .ZSOZ l 1.000
} \Tf
531
@ 1.000
2.188 5. 125  15.000
1)
m 332 Vg0
®
5,250
()
_J
DON-JO MFG. INC.
EEEEE Al 5/6/04 4000-4-CW [ |
APPROVED o |E-EASE L I |S"EET




—

v = P
ZONE | REV | FINISHES: GALUGE ;
PB AB BZ, 10B & S| 22GA. .032
O\
= 1,750 = }=——14.750
- 0750 —=—
- g—— 875
F %
L e \ 1,698
|Q 70 125 i 3.000
9 — & 375
to o
1750 4500
(@)
J
DON-JOMFG.INC. |
e AT 2310 4500CW [
APPROVED SCALE RELEASE DATE WEIGHT FT




—

1.7501

v = P T
REVISIONS
ZONE | REV | FINISHES: GAUGE :
PB,AB,BZ & S 22qa. 032
o\
Il - 7.000
. 5000 — = -
© \ | 683
|©- 3375 #2125 i
L@

©.375 4,500
o
4
DON-JOMFG. INC. |
- A21000 [0 dss0cw [
APPROVED SCALE RELEASE DATE WEIGHT Iﬁ'




REVISIONS
ZONE | REV | FINISHES: OATE APPROVED
PB, AB,BZ, 10B & S
= 1.,7/50 = = 4. 250 =
~N ]
(@)
©
_9
g, 000
©
@
j .
J i
DON-JO MFG. INC.
A 4/28/04 481-CW




REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB,AB,BZ, 10B & S
= 1.750 = = 4,250 =

DESIGNER

9,000
| .
J I
DON-JO MFG. INC. |
A 4/28/04 -~ 48]-VF

APPROVED




|WE NO

REVISIONS

ZONE

REV

1730 = p=—""4.250

FINISHES:

PB,AB,BZ,10B & 3

DATE

APPROVED

- 2,750
5 ]

@
§Z515001

N ]
o

4,000 9 000
¥
EEEEE “NTas804 T 484-C B
- - i e




v - T
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB & S
\
{1,750 |- |—— 4,500 —2+
- 2,750
= ]
(O —
®
@ 1.500
6.000 12,000
@
O
©@
DON-JO MEG. INC,
= A 7408/04 486-CW [
APPROVED SCALE RELEASE DATE WEIGHT IﬁT




v ~ T
ZONE | REV FINISIE)EBS:)AB)BZ) 1DB & S DATE APPROVED
— 1.375 = = 4000 -
~N !
o
— 2 375
® ]
Q 4500
. 0,250
71,500
J 0
/1
DON-JOMFG.INC. | - i}
***** AlTao804 |70 5-CW )
= = e e




DWG NO

T

REVISIONS
ZONE | REV | FINISHES: GALGE:
PB & S 2200, 032
~
o
1.790 = —5.125
= 2750 ¢ 1.125
- @ 500
|
.B75
®x
5.406
Ql .000
3.563 15.000
©
q ®2.125 i
859
© 312
859
5.250
o
)
DON-JO MFG. INC.
s AT 4s7/05 5000-CW (




; - =
REVISIONS |
ZONE | REV | FINISHES: PB) BZ & S 2290 | | 032
O\ I |
1,750 f= b——5.125 |
©
12,000 ¢
% 500 = |- :
2.000 200 |
Jz ) |
)

DON-JOMFG.INC. | |

EEEEE ATa2804 |77 S04CW [
— - i A :




DWG NO

REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
S
~N ) '
= 1.750 = ©
= <- 1,000 :
©
|
|
12.000
<
|
@ I
2.000 |
(o] I
s& J i
DON-JO MFG. INC. '
DESIGNER I / / PART B - =
APPROVED SEA/LAE\ 4 2 |BE£AE]E4DATE WEIGHT 5 O4SI-ETF‘E I




DWG NO SH REV

REVISIONS
ZONE | REV | FINISHES: GALIGE:
605, 630, DURO COAT 22qa. 032
5.125 -j 1.730 r— 5,125
ro O\

2.282 ' | .50
*—$ g o | ol
1.250 ) @.500
o o 7.000 o O

5. 141

' 2.719 @2.250 16.380
2.000

4,190

6.471

PER SCHLAGE REV. B/11-A

DON-JO MFG. INC. | _
) AT 22712 |77 504AD-CW

WEIGHT SHEET

SCALE RELEASE DOATE




v = T
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !

PB,AB,BZ, 10B & S
= 1,3/5 = !
f \ I
®

«

DON-JO MFG. INC.

PART NO.

EEEEE

" 4/28,/04

H

51-CW

| RELEASE DATE | WEIGHT




e

REVISIONS
ZONE | REV | FINISHES: GALGE:
603,630 22q0. 032
== 1,70 = PE—5.125 —=
<
o
=—2.750 —=
906 _— &.500
O @"//— @ 1.000
1.750 C\’/
@ 500 875
4 938 5 750 13.000
©
®2.125
©
4.250
°)
DON-JO MEG. INC.
= ATr1904 77 5100-CW T




; - -
REVISIONS |
ZONE | REV : PB) BZ & S 2290 | | 032
O\ I '
1.790 = =—"""5.125 |
2,750 —=— |
© I
7,313 |
12,000 «
165 |-
5 | |
1\ 500 <
5 000 2 U3 .5ﬂuj |
Jz J? )) |
)
DON-IOMFG.INC. | e
EEEEE Al"42804 77 S14CW [ ]

|E.EASE DATE

|




DOWG NO

REVISIONS
ZONE | REV | FINISHES: GALIGE:
PB,BZ, 10B & S 22q0. 032
O\
1730 = ——5.125
) 6_2'750_9&@1.250
S z
- .300
948 = E I 3 656
12.000
/"\1.392
i
W |
72,000
© 4,500
<- .500
500
2.000
] )
}
DON-JO MFG. INC. |
e Al 221604 | S18-CW
APPROVED SCALE IME WEIGHT SHEET




|WE NO

REVISIONS

ZONE

REV

FINISHES:

PB,AB,BZ & S

GALIGE:

2290,

1730 ==

DON-JO MFG. INC.

PART NO.

DESIGNER

“4/28/04

APPROVED

55-CW

H

|E.EASE DATE |WEIEHT

|SI'ET




, - -
REVISIONS |
ZONE | REV | FINISHES: GALIGE: !

PB, AB,BZ & S 22g0. 032

AR
° |
1.750 6.300 =

g.000 <«
c !
J |
DON-JOMFG.INC. | '

EEEEE ATaos0n [77ossACW T
- = = T I l




v ~ -
REVISIONS ,
ZONE | REV | FINISHES: GALIGE: !
PB,AB,BZ & S 22ga. 032
A
o |
1,750 6.500 =

9,000 <«
(o] |
J | !
DON-JO MFG. INC. | |

= Aaos04 |77 SSACW [
- S b il |




—

v il [T
ZONE | REV FINISHESl:DB} \BBZ & S GAIJGE:2290I 03
[.790 = 4,750
~
o
=— /. /20
B |
Q B2, 125 2.40  5.500
G |
— 2750
L = 33/
o
S
DON-IOMFG, INC.|_ -
o Al 42804 |7 SK-CW




v ~ T
ZONE | REV FINISIE)EBS:)AB)BZ) 1DB & S DATE APPROVED
1 750 = = 4,000 —
N !
o
2 375
5 B
Q 4500
®
Y 0 250
J 71,500
@)
J

DON-JO MFG. INC.

EEEEE

H

DA

w0804 | 6-CW

| RELEASE DATE | WEIGHT | HEE




DON-JO MFG. INC.

v = T
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !

PB,AB,BZ, 10B & S
1,750 = |
f \ I
®

«

PART NO.

EEEEE

" 4/28,/04

H

61-CW

| RELEASE DATE | WEIGHT




|WE NO |SH |REV

REVISIONS

ZONE | REV | FINISHES: DATE APPROVED

PB,AB,BZ,10B & S

[.375 = = 4.250 =

- -— 2,750
= -

Q Tf 4,500

R 3 TO 500

DON-JO MFG. INC.

ART NO

“ao804 |70 TCW B

EEEEE

H

| RELEASE DATE | WEIGHT | SHEET




v = T
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !

PB,AB,B/Z, 10B & S

| 375 = = 4.250 — |
\ I |
O |
4.500 «

DON-JO MFG. INC.

EEEEE

H

PART NIO.

" 4./28/04 70-CW

| RELEASE DATE | WEIGHT | HEE




DON-JO MFG. INC.

v = T
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !

PB,AB,B/Z, 10B & S
1375 = |
f \ I
®

«

PART NIO.

EEEEE

" 4/28,/04

H

TLCW

| RELEASE DATE | WEIGHT




v ~ -
ZONE | REV FINISHES#B)AB)BZ & S DATE APPROVED
1 750 - 4. 750 —
~ I
o
- 2 750
® |
O 32 125 © 812 5.500
5 |
— > 750 .
ﬂ)& — 33
o
Y, i
DON-JOMFG.INC. | H
- Aldogoal | 15CW




DDDDD

. /50

REVISIONS

ZONE

REV

4,

FINISHES:

PB,AB,BZ, 108 & 3

DATE

APPROVED

Znll

2. 22l

|

= 2750 —=

1,500

O

/]

4. 500

DON-JO MFG. INC.

DATE: PART NO
RELEASE DATE

EEEEEEEEEEE

T




v i -
= PB,AB,BZ,10B & S | 22ga. .032
1.750 = = 4.250 — |
~N ! |
O |
4,500 <
o :
o
DON-JOMFG.INC. | |
***** AMTaos0s 770 80-CW [
- S i S o I




v L T
=" PBAB,BZ,10B & S | 22q0. .032 |
1,750 = 4,750 - :
I |
W .
(@ 1.375 |
Q j 4500 <
® :
E @.500 |

V

EEEEE

"5/01/12

H o

T 81-2-CW

i

| RELEASE DATE

|VIEIG | HEE




DON-JO MFG. INC.

v = T
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !

PB,AB,B/Z, 10B & S
1,750 = |
f \ I
®

«

PART NO.

EEEEE

" 4/28,/04

H

81-CW

| RELEASE DATE | WEIGHT




—

v = P T
REVISIONS
ZONE | REV | FINISHES: DATE APPROVED
PB AB & S
- 1750 = = 5,000
D 1.125 o )
o o
b |
| .836
| \
' N
9.000
3 1.500 .
- 2.750 —=
o
IQ' r B 2.125
2 2.250
(@]
| y
DON-IO MFG, INC. | _
= AlT531/11 9-CW "
APPROVED SCALE RELEASE DATE WEIGHT FT




|D|IE NO

1,750

REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
PB, AB,BZ,10B & S
N I '
(o)

- |—5.000 |
12,000 |
<
o I

J [}
DON-JOMFG.INC. | e
e Al 4/30/04 90-CW " |

|E.EASE DATE |WEIEHT |SI‘EE




v = T

REVISIONS
ZONE | REV | FINISHES: GALUGE :
PB,AB & S 22q0. .032
S
1.750 |~ f———5.500 2
1,000
Ll
T — I
1250
@ . 750 12,700
® 1,000
- 2,750 ——
=1.188 = 65.926
@2.125 A
© Lo 500 f
O 1}) \Y/ 2,546
© 1.774 ./ L
3,300 1 Ga
B 750 o)
DON-JO MFG. INC,
= AMTa3004 77 BKRV-CW T
APPROVED SCALE RELEASE DATE WEIGHT FT




! - -

REVISIONS |

ZONE | REV | FINISHES: GALIGE: I
PB,AB,BZ,10B & S 22qa. 032

<

PART NO.

EEEEE

" 4,/5/04

942-C

=7

|E.EASE DATE |WEIEHT

|SI'ET




¢ |WEND | |REV
REVISIONS |
ZONE | REV | FINISHES: DATE APPROVED !
PB,AB,BZ,10B & S
|
|
|
|
|
|
|
|
<+

PART NO.

EEEEE

" 4,/5/04

942-V

.

|E.EASE DATE |WEIEHT

|SI'ET




|WE NO

REVISIONS
ZONE | REV | FINISHES: GALIGE :
PB,AB,BZ,10B & S | 22ga. .032
1730 = p=—""4.250
N !
o
g.000
]
***** AlTa2m0a 77 93-C i
- = I R




|WE NO

REVISIONS

ZONE

REV

1730 = p=—""4.250

FINISHES:

PB,AB,BZ,10B & 3

DATE

APPROVED

g, 000

¥
EEEEE N800 7T 943V B
- - i N




! F

REVISIONS
ZONE | REV | FINISHES: GALGE :
PB & 3 22qa. .032
) A
~ 1750 b b——4.500—2
©
O
©
0000 12,000
y, ¥
“wos04 |7 946-CW [
i A




Il = [ ]
PB,AB,BZ & S
N | |
(o]
— 1,750 4.750 |
- 0 750 —=— :
A
- | '
,O —d 92125 2 812 9.000 <
5 |
4.500 =390
. |
) |
DON-JOMFG.INC. | ! |
EEEEE A"3i05 77 95-CW [
- = ’




|WE NO

PB,AB,BZ & S
N | |
(o
1.750 = l——4.750 |
A |
@ |
'O D546 9,000 <
© i |
. |
y, |
DON-JOMFG.INC. | ! |
mmmmm A | 4/30/04 9K-CW (
e ~ I I T |




4‘___

e

REVISIONS
ZONE | REV | FINISHES: GALGE:
605, 630 22qa. .032
n
1,750 f= f——5.125
12.250 &r%m
2,750
:—¢.500
5,125
15.000
2.438
)
% 2.125
5,250
@.500
°J
DON-JO MFG. INC.
= AT7/12.0177 E2000-CWT

=




	 Accessory Hardware
	104 Edge Pull
	106 Edge Pull
	125 Finger Pull
	130 Handrail Bracket
	135 Handrail Bracket
	1590 Elbow Catch
	1603 Door Flip Guard
	1604 Door Flip Guard
	1607 Chain Guard
	1613 Door Knocker
	300 Coat Hook
	302 Coat Hook
	304 Coat Hook
	350 Window Lock
	AP 34 Door Flip Guard
	BN4 Numbers
	CC 100 Crash Chain
	CHP 100 Hinge Pin
	DSP 135 Scar Plate
	DV 180 Door Viewer
	DV 90 Door Viewer
	DVC Door Viewer Cover
	EM 2 Door Viewer Cover
	EM 4 Door Viewer Cover
	PDL 100 Pocket Door Lock
	PDL 101 Pocket Door Lock
	RHP 100 Hinge Pin
	RP 13509 Hinge Pin
	RP 13509 2 Remodeler Plate
	RP 13509 2 Remodeler Plate
	RP 13515 2 Remodeler Plate 
	RP 13545 Remodeler Plate
	RP 13545 2 Remodeler Plate
	RP 14 2 Remodeler Plate
	RP 15 Remodeler Plate
	RP 18 Remodeler Plate
	RP 26AD Remodeler Plate
	RP 26CO Remodeler Plate
	RP 27  Remodeler Plate
	RP E2000 Remodeler Plate
	RPK 109 Remodeler Plate
	SP 135 Scar Plate
	ULDV 180 Door Viewer
	ULDV 90 Door Viewer
	WB 112 Window Bolt
	WP 34 Door Flip Guard

	Bolts & Latches
	1550 Aluminum Door Flush Bolt
	1551 Aluminum Door Flush Bolt 
	1557 Flush Bolt
	1557 Flush Bolt
	1560 Automatic Flush Bolt
	1562 Automatic Flush Bolt
	1570 Dust Proof Strike
	1572 Dust Proof Strike
	1578 Suface Bolt
	1579 Surface Bolt with Keys
	1580 Suface Bolt
	1582 Suface Bolt
	1630 Dutch Door Bolt
	1632 Dutch Door Bolt
	1634 Dutch Door Bolt
	1636 Dutch Door Bolt
	1638 Dutch Door Bolt
	1639 Dutch Door Bolt
	1640 Dutch Door Bolt
	1640R Dutch Door Bolt
	1700 Roller Latch
	1702 Roller Latch
	1704 Roller Latch
	1710 Roller Latch
	1712 Ball Latch
	1714 Ball Latch
	1716 Ball Latch
	1718 Friction Catch
	1720 Magnetic Catch
	1722 Magnetic Catch
	1724 Magnetic Catch
	Body: 3 3/8" x 1", Strike: 1 1/4" x 4 7/8" Roller Latch 
	SB 12 Slide Bolt
	SB 2 Slide Bolt
	SB 3 Slide Bolt
	SB 4 Slide Bolt
	SB 6 Slide Bolt

	Door Controls
	2011 Coordinator
	2012 Coordinator
	2021 Coordinator
	2022 Coordinator
	2023 Coordinator
	2040 Universal Coordinator
	2050 Mounting Bracket
	2051 Mounting Bracket
	2060 Carry Bar
	2080 Gravity Coordinator
	3023 Concealed Stop
	3024 Concealed Stop
	3123 Surface Stop
	3124 Surface Stop
	3212 Surface Holder
	3323 Surface Stop
	3324 Surface Stop
	4500 Hospital Latch
	4550 Hospital Latch
	HDCC 2012 Heavy Duty Crash Chain
	HDCC 2512 Heavy Duty Crash Chain
	HDCC 3012 Heavy Duty Crash Chain

	Filler Plates & Signs
	534 MWA Metal-Wood Stud Combo Anchor
	834 ADJ Metal-Wood Stud Combo Anchor
	AF 260 Electric Strike Filler Plate
	AF 261 Electric Strike Filler Plate
	AF 29 Electric Strike Filler Plate
	AF 291 Electric Strike Filler Plate
	AF 291L Electric Strike Filler Plate
	AF 29L Electric Strike Filler Plate
	AR 335 Adaptor Plate
	AR 9K Adaptor Plate
	BF 135 Hole Filler Plate
	BF 161 Hole Filler Plate
	BF 178 Hole Filler Plate
	BTS 160 T-Strike Filler Plate
	CHS 1 Title 24 Sign
	CHS 2 Title 24 Sign
	CHS 3 Title 24 Sign
	CP 258 Cylinder Plate
	CR 060 Reinforcement Plates
	CR 125 Reinforcement Plates
	CR 275 Reinforcement Plates
	CR 300 Reinforcement Plates
	CV 2414 Mortise Conversion Plate
	CV 86 Mortise Conversion Plate
	CV 86 C Mortise Conversion Plate
	CV 8624 Mortise Conversion Plate
	CVRL Roller Latch Conversion Plate
	DBS 386 Deadbolt Strike Conversion Plate
	DCB 270 Hinge Reinforcement
	DCB 280 Hinge Reinforcement
	DCB 340 Strike Reinforcement
	DCB 350 Strike Reinforcement
	EF 160 Latch Filler Plate
	EF 161 Latch Filler Plate
	EF 161 S Latch Filler Plate
	EF 161 TG Latch Filler Plate
	EF 634 Flush Bolt Filler Plate
	EF 86 Mortise Edge Filler Plate
	EL 86 Mortise Conversion Plate
	EPT 1 Power Transfer Filler Plate
	FB 225 Flush Bolt Filler Plate
	FBR A Flush Bolt Conversion Plate
	FBRK 2 Filler Plate Kit
	FBT 1 Guide
	FF 45 Frame Filler Plate
	FF 50 Frame Filler Plate
	FS 260 ANSI Strike Filler Plate
	HD 1 Decal
	HF 45 Hinge Filler Plate
	HR 100 Hinge Reinforcement
	HR 130 Hinge Reinforcement
	HR 140 Hinge Reinforcement
	HR 150 Hinge Reinforcement
	HR 160 Hinge Reinforcement
	HR 170 Hinge Reinforcement
	HR 180 Hinge Reinforcement
	HR 190 Hinge Reinforcement
	HR 200 4 1/2 Hinge Reinforcement
	HR 210 5 Hinge Reinforcement
	HR 215 4.5 Flat Hinge Reinforcement
	HR 217 Hinge
	HR 217 Hinge Reinforcement
	HS 050 Hinge Shim
	HS 060 Hinge Shim
	HS 080 Hinge Shim
	HS 090 Hinge Shim
	HS 9060 01 ADA Sign
	HS 9060 02 ADA Sign 
	HS 9060 35 ADA Sign
	HS 9070 02 ADA Sign 
	HS 9070 35 ADA Sign
	LW 86 Mortise Edge Filler Plate
	MAF 261 Electric Mortise Strike Filler Plate
	PDF 161 Hole Filler Plate
	SHF 45 Hole Filler Plate
	SHF 45 Hinge Filler Plate
	SMAF 261 Electric Mortise Strike Filler Plate
	ST 386 ANSI Strike Conversion Plate
	TB 215 Tab
	TL1 Temporary Lock
	TL 2 Temporary Lock
	TL 3 Temporary Lock

	 Hinges
	BB74540 Full Mortise Ball Bearing
	BB74545 Full Mortise Ball Bearing 
	BB84545 Full Mortise Ball Bearing
	BB94545 Full Mortise Ball Bearing
	HRP 1 Hinge Reinforcing Pivot
	HRP 2 Hinge Reinforcing Pivot
	HWBB74545 Full Mortise Ball Bearing, Heavy Weight
	HWBB75045 Full Mortise Ball Bearing, Heavy Weight
	HWBB84545 Full Mortise Ball Bearing, Heavy Weight
	PB74540 Full Mortise Plain Bearing
	PB74545 Full Mortise Plain Bearing
	PB94545 Full Mortise Plain Bearing
	PT 10 Electrical Power Transfer
	RPB7353514 Residential Hinges
	Full Mortise Spring Hinge
	SH94545 Full Mortise Spring Hinge

	Kick Plates & Door Edges
	1290 Corner Guard
	1290 Corner Guard 
	1299 Corner Guards/U-Channels
	1313 Overlapping Corner Guards/U-Channels
	81 Vertical Rod Protector
	83 Vert ical Rod Protector
	85 Vertical Rod Protector
	87 Vertical Rod Protector
	90 Commercial Kick Plates
	91 Commercial Kick Plates
	92 Commercial Kick Plates
	93 Commercial Kick Plates

	 Latch Protectors
	9211 Latch Protector
	9211 EBF Latch Protector
	AL 211 Latch Protector
	AL 206 Latch Protector
	AL 210 Latch Protector
	AL 107 Latch Protector
	BLP 110 Latch Protector
	BLP 207 Latch Protector
	BLP 210 Latch Protector
	CLP 106 Latch Protector
	CLP 110 Latch Protector
	CLP 208 Latch Protector
	ELP 208 EBF Latch Protector
	ELP 208P Latch Protector
	ELP 208P EBF Latch Protector
	FLP 111 Latch Protector
	FLP 211 Latch Protector
	GLP 307 LHR Latch Protector
	GLP 307 RHR GLP 307 LHR 
	ILP 206 In-Swinging Latch Protector
	ILP 212 In-Swinging Latch Protector
	KLP 110 LHR Electronic Lock Latch Protector
	KLP 110 RHR Electronic Lock Latch Protector
	LELP 208 EBF Latch Protector
	LP 207 EBF Latch Protector
	LP 211 Latch Protector
	LP 211 EBF Latch Protector
	LP 2878 Latch Protector
	LP 307 Latch Protector
	LP 312 Latch Protector
	LP 312 EBF Latch Protector
	LP 312P Latch Protector
	LP 312P EBF Latch Protector
	MELP 210 Latch Protector
	MELP 210 EBF Latch Protector
	MLP 111 Latch Protector
	MLP 111 EBF Latch Protector
	MLP 211 Latch Protector
	NELP 207 Latch Protector
	NLP 106 Latch Protector
	NLP 110 Latch Protector
	NLP 206 Latch Protector 
	NLP 210 Latch Protector
	OLP 2650 Latch Protector for Center Hung Doors
	OLP 2651 Latch Protector for Center Hung Doors
	OSLP 107 Latch Protector
	OSLP 110 Latch Protector
	OSLP 207 Latch Protector
	OSLP 207 EBF Latch Protector
	OSLP 210 Latch Protector
	OSLP 210 EBF Latch Protector
	PLP 111 Latch Protector
	PLP 111 EBF Latch Protector
	PLP 211 Latch Protector
	PLP 211 EBF Latch Protector
	PMLP 111 Latch Protector
	PMLP 111 EBF Latch Protector
	PMLP 211 Latch Protector
	PMLP 211 EBF Latch Protector
	PULP 111 Latch Protector
	PULP 211 Latch Protector
	SLP 106 Latch Protector
	SLP 106 EBF Latch Protector
	SLP 206 Latch Protector
	SLP 206 EBF Latch Protector
	ULP 111 Latch Protector
	ULP 211 Latch Protector
	WSLP 104 Latch Protector
	WSLP 204 Latch Protector

	Pivots
	BP 1 34 LHR Bottom Pivot
	BP 1 34 RHR Bottom Pivot
	BP 2 34 Bottom Pivot
	HRP 1 Hinge Reinforcing Pivot
	HRP 2 Hinge Reinforcing Pivot
	IP 34 LHR Intermediate Pivot
	IP 34 RHR Intermediate Pivot
	TP 34 Top Pivot

	Pulls, Push & Pull Plates
	10 Door Pulls
	11 Door Pulls
	1150 Door Pulls
	1152 Door Pulls
	1156 Door Pulls
	1157 Door Pulls
	1158 Door Pulls
	1159 Door Pulls
	1160 Door Pulls
	120 Cabinet Knob
	121 Cabinet Knob
	14 Door Pulls
	15 Door Pulls
	16 Door Pulls
	17 Door Pulls
	1846  Flush Cup Pull
	1848 Flush Cup Pull
	1850 Flush Cup Pull
	1858 Flush Cup Pull
	F1860 lush Cup Pull
	1866 Push/Pull Plate 
	1874 Cylinder Pull
	1875 Cylinder Pull
	19 Door Pulls
	20 Door Pulls
	21 Door Pulls
	22 Door Pulls
	30 Door Pulls
	31 Door Pulls
	32 Door Pulls
	35 Door Pulls
	36 Door Pulls
	37 Door Pulls
	42 Door Pulls
	44 Door Pulls
	46 Foot Pull
	54 Cabinet Knob
	56 Cabinet Knob
	58 Cabinet Knob
	59 Back Plate
	62 Wire Pull
	64 Wire Pull
	66 Wire Pull
	70 Push Plate
	7010 Pull Plate
	7011 PullPlate
	7014 Pull Plate
	7015 Pull Plate
	7016 Pull Plate
	7017 Pull Plate
	7030 Pull Plate
	7031 Pull Plate
	71 Push Plate
	7110 Pull Plate
	7111 Pull Plate
	7114 Pull Plate
	7115 Pull Plate
	7116 Pull Plate
	7117  Pull Plate
	7119 Pull Plate
	7120 Pull Plate
	7130 Pull Plate
	7138 Pull Plate
	72 Push Plate
	73 Push Plate
	CFC70 Push Plate
	CFC7015 Pull Plate
	CFC71 Push Plate
	CFC7115 Pull Plate
	CFD70  Push Plate
	CFD7015 Pull Plate
	CFD71 Push Plate
	CFK70 Push Plate
	CFK7015 Pull Plate
	CFK71 Push Plate
	CFL70 Push Plate
	CFL7015  Pull Plate 
	CFL71 Push Plate
	VDP 111 Vandal Pull

	Stops, Holders & Bumpers
	1400 Wrought Wall Bumpers
	1401 Wrought Wall Bumpers
	1402 Wrought Wall Bumpers
	1406 Wrought Wall Bumpers
	1407 Wrought Wall Bumpers
	1410 Cast Wall Bumpers
	1411 Cast Wall Bumpers
	1412 Cast Wall Bumpers 
	1413 Cast Wall Bumpers
	1420 Applied Stop
	1430 Door Stop
	1432 Door Stop
	1440 Floor Stop
	1442 Floor Stop
	1443 Floor Stop
	1444 Floor Stop
	1445 Floor Stop
	1446 Riser
	1447 Floor Stop
	1448 Door Stop
	1449 Door Stop 
	1450 Door Stop
	1452 Door Stop
	1453 Door Stop
	1455 Door Holders
	1457 Plunger Stop
	1462 Detention Stop
	1463 Detention Stop
	1464 Door Holders
	1465 Door Holders
	1466 Door Holders
	1467 Door Holders
	1468 Replacement Rubber
	1469 Replacement Rubber
	1471 Door Stop
	1473 Door Stop
	1475 Door Stop
	1477 Door Stop
	1480 Angle Stop
	1486 Roller Bumper
	1487 Roller Bumper
	1488 Roller Bumper
	1490 Door Stop
	1492 Door Stop
	1500 Door Stop
	1501 Rigid Base Stop
	1502 Hinge Stop
	1503 Hinge Stop
	1504 Rigid Base Stop
	1505 Hinge Stop
	1506 Rigid Base Stop
	1508 Spring Base Stop
	1509 Spring Base Stop
	1510 Spring Base Stop
	1512 Commercial Hinge Pin Stop
	1514 Door Holders
	1520 Door Holders
	1521 Door Holders
	1522 Door Holders
	1523 Door Holders
	1608 Door Silencers
	1609 Door Silencers
	1610 Door Silencers
	DL 12 Double Lip Strike
	FL 212W6 12" Security Strike

	 Strike Plates
	2 SDS Security Strike 
	2 SDS 8 8" Security Strike
	2 SS 4-7/8" Security Strike
	9450 Adjustable Strike
	9454 Adjustable Strike
	A 2 SDS Adjustable Strike
	A 2 SS Adjustable Strike 
	AST 21341 18" Security Strike
	AST 21342 18" Security Strike
	AST 21346 18" Security Strike
	AST 2134M 18" Security Strike
	AST 21381 18" Security Strike
	AST 21382 Security Strike 
	AST 21382 18" Security Strike
	AST 2138M 18" Security Strike
	BFD 2 ANSI Strike
	BS 161 ANSI Strike
	BX 2 SDS Security Strike
	D 9102 Strike Plate
	D 9103 Strike Plate
	D 9104 Strike Plate
	D 9115 Strike Plate
	D 9125 Strike Plate
	D 9175 Strike Plate
	DBS 1478 ANSI Strike
	DBS 2478 ANSI Strike
	DL 11 Double Lip Strike
	DS 234 Replacement Strike
	DST 161 ANSI Strike
	DT 9102 Strike Plate
	DT 9103 Strike Plate
	DT 9104 Strike Plate
	DT 9115 Strike Plate
	DT 9125 Strike Plate
	DT 9175 Strike Plate
	EL 102  2-1/4" x 2" Exended Lip Strike
	EL 103  2-1/4" x 3" Exended Lip Strike
	EL 104  2-1/4" x 4" Exended Lip Strike
	EL 115 2-1/4" x 1-1/2" Exended Lip Strike
	EL 125 2-1/4" x 2-1/2" Exended Lip Strike
	EL 175 2-1/4" x 1-3/4" Exended Lip Strike
	EL 202 2-3/4" x 2" Extended Lip Strike
	EL 203 2-3/4" x 3" Extended Lip Strike
	EL 204 2-3/4" x 4" Extended Lip Strike
	EL 205 2-3/4" x 5" Extended Lip Strike
	EL 225 2 3/4" x 2 1/2" Extended Lip Strike
	EST 102  4-7/8" x 2" Extended Lip ANSI Strike
	EST 103  4-7/8" x 3" Extended Lip ANSI Strike
	EST 104  4-7/8" x 4" Extended Lip ANSI Strike
	EST 115 4-7/8" x 1-1/2" Extended Lip ANSI Strike
	EST 125 4-7/8" x 2-1/2" Extended Lip ANSI Strike
	EST 158 4-7/8" x 1-5/8" Extended Lip ANSI Strike
	EST 175 4-7/8" x 1-3/4" Extended Lip ANSI Strike
	ETS 102  2-3/4" x 2" Extended Lip T-Strike
	ETS 103  2-3/4" x 3" Exteded Lip T-Strike
	ETS 104  2-3/4" x 4" Exteded Lip T-Strike
	ETS 115 2-3/4" x 1-1/2" Extended Lip T-Strike
	ETS 125 2-3/4" x 2-1/2" Exteded Lip T-Strike
	ETS 175 2-3/4" x 1-3/4" Extended Lip T-Strike
	FL 208N 8" Security Strike
	FL 208NM 8" Security Strike
	FL 208W 8" Security Strike
	FL 212N 8" Security Strike
	FL 212N4 8" Security Strike
	FL 212N6 12" Security Strike
	FL 212NM 12" Security Strike
	FL 212W 12" Security Strike
	FL 212W4 12" Security Strike
	MEST 102 Mortise Type Extended Lip Strike
	MEST 103 Mortise Type Extended Lip Strike
	MEST 104 Mortise Type Extended Lip Strike
	MEST 115 Mortise Type Extended Lip Strike
	MEST 125 Mortise Type Extended Lip Strike
	MEST 158 Mortise Type Extended Lip Strike
	MEST 175 Mortise Type Extended Lip Strike
	MST 161 ANSI Strike
	MST 261 ANSI Strike
	SMEST 104 Strike Plate
	SMEST 115 Strike Plate
	SMEST 125 Strike Plate
	SMEST 158 Strike Plate  
	SMEST 175 Strike Plate
	ST 134 ANSI Strike
	ST 144 ANSI Strike
	ST 161 ANSI Strike
	ST 214 Replacement Strike
	ST 214 RC Replacement Strike
	ST 261 ANSI Strike
	TS 100 Thimble Strike
	TS 200 Thimble Strike
	TS 234 Replacement Strike

	Wrap Arounds
	1 CW Wrap Around
	10 FE Edge Guard
	12 2 CW Wrap Around
	12 CW Wrap Around
	14 2 CW Wrap Around
	14 CW Wrap Around
	15 CW Wrap Arounds
	151 CW Wrap Arounds
	151 VF Wrap Arounds
	154 CW Wrap Arounds
	16 CW Wrap Arounds
	17 CW Wrap Arounds
	18 CW Wrap Around
	19 CW Wrap Around
	2 CW Wrap Around
	20 CW Wrap Around
	20 FE Wrap Around
	200 CW Wrap Around
	200C CW Wrap Around
	20B CW Wrap Around
	20C CW Wrap Around
	21 CW Wrap Around
	212CW Wrap Around
	212C CW Wrap Around
	214 CW Wrap Around
	214C CW Wrap Around
	22 CW Wrap Around
	23 CW Wrap Around
	24Wrap Around
	25 CW Wrap Around
	256 CW Wrap Around
	258 CW  Wrap Around
	261 CW Wrap Around
	261 VF Wrap Around
	264 CW Wrap Around
	26AD CW Wrap Around
	26CO CW Wrap Around
	27 CW Wrap Around
	28 CW Wrap Around
	3 CW Wrap Around
	30 CW Wrap Around
	33 CW Wrap Around
	33A 2 CW Wrap Around
	33A CW Wrap Around
	4 2 CW Wrap Around
	4 CW Wrap Around
	4 U 2 CW Wrap Around
	40 CW Wrap Around
	4000 2 CW Wrap Around
	4000 4 CW Wrap Around
	4500 CW Wrap Around
	4550 CW Wrap Around
	481 CW Wrap Around
	481 VF Wrap Around
	484 CW Wrap Around
	486 CW Wrap Around
	5 CW Wrap Around
	5000 CW Wrap Around
	504 CW Wrap Around
	504 FE Edge Guard
	504AD CW Wrap Around
	51 CW Wrap Around
	5100 CW Wrap Around
	514 CW Wrap Around
	518 CW Wrap Around
	55 CW Wrap Around
	55A 2 CW Wrap Around
	55A CW Wrap Around
	5K CW Wrap Around
	6 CW Wrap Around
	61 CW Wrap Around
	7 CW Wrap Around
	70 CW Wrap Around
	71 CW Wrap Around
	75 CW Wrap Around
	8 CW Wrap Around
	80 CW Wrap Around
	81 2 CW Wrap Around
	81  CW Wrap Around
	90 CW Wrap Around
	9 CW Wrap Around
	93KV CW Wrap Around
	942 CW Wrap Around
	942 VF Wrap Around
	943 CW Wrap Around
	943 VF Wrap Around
	946 CW Wrap Around
	95 CW Wrap Around
	9K CW Wrap Around
	E2000 CW Wrap Around


